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Abstract

A k-cycle system of a multigraph G is an ordered pair (V,C) where V is the
vertex set of G and C' is a set of k-cycles, the edges of which partition the edges of
G. A k-cycle system of MK, is known as a A-fold k-cycle system of order v. A k-cycle
system (V, C') of AK, is said to be enclosed (embedded) in a k-cycle system (VUU, P)
of A+ m)Kyy,, if C C Pand u,m > 1 (m =0 and u > 1). We settle the enclosing
problem for A-fold 5-cycle systems when u = 1 or 2. We settle the embedding problem
for A-fold 5-cycle systems except possibly in two cases. Other analogues of this are
considered and consequently settled.
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Chapter 1
Introduction

The goal of this dissertation is to construct 5-cycle systems of a specific family of
graphs using tools from design theory. With that said, we begin with an overview of
the terminology in Section and history in Section that will set the foundation
for the rest of the dissertation. At the end of Section [L1] there will be a brief outline
of the entire dissertation.

1.1 Definitions

A graph G is an ordered pair (V(G), E(G)) where V(G) is a set of vertices and
E(G) is a set of unordered pairs of vertices called edges. A subgraph of a graph G is a
graph H such that V(H) C V(G) and E(H) C E(G). To simplify notation, V and E
will be used instead of V(G) and E(G) respectively when the underlying graph is not
important. Two vertices v and v are adjacent if there is an edge e = {u,v} € E(G);
e is said to join these vertices. A graph with no loops or multiple edges is called a
simple graph. On the other hand, a graph that does have loops or multiple edges is
called a multigraph. When a graph on v vertices has exactly one edge between every
pair of vertices, it is called a complete graph and is denoted K,. The A-fold complete
graph on v vertices, denoted by AK,, is the multigraph in which every edge of K, is
repeated A times (see Figure[1.1). The graph (A+m)K,, — AK, is the graph formed
from (A + m)K,, on the vertex set V U U by removing the edges of the subgraph
MK, on the vertex set V where |V| = v and |U| = u (see Figure [.2)).

Figure 1.1: K5 (left) and 2Kj5 (right)

It is easier to understand the structure of a graph by describing the properties
of the edges and vertices of a graph. An edge {v;,v;} is said to be incident to the
vertices v; and v;. Two edges are incident if they share a common vertex. The



Figure 1.2: A 4K — K5

degree of a vertex vy is the number of edges that are incident with vy and is denoted
dege(vg) or deg(vy) when the underlying graph is not important. A sequence of
vertices (vg,v1,...,v,) such that {v;,v;41} is an edge for each 0 < i < n — 1 in the
graph G is called a trail. A trail where vy = v, is called a closed trail. A trail where
each vertex in the sequence is unique is called a path. Two vertices v; and vy in a
graph are connected if there is a path between v; and v,. If every pair of vertices is
connected then the graph is said to be connected.

At times it will be convenient to talk about the set of integers from 0 to k& — 1.
This notation is given as Z; = {0,1,...,k — 1}. A graph is k-regular if the degree
of each vertex is k. A 2-regular connected graph is called a cycle. A cycle that
contains every vertex in the graph G is called a Hamilton cycle. We will encounter
situations where it will be very useful to talk about the length of a cycle. So a k-cycle
(vo, 1, ..., Ug_1) is the graph on k distinct vertices vg, vy, ..., vx_; and with edge set
E = {{vi,vi;1} | i € Z}, reducing sums modulo k. The graph in Figure is a
7-cycle and a Hamilton cycle.

A decomposition of a graph G is a set of subgraphs that partition the edges of G.
Typically, a graph is decomposed into copies of the same subgraph. This dissertation
will only focus on the decomposition of graphs into cycles. A k-cycle system, k—CS,
of a multigraph G is an ordered pair (V,C) where V is the vertex set of G and C' is
a set of k-cycles, the edges of which partition the edges of G. A k-cycle system of (a
subgraph of) AK,, k~CS(v, \), is known as a (partial) A-fold k-cycle system of order
v. The graph in Figure is a 5-CS of K5 (i.e. a 1-fold 5-cycle system). When
k =3 and A = 1, this structure is also called a Steiner triple system of order v, or an
STS(v). A Steiner triple system is a pair (V, B) where V is a v-set of points and B is
a collection of 3-subsets, called blocks, such that each pair of points of V' is contained
in exactly one block. The graph in Figure is a decomposition of K7 into 3-cycles



Figure 1.3: A 7-cycle (Hamilton cycle) with vertex set {0,1,...,6}

(i.e. a Steiner triple system of order 7). Kirkman showed in [21] that there exists a
Steiner triple system of order v if and only if v =1 or 3 (mod 6).

Figure 1.4: A 5-CS of Kj

A problem that has attracted much interest over the years is to find conditions
which guarantee that a given (partial) k-CS of AK, (V,C) is contained in a k~CS of
(A+m)Kyyy (VUU, P) with C C P. If u,m = 0 then (V,C) is said to be completed
in (VUU,P) = (V,P), if m =0 then (V,C) is said to be embedded, if u = 0 then
(V,C) is said to be immersed, and if u,m > 1 then (V,C) is said to be enclosed in
(VU U, P). This dissertation will focus exclusively on enclosings and embeddings.
In particular, the focus will be placed on both the existence of enclosings of 5-CSs
and the existence of 5-CSs of (A +m)K,, — AK,. When finding such cycle systems,
since the edges of AK,, have already been placed in the given k-cycles in C| it remains
to find a k-CS of (A +m)K,,, — AK,. Figure shows that a 5-CS of K5 can be
enclosed in a 5-CS of 4Kj.

In order to attack these 5-cycle system problems, we need to construct 5-cycles in
a flexible manner. To this end, Skolem-type sequences are used in a creative way. In
1957, while working on the construction of Steiner triple systems, Skolem published



Figure 1.5: A Steiner triple system on 7 vertices (STS(7))

in [30] a construction that used sequences of integers with special properties. Later,
an equivalent formulation in terms of sequences was made with an improvement on
their construction in [II, [5, 26], 29]. Formally we define a Skolem sequence of order n
as a sequence of integers S = (dy, ..., ds,) such that the following two conditions are
met:

1. For every 8 € {1,...,n} there exist exactly two elements d,,d, € S such that
d, =d, = [, and
2.itd, =d, = with <y, then y — 2 = .

For example, S = (1,1,3,4,5,3,2,4,2,5) is a Skolem sequence of order 5. Note that
S can also be written as the collection of ordered pairs {(z1,y1) = (1,2), (22, y2) =
(7,9), (x3,y3) = (3,6), (z4,y4) = (4,8), (z5,y5) = (5,10)}, the pairs being produced
by the positions in S that contain the same integer; we refer to them as Skolem pairs.

An eztended Skolem sequence S = (dy, . ..,da,41) is defined in the same way as
a Skolem sequence, with the added condition

3. there is exactly one d; € S such that d; = 0 (d; is commonly called the hook).

A hooked Skolem sequence is an extended Skolem sequence where ds,, = 0.
The following existence results below for Skolem sequences and hooked Skolem
sequences will assist us in our construction of 5-cycles.

Theorem 1.1.1. [1] A Skolem sequence of order n exists if and only if n = 0,1
(mod 4).

Theorem 1.1.2. [26] A hooked Skolem sequence of order n exists if and only if
n=2,3 (mod 4).

One way to form cycle systems is to use differences. To explain how this is done,
first let the set of vertices of a graph K, be denoted as Z, = {0,1,...,v — 1}. Let
dy(i,7) = min{|i — j|,v — |i — j|} where {i,j} is an edge in K,. We say that the
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Figure 1.6: A 5—CS of Kj is enclosed in a 5—CS of 4K

edge {1, 7} has difference d,(7, 5). So define D(v) = {1,2,...,|v/2]} to be the set of
all differences of edges in K,. If v is odd then there are v edges of each difference in
D(v). If v is even then there are v edges for each difference except the difference v/2.
There are v/2 edges of difference v/2. Hence the difference v/2 is commonly referred
to as the “half difference.”

Consider the graph K; in Figure [LL5] The 3-cycle ¢ = (co,c1,¢2) = (0,1,3)
contains one edge of each difference 1, 2, and 3. We can then add 1 to each ver-
tex in ¢ to get another 3-cycle that does not contain any of the edges in ¢. This
is no coincidence. The same is true if we add 2, 3, 4, 5, or 6 to ¢ as long as the
sums are reduced modulo v = 7. So {c+j | j € Z;} is a set of 3-cycles that is
a decomposition of K7, i.e. {(co+ j,c1 +J,c2+7) | J € Zz} is a 3-CS of K7 (see
Figure for a visual representation). This approach works well in general for cy-
cles depending on the differences of the edges in the cycle. Since this method is a
basic tool in the dissertation, the following notation will be useful. For any cycle
d = (c1,co,...,¢c.) et d+j=(c1+j,ca+7J,...,¢x + J), reducing the sums modulo
v,andlet C+j={cd+j | € C}

One use of Skolem sequences is to build cyclic Steiner triple systems. A cyclic
Steiner triple system is a Steiner triple system where for each block b € B, b+ 1 € B.
The graph in Figure|1.5|is an example of a cycle Steiner Triple System where {0, 1, 3}
would be the base block. The general construction of cyclic Steiner triple systems
using Skolem sequences is split into two cases depending on the value of v.

Remember that there exists a Steiner triple system if v = 1 or 3 (mod 6). Let



G = Keni1- S0 {1,2,...,3n} is the set of differences in G that represents the edges in
G. We want to partition this set of differences into triples {a, b, ¢} such that a+b = ¢
ora+b+c=0 (mod 6n+1). This is called the first Heffter difference problem. Form
a Skolem or hooked Skolem sequence of order n such that (a,,b,) is the 7" Skolem
pair. Then T'= {(r,a, + n,b, +n) | 1 <r < n} is a partition of {1,2,...,3n} and a
solution to the first Heffter difference problem. Also, these differences can be used to
form a 3-CS of Kei1; {T +7 | j € Zens1}-

Let G = Kgpt3. Then we want to partition {1,2,...,3n + 1} \ {2n + 1} into
triples {a, b, c} such that a +b=cora+b+c=0 (mod 6n + 3). This is called the
second Heffter difference problem. Notice that the difference 2n + 1 is removed so
that the number of differences remaining is divisible by 3. Also, the different 2n + 1
can be used to form a 3-set by itself; (0,2n + 1,4n + 2). Form an extended Skolem
sequence of order n such that (a,,b,) is the r** Skolem pair and the hook is in the n'*
position. Then T' = {(r,a, +n,b.+n) | 1 <r < n} is a solution to the second Heffter
difference problem. So {T'+j | j € Zgn 3} U{(0,2n+1,4n+1)+j | j € Zop1} is a
3-CS of Kgpas.

The remainder of Chapter [1] will discuss the history of the decomposition prob-
lems related to the material presented in Chapters In Chapter 2] the necessary
conditions for the 5—CS enclosing problem will be established. Chapter [2] will also
show that the necessary conditions for the 5-CS enclosing problem are sufficient
when v = 1. Chapter |3| will show that the necessary conditions for the 5-CS en-
closing problem are sufficient when v = 2. Chapters [4] and 5| will tackle the more
general problem by establishing that the necessary conditions for the existence of a
5-CS of (\+m)K,,, — AK, are sufficient when u = 1 and m = 0 respectively except
possibly in two cases in the latter case. Finally, Chapter [6] will look at open questions
related to the work in Chapters and possible future work related to finding 5-CS
of (A+m)K,.,— K, and enclosings of 5-CSs. All other definitions not mentioned can
be found in either “Design Theory” by Lindner and Rodger [22] or in “Introduction
to graph theory” by West [31].

1.2 History

In 1981, Alspach conjectured that there exists a decomposition of K, into ¢ cycles

of specified lengths my,mso, ..., m; as long as v is odd, 3 < m; < v, and my + mg +
<+ my =v(v—1)/2 (see [2]). He also conjectured that there exists a decomposition
of K, into a 1-regular graph, say I, and t cycles of specified lengths m, mo, ..., my

as long as v is even, 3 < m; < v, and my +mg + -+ +my = v(v — 1)/2 — v/2.
These conjectures are commonly referred to as the Alspach Conjecture. We shall
focus our discussion on the former conjecture. Lately, there have been many papers
published that aimed to solve this conjecture; most notably by Bryant and Horsley
in the following result.

Theorem 1.2.1. [9] There is an integer N such that for each integer v > N, there
exists a decomposition of K, into t cycles of lengths my,ma, ..., my if and only if

6



1. v is odd,
2.3<my,ma,...,my < v, and
3. my+mo+---+my=v(v—1)/2.

For the remainder of this dissertation we will focus on decompositions with cycles
of the same length. Hoffman, Lindner, and Rodger were able to show that a K, can
be decomposed into m-cycles when m < v < 3m and v is odd. By using this result
and other methods, Alspach and Gavlas [3] were able to decompose K, — I or K, into
m-cycles for 3 < m < v when m and v are both even or both odd respectively. Later,
Sajna [28] was able to decompose K, — I or K, into m-cycles for 3 < m < v when
m is odd and v even or m is even and v is odd respectively. This shows that there
exists an m—CS of K, for all values of m and v that satisfy the obvious necessary
and sufficient conditions.

The next direction for this problem is to establish there exists a k-CS of MK, for
A > 1. For a k-CS of AK,, define v to be (k, \)-admissible if the degree of each vertex
is even, the number of edges in \K, is divisible by k, and v = 1 or v > k. Through
the efforts of Bermond, Hanani, Huang, Rosa, and Sotteau in [7, 8, 17, 18], 27], it
was shown that for 3 < k < 14 and k = 16, there exists a k—CS of AK, if and only
if v is (A, k)-admissible. It was not until recently that Bryant, Horsley, Maenhaut,
and Smith in [I0] were able to show there exists a k-CS of AK,, if and only if v is
(A, k)-admissible. Of particular interest to this dissertation is the case when k = 5.

Theorem 1.2.2. [10] A 5-CS of AK, exists if and only if

(a) M(v—1)=0 (mod 5),
(b) AM(v—1)=0 (mod 2), and
(c) eitherv=1 orv > 5.

Since the immersing problem is exactly the same as showing there exists a k—CS of
MK, this problem has already been completely solved by Bryant, Horsley, Maenhaut,
and Smith in [TI0]. Since this paper focuses solely on building 5-CS, it will cause no
confusion to refer to a (), 5)-admissible integer as simply being A-admissible. Also
A is said to be v-admissible if the conditions in Theorem [I.2.2] are satisfied by AK,.
Some consequences of Theorem [1.2.2] are summarized in Table [1.1]

A Possible values of v
0 (mod 10) v ¢ {2,3,4}

1,3,7,9 (mod 10) v=1,5 (mod 10)
2,4,6,8 (mod 10) v=0,1 (mod 5)

5 (mod 10) v=1 (mod 2),v #3

Table 1.1: Necessary and sufficient conditions for the existence of a 5-CS(v, \)

Doyen and Wilson were able to prove in 1973 the following result for embeddings

7



on Steiner triple systems (i.e. embedding a 3—CS in another 3—-CS); commonly called
the Doyen-Wilson theorem.

Theorem 1.2.3. [16] A Steiner triple system of order u can be embedded in a Steiner
triple system of order v > w if and only if v >2u+1 and v =1 or 3 (mod 6).

Rodger and Bryant were able to extend the Doyen-Wilson theorem to hold for all odd
k-cycle lengths when k& < 9.

Theorem 1.2.4. [12,[13] A k-CS of K,, can be embedded in a k-CS of K4, if and
only if the following conditions hold:

o [fk=>5thenv+u=1orb (mod10) and u > v/2+ 1.
o [fk=Tthenv+u=1or7 (mod14) and u >v/3 + 1.
o Ifk=9 thenv+u=1o0r9 (mod 18) and u > v/4 + 1.

Later, Bryant, Rodger, and Spicer were able to extend these results to embedding
k-cycle systems when k < 14 in [14].

Some work has been seen in generalizing these results to establish the existence
of a k-CS of K,., — K,. Mendelsohn and Rosa were able to show the necessary
conditions were sufficient for the existence of a 3-cycle system of K,,, — K,. Bryant,
Hoffman and Rodger were able to establish the necessary and sufficient conditions for
the existence of a 5-cycle system of K, , — K,.

Theorem 1.2.5. [23] There ezists a 3-cycle system of Ky, — K, if and only if
u>v+1 and

1. v+u,v=1 or3 (mod 6), or
2. v+u=v=5 (mod 6).

Theorem 1.2.6. [II] There ezists a 5-cycle system of Ky, — K, if and only if
u>v/2+1 and

1. v+u,v=1 or5 (mod 10), or
2. v+u=v=3 (mod 10), or
3. v4+u,v="To0r9 (mod 10).

Again in [14], Bryant, Rodger, and Spicer were able to show there exists a k-cycle
system of K,,, — K, when k =4,6,7,8,10,12, and 14.

Many papers have investigated the A-fold 3-CS enclosing problem (see for ex-
ample [15] 19 20] 25]). The difficulty of this problem is clear since as yet there is no
complete solution to this problem. Newman and Rodger [24] completely solved the
problem of enclosing a A-fold 4-CS of order v into a (A + m)-fold 4-CS of order v+ u
for all w,m > 1. Typically, problems involving odd cycles have many more difficulties
than related even cycle problems, and that is certainly the case here. The techniques
used in the subsequent chapters for the 5-CS enclosing problem are very different to
those used in [24].



Chapter 2
Enclosings when u =1

2.1 Introduction

In this chapter, we study the A-fold 5—CS enclosing problem, settling the fol-
lowing conjecture in the case where u = 1 (see Theorem [2.3.2)). The joint work in
this chapter has been published in [4]. As in Lemma [2.1.2] all 5 conditions in this
conjecture are necessary, i.e. the difficulty when studying Conjecture lies in
proving sufficiency.

Conjecture 2.1.1. Let u > 1. FEvery 5-CS of MK, can be enclosed in a 5-CS of
(A 4+ m)Ky1y if and only if

(a) A+ m)u+m(v—1)=0 (mod 2),

) ) A+m)+m(5) +ovu(A+m) =0 (mod 5),

(c) if u=1, then m(v—1) > 3(A+m), and

(d) ifu=2, thenm(3) —2(A+m)— (v—1)(A+m)/2>0.

(e) if u >3, then [vu(A+m)/4] +2¢ < mv(v —1)/2 + (A +m)u(u — 1)/2 where
e=0 or1ifvu(A+m)=0 or2 (mod 4) respectively.

Lemma [2.1.2] establishes the necessary conditions in Conjecture [2.1.1]

Lemma 2.1.2. Suppose there exists a 5-CS of AK,. If this can be enclosed in a
5-CS of (A +m)Kyiy, then:

(a) A+ m)u+m(v—1)=0 (mod 2),

b) ) A+m)+m(5) +ovu(A+m) =0 (mod 5),

(¢c) if u=1, then m(v —1) > 3(A+m),

(d) if u=2, then m(}) —2(A+m) — (v—1)(A+m)/2 >0, and

(e) if u> 3, then [vu(A +m)/4] + 2¢ < mv(v —1)/2 + (A +m)u(u — 1)/2 where

e=0orl ifvu(A+m)=0 or2 (mod 4) respectively.

Proof. Suppose there exists a 5-CS (V, () of AK,, that can be enclosed in a 5-CS
(VUU,Cy) of (A+m)K,,. It is clear that each vertex in each of (A + m)K,, and
AK, has even degree in order for the 5-CSs of (A + m)K,,, and AK, to exist. So
(A+m)(v+u—1) and AM(v — 1) are both even, proving (a). Since there exists a
5-CS of (A + m)K,, and a 5—CS of AK,,, the number of edges of each graph must
be divisible by 5. Thus (A + m)u(u — 1)/2 + (A + m)v(v — 1)/2 + (A + m)uv and
Av(v — 1)/2 are divisible by 5. So

()\+m)<;> + (A+m)(;> + ()\+m)uv—)\<;> = (A+m)<z> +m<;> +vu(X+m)
=0 (mod 5).



Therefore condition (b) holds.

Suppose u = 1 and let U = {oo}. There must be A + m edges connecting each
vertex in V' to 0o, so the degree of 0o is (A+m)v. Each 5-cycle in Cy containing oo uses
two of these edges, so the number of 5-cycles containing oo is v(A + m)/2. Because
mK, has m(g) edges, and since any 5-cycle containing oo uses 3 edges from this
graph, it follows that the number of such 5-cycles in Cy must be at most mv(v—1)/6,
so v(A+m)/2 < mwv(v —1)/6. Thus condition (c) holds.

Suppose u = 2 and let U = {001, 002}. An edge is pure if it joins two vertices in
V or if it joins two vertices in U; otherwise it is said to be mized. Each of the A +m
edges joining 0o to 0oy must be in a 5-cycle in (5 that contains exactly 2 pure edges
in mK, and exactly 2 mixed edges. There are 2v(A+m)—2(A+m) =2(v—1)(A+m)
remaining mixed edges. Furthermore, the other 5-cycles in Cy which contain at least
one vertex in U must exhaust these remaining edges. Each 5-cycle in (5 can use at
most 4 of the mixed edges, and so each 5-cycle of this type uses at least one edge in
mi,. Thus it must be that

20 =1)(A+m) v
1 :m(z

0§m<g>—2(/\+m)— )—2(/\+m)—%(v—1)(/\—|—m).
Therefore condition (d) holds.

Suppose u > 3. Every 5-cycle in Cy that contains a mixed edge must contain at
least one pure edge, and at most 4 mixed edges. So there are at least [vu(\ +m)/4]
5-cycles in Cy containing mixed edges. Furthermore, if vu(A +m) =2 (mod 4) then
at least one such 5-cycle must contain 2 mixed and 3 pure edges. (Note that since
each 5-cycle contains 0, 2, or 4 mixed edges it follows that vu(\ +m) is even.) Thus,
there must be at least [vu(A+m)/4]+2¢ pure edges in 5-cycles containing at least one
vertex in U where € € {0,1}. So [vu(A+m)/4]+2e < mv(v—1)/24+(A+m)u(u—1)/2
and condition (e) holds. O

Notice that if © = 1 and A = 0 then the enclosing problem is equivalent to the
existence of a 5-CS of mK,1, and Conditions Lemma [2.1.2fa-c) imply Conditions
Theorem [1.2.2(a-c) with A replaced by m and v by v + 1. So this case is already
solved.

Section addresses the cases when v = 10k + ¢ for ¢ € Zio and m is small.
We take the results from Section and use them to prove our main result of this
chapter, Theorem [2.3.2] in Section [2.3]

2.2 The small cases when v =1

We now create the tools necessary to solve the problem of enclosing a A-fold
5-CS of order v into a (A + m)-fold 5-CS of order v + u for all m > 0 and u = 1.
For the remainder of this chapter, let v = 1 with U = {co} being the vertex set of
V<Kv+u) \ V<Kv)
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Recall that for any cycle ¢ = (¢y,...,¢,) with entries in Z,, we define ¢ + j =
(1 +7,...,¢s+7), reducing the sums modulo v, and define C'+j = {c+j|ce C}.
For any D C {1,...,|v/2]}, let G,(D) be the graph with vertex set Z, and edge set
{{i,7} | du(i,j) € D}. Let D(v) ={1,...,|v/2]}.

Since we consider multigraphs in this dissertation, we need to introduce the
multiset D, defined to contain ¢ copies of each element in D; then G,(D(v),) contains
¢ copies of each edge with difference in D(v). When v and ¢ are both even, it is useful
to let D(v); be formed from D(v), by removing ¢/2 copies of the difference v/2. This
is very important notation because then the edge set of (K, = G,(D(v);) can usefully
be defined as

E(K,) = {{0,d} +j | d € D(v);, ] € Z,,}

since each occurrence of v/2 € D(v); gives rise to two copies of the edge {z,x +v/2}
in F(Gy(D(v);)) (namely when j = x and when d = x + v/2). Another multiset
convention we use is that for any positive integer t, tD is the multiset containing ¢
copies of each element of D.

The following is a critical result, being used hand in hand with the observation
that there exists a 5-CS of G,,({v/5}) and of G,({2v/5}) when v =0 (mod 5), since
each component is a 5-cycle. So throughout this dissertation, when v = 0 (mod 5) let
(Z,,11), (Z,,T3) and (Z,,T'3) be a 5-CS of G,,({v/5}), G,({2v/5}), and G, ({1, 2, 3})
respectively.

Lemma 2.2.1. If 5 divides v, then there exists a 5-CS of G,({1,2,3}).

Proof. (Z,,{(0,1,4,5,2)+5j,(3,4,6,8,5)+57, (2,3,6,7,4)+5] | j € Zy5}) isa 5 CS
of G,({1,2,3}) since for each d € {1,2,3}, the edges of differences d in the cycles
(0,1,4,5,2), (3,4,6,8,5), and (2,3,6,7,4) are of the form {x,z + d} where each x is
distinct modulo 5. O

The next lemma points to our main approach to proving Theorem [2.3.2] showing
that the number of 5-cycles to be defined on the original v vertices during the enclosing
is divisible by v. The parameter a will play a critical role throughout the rest of the
dissertation.

Lemma 2.2.2. Suppose there exists a 5-CS (V UU, B) of (A+m)K,+1 — MK, where
U = {oo}. Then the number of edges in 5-cycles avoiding the vertex oo is av =
(m(v—1)/2 =3(A+m)/2)v.

Proof. There are mv(v —1)/2 edges in mK,, 3v(A +m)/2 of which occur in 5-cycles
in B, that contain the vertex co. So

-1 -1
mv(v ) 3v(A+m) _ mv—1)  3A+m) o — o 2.1)
2 2 2 2
is the number of edges in 5-cycles in B with all vertices in V. [
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An integer z is said to be a(v, m)-admissible if there exists an integer A for which
v is A-admissible and for which Lemma [2.1.2{c) is satisfied by m, v and X such that
a=m(v—1)/2—=3(A+m)/2 = z. (During the enclosing process, we usually fix v
and m to consider all possible values of A\. Each such value of A has an associated
value of o, and the set of all such « values are the a(v, m)-admissible integers.) The
next lemma will be used when constructing the 5-cycles in the enclosing that contain
the vertex oco; each such 5-cycle uses exactly 3 edges joining vertices in mK,.

Lemma 2.2.3. Suppose that the Conditions Lemma [2.1.2|(a-c) are satisfied and that
there exists a 5-CS of AK,. Then if v is odd, or if v is even and m is even, 3 divides
m(v—1)/2 —«. If v is even and m is odd then 3 divides m(v —1)/2 — a — 3/2.

Proof. If v is odd then by Lemma[2.1.2(a), A 4+ m is even. If v is even then \ is even
by Theorem [1.2.2(b) (since there exists a 5-CS of AK,). Thus if v is odd or if v is
even and m is even, then 3 divides m(v — 1)/2 — . Now suppose v is even and m
is odd. Then m(v —1)/2 —a —3/2 = 3(A+m — 1)/2 is clearly divisible by 3, and
otherwise m(v — 1)/2 — a = 3(A + m)/2 is divisible by 3. O

The following result will be useful to refer to throughout the subsequent con-
structions. Note that it implies that all a(v, m)-admissible integers are non-negative.

Lemma 2.2.4. Suppose uw = 1. Condition (c) Lemma is equivalent to o > 0.
Proof. Clearly m(v—1) > 3(A+m) if and only if m(v—1)/2—-3(A+m)/2>0. O
The following lemma is constantly used in subsequent constructions.

Lemma 2.2.5. If 0 < dy < dy < d3 < v/2, dy < d3, and dy < v/2 then ¢ =
(dy,0,ds,ds + d3, 00;) is a 5-cycle in K, with vertex set Z, U {ocog, 001, ..., 00u_1}-

Proof. The 5 vertices in ¢ are clearly distinct. O

For all positive integers v and m, let A\pax(v,m) and Apin(v, m) be the largest
and smallest integers for A respectively satisfying Conditions (a-c) in Lemma
with v = 1.

It is probably no surprise that many larger enclosings can be found by combining
two smaller enclosings. This observation is the basis of the inductive proof of Theo-
rem [2.3.2] So now we focus on finding enclosings that cannot be found using this ap-
proach. This involves the cases where m = 1, and where A € {A\pax(v, m), Amin(v, m)}
for some small values of m.

Lemma 2.2.6. Let v = 10k and assume conditions (a-c) of Lemma2.1.2| are satisfied.
Ifm =1, orifm € {2,3} and X\ = Apax(v,m), then any 5-CS of AK,, can be enclosed
in a 5-CS of (A +m)K;1.
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Proof. Let (V = Zjor, A) be a 5-CS of AK, and let U = {oc}. Since (V, A) exists, A
is even by Lemma[2.1.2(a).

First, note that there are mv(v—1)/2 edges in mK,, 3v(A+m)/2 of which must be
placed in 5-cycles that contain the vertex co. So we define av as in Equation (2.1]) of
Lemma[2.2.2to be the number of edges we must place in 5-cycles contained completely
in mK,. Since this is divisible by v, our plan is to create 5-cycles in mK, using all
the edges of « specially chosen differences. Note that o > 0 by Lemma [2.2.4

Suppose m = 1. Then mK, = K, contains edges of each difference in D(v) =
{1,...,5k}. To explicitly describe the 5-cycles containing all the edges of a differences
(yet to be chosen), we make use of Skolem and hooked Skolem sequences.

Let P' = {(«},vy}) | 1 <i < k—1,y; > z}} be the collection of pairs from a Skolem
sequence or hooked Skolem sequence of order k — 1 from the set {1,2,...,2k — 2} or
{1,2,...,2k—1}ifk—1=0or1 (mod 4) or k—1 =2 or 3 (mod 4) respectively (see
Theorems|l.1.1}and [1.1.2)). So each element in {1,2,...,2k—2} or {1,2,...,2k—1}\
{2k —2} occurs in exactly one element of P’. If k—1=0or 1 (mod 4) then name the
Skolem pairs so that (z}_,,y,_,) contains 2k—3. If k—1 = 2 or 3 (mod 4) then name
the hooked Skolem pairs so that z},_; = 1. Now define P = {(z; = 2 +3,y; = ¢, +3) |
(«},y.) € P'} when using Skolem sequences and P = {(z; = 2} + 2,y; = y, + 2) |
(«},y.) € P’} when using hooked Skolem sequences; notice that 2k € {xg_1,yr_1}
and x_1 = 3 respectively. Then form the set of 5-cycles

B = {(O,xi,xi—yi,Sk,5k+1+i)—|—j 11<i< L%J j € o, (z1, ) eP}UEa

where computations are done modulo v, and where

¢

%] ifa=0 (mod}5),

Iy ifa=1 (mod5),
E,=ThWUly ifa=2 (mod}5), (2.2)

I's ifa=3 (mod ?5),

(T2UTl3 ifa=4 (mod 5)

Table lists the differences of edges that occur in cycles in B\ E, when « is as big
as possible (from Lemma we see this happens when A is as small as possible and
not 0, namely when A = 2, and so when o = 5k — 5).

‘ Edges | Differences when k — 1 =0,1 (mod 4) | Differences when k — 1 = 2,3 (mod 4) |
{0, b {mi, o — ys ) 4,5,...,2k+1 3.4,...,2k—1,2k+1
{z; — y;, 3k} 3k+1,3k+2,...,4k—1 3k+1,3k+2,...,4k — 1
(3k,5k + 11 i} % +2.2k+3,....3k 2% +2,2k+3,....3k
5k + 14,0} Ak 4k +1,.. 5k—2 Ak Ak 41,5k —2

Table 2.1: Differences of edges in B\ E, when « is as large as possible

Notice that when « is as large as possible:
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(i) if k—1=0o0r 1 (mod 4), then the 5-cycle in B\ E, defined when i = |«a/5| =
k — 1 contains edges of differences 2k = v/5 (since 2k € {xp_1,yx_1}) and
4k = 2v/5, and

(ii) if k—1=2or 3 (mod 4), then the 5-cycle in B\ E,, defined when i = |a/5] =
k — 1 contains edges of differences 3 (since x;_1 = 3) and 4k = 2v/5.

Fortunately, when « is as large as possible, « = 0 (mod 5) since A = 2, so F, = &.
If « is smaller, then (i)-(ii) from above shows that the edges of differences 1,2,3,v/5
and 2v/5 do not occur in 5-cycles in B\ E, (since then i < k — 1), hence such edges
are available to form the 5-cycles in FE,.

There are (m(v—1)/2—a)v = (m(v—1)/2—a—3/2)v+3v/2 edges remaining in
mkK, which do not occur in a 5-cycle in B. These remaining edges can be partitioned
by the corresponding remaining differences as follows. Using Lemma [2.2.3| we know
that m(v—1)/2—a—3/2 =0 (mod 3), so we can form a partition Py of the remaining
differences into one set {d,v/2} of size 2 with d # v/2, and (m(v—1)/2—a —3/2)/3
sets of size 3. (Note that there are 3v/2 edges with differences in {d,v/2}). Define

C :{(dl,o,dg,dg + dg, OO) + 4 | {dl,dg,dg} € Py with d; <dy < d3,j € ZU} (23)
u{(a.0,5.5+d0c) +j1{5.d} € BjeZyp}.
22 2
Since m = 1 the differences are distinct, so by Lemma the elements of C' are
indeed 5-cycles. Then (Zor, U {oo}, AUBUC) is a 5-CS(v + 1, A + 1) that encloses
the given 5-CS (Z,, A).

Now suppose m = 2 and A = Apax(v, m). By Lemma [2.1.2(c), A < m(v—1)/3 —
m = m(v — 4)/3. Because A must also be even, \yax(v,2) = 2| (v —4)/3]. So since
m =2 and A\ = A\uax(v, 2), it follows that

a=v—4-3|(v—=4)/3] =0,1, or 2if k=1,2, or 0 (mod 3) respectively.

So define B = @, I'y or 'y UTy if & = 1,2, or 0 (mod 3) respectively, and let
B =a,{v/5}, or {v/5,2v/5} when a = 0,1, or 2 respectively. Using Lemma [2.2.3| we
know that |D(v)5\ 8] =0 (mod 3), so we can form a partition Py of the remaining
differences of D(v)5 \ B into sets of size 3. Then define

C = {(dy,0,ds,do + ds,00) + j | {dv,do,ds} € Py with dy < ds < d3,7 € Z,}. (2.4)

By Lemma the elements of C' are indeed 5-cycles. Therefore, (Zior, U {0}, AU
BUCQ)is a5-CS(v+ 1, A +2) with A = Apax(v, 2).

Finally, suppose m = 3 and A = A\pax(v,3) = v — 4. It follows that o = 0 for all
k. So we define B = @. Using Lemma [2.2.3 we know that 3(v —1)/2 —a —3/2 =0
(mod 3), so we can form a partition Py of D(v)5 U D(v) into one set {d,v/2} of size
2 with d # v/2, and (3(v —1)/2 — a — 3/2)/3 sets (not multisets; this is easy to
do) of size 3. Define C' as in Equation (2.3). By Lemma the elements of C are
indeed 5-cycles. Therefore, (Ziogr U {o0}, AU BUC) is a 5-CS(v + 1, A + 3) with
A = Anax(v, 3) that encloses the given 5-CS (Z,, A). O
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The proof of the next three results follows that of Lemma [2.2.6] closely but are
sufficiently different and important that they are described in detail.

Lemma 2.2.7. Let v = 10k + 5 and assume conditions (a-c) of Lemma are
satisfied. If m =1 or if m € {2,3} and A\ = Apax(v,m), then any 5-CS of \K,, can
be enclosed in a 5-CS of (A +m)K,41.

Proof. Let (V = Zyokts, A) be a 5-CS of AK, and let U = {oo}. Since (V, A) exists,
A+ m is even by Lemma [2.1.2)(a).

By Lemma the number of edges we must place in 5-cycles contained com-
pletely in mK, is av as defined by Equation . Since this is divisible by v, our plan
is again to create 5-cycles in m K, using all the edges of a specially chosen differences.
By Lemma [2.2.4, « > 0.

Suppose m = 1. Then mK, = K, contains edges of each difference in D(v) =
{1,...,5k+2}. Asin Lemma we will use Skolem and hooked Skolem sequences
to explicitly describe the 5-cycles containing all the edges of « differences (yet to be
chosen).

We begin with the case where k > 3. Let P' = {(a},y}) |1 <i <k —2,y. > 2}
be the collection of pairs from a Skolem sequence or hooked Skolem sequence of order
k — 2 from the set {1,2,...,2k —4} or {1,2,...,2k =3} if k—2=0or 1 (mod 4)
or k—2=2or 3 (mod 4) respectively (this exists by Theorems|1.1.1{and [1.1.2]since
k > 3). So each element in {1,2,...,2k—4} or {1,2,...,2k —3} \ {2k —4} occurs in
exactly one element of P’. Now define P = {(x; = 2+ 3,y; = v, + 3) | («},y}) € P'}.
Then with

0,2, x; —yi, 4k + 2,7k +3 —1i) if 1 <i < |a/5] —1,
c; = § (0,2k,6k + 1,8k + 3,5k + 2) ifi =|a/5] and k —2=0,1 (mod 4), and
0,2k — 1,6k, 8k + 2,5k + 1) ifi =|a/5] and k —2=2,3 (mod 4),

we form the set of 5-cycles B = {¢;+j|1<i<|a/5|,j€Z,} UE, where the
computations are done modulo v, k£ > 3, and where E, is defined as in Equation ([2.2]).
Table lists the differences of edges that occur in cycles in B\ E, if « is as big
as possible (from Lemma this happens when A\ is as small as possible, namely
when A =1 and so @ = 5k — 1). Fortunately, the edges of differences 1,2, 3,v/5 and

‘ Edges | Differences when k —2 = 0,1 (mod 4) | Differences when k —2 = 2,3 (mod 4) |
{0, 2}, {ms, v — yi} 4,5,...,2k—1 4,5,...,2k — 2,2k
{x; — v, 4k + 2} Ak + 3,4k +4,...,5k 4k + 3,4k +4,...,5k
{4k + 2,7k + 3 — i} % + 3,2k +4,...,3k 2% + 3,2k +4,...,3k
{7k +3—14,0} 3%k + 3,3k +4,...,4k 3%+ 3,3k +4,...,4k
¢ ifi=|a/5] 2k,2k + 2,3k + 1,4k + 1,5k + 2 2k — 1,2k 42,3k + 1,4k + 1,5k + 1

Table 2.2: Differences of edges in B\ E, when « is as large as possible
2v/5 do not occur in 5-cycles in B\ E,, hence are available to form the 5-cycles in
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E,.

By Lemma we know that m(v —1)/2 — a = 0 (mod 3), and so the edges
not occurring in a 5-cycle in B can be partitioned by the m(v — 1)/2 — a remaining
differences. Form a partition Py of these differences into ((v — 1)/2 — «)/3 sets of
size 3. Define C' as in Equation (2.4). Notice that by Lemma the edges in
{{d;,0},{0,ds},{ds,ds + d2}} induce a 3-path in K,. So the elements of C' are all
5-cycles. Then, (Ziopys5 U {0}, AUBUC) is a 5-CS(v+ 1,A + 1) for v = 10k + 5.

It is left to provide the required sets of 5-cycles when m =1 and £ = 0,1 and 2.
Notice that if £ = 0, then A < 0, so this case need not be considered. Suppose k = 1,
so v = 15. Then by Lemma [2.1.2)c) and since A +m = X + 1 is even, it follows that
A€ {1,3}. So (A, a) € {(1,4),(3,1)}. Define

. {(dl,o,dg,dg +d3,00) —|—] | (dl,dg,dg,) = (4,5,7),] S ZU} if A= 1, and
{(dlvovd?nd? —ng,OO) +7J | (d17d27d3> € {(1)2>3>7 (47577)}7j € Zv} if A= 3,

and B = E,. Then (Zi; U{cc},AUBUC) is a 5-CS(16,\ + 1). If k = 2, so
v=25then A< 7,80 A\=1,3,5,or 7 and a = 9,6, 3, or 0 respectively. Define

{(d1,0,d3,d> + d3,00) + j | (d1,d2,d3) = (5,7,9),) € Zy} ifA=1,
o A0, dy - dyy o) 45 | (i) € {(1,2,3), (5,79} € 2} itA=3,

{(d1,0,ds, d + dg, 00) + j | (di, da, ds) € {(4,5,6), (7,8,9), (10,11,12)}, j € Z,} it A= 5, and

((d1,0,dy, d + dg,00) + j | (dy, dods) € {(z, 2+ Lz +2) |2 € {L,4T,10}},j € Z,} ifA=T,

and
5 J{(0,410.22.8) +j | j € Zos} U Es i M€ {13},
| E, if A e {5,7}.

Then (Zgs U {0}, AUBUC) is a 5-CS(26, A + 1).
Now suppose m = 2 and A = Apax(v, m). By Lemma [2.1.2(c), A < m(v —4)/3,
and by Lemma [2.1.2(a), A is even. So Apax(v,2) = 2| (v —4)/3], and

a=v—4-3|(v—4)/3] =0,1, or 2if k=2,0, or 1 (mod 3) respectively.

So define B = &, I'y, or I Uy if £ = 2, 0, or 1 (mod 3) respectively, and let
B =a,{v/5}, or {v/5,2v/5} when o = 0,5, or 10 respectively. Using Lemma [2.2.3]
we know that |D(v)y \ B] =0 (mod 3), we can form a partition Py of D(v)s \ S into
sets of size 3. Then define C' as in Equation , again noting that the elements of C'
are 5-cycles by Lemma [2.2.5] Therefore, (Z,U{co}, AUBUC) is a 5-CS(v+1,A+2)
with A = A\pax(v, 2).

Finally, suppose m = 3 and A = A\yax(v,3) = v — 4. It follows that o = 0 for all
k. So we define B = @. Since 3(v — 1)/2 — o =0 (mod 3) by Lemma [2.2.3 form a
partition Py of D(v); into (3(v —1)/2 — «)/3 sets of size 3 (again it is easy to ensure
that no element of P contains a difference three times). Define C' as in Equation (2.4).
Then elements of C are all 5-cycles by Lemma [2.2.5] Then, (Z, U {c0}, AU B UC)
is a 5-CS(v + 1, A + 3) with A = A\pax(v, 3). O
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Lemma 2.2.8. Let v = 2 or 3 (mod 5) and assume conditions (a-c) of Lemmal[2.1.2]
are satisfied. If m =5 or if m € {10,15} and X\ = Apax(v, m), then any 5-CS of AK,
can be enclosed in a 5-CS of (A + m)K,41.

Proof. Let (V = Z,, A) be a 5-CS of AK, where v = 10k + ¢ for some ¢ € {2,3,7,8}
and let U = {oo}. By Theorem [1.2.9(c), v > 7. In each case it is shown that (V, A)
can be enclosed in a 5-CS (V U {oo}, AUBUC) of (A +m)K,;1 by defining B and
C.

First, note that by Lemma [2.2.2] the number of edges we must place in 5-cycles
contained completely in mK, is av as defined in Equation . Since this is divisible
by v, our plan is to create 5-cycles in mK, using the edges of « specially chosen
differences. Notice that o > 0 by Lemma [2.2.4]

Suppose m = 5. Then A =0 or 5 (mod 10) if v = 2,8 or 3,7 (mod 10) respec-
tively. Note that when \ is as small as possible « is as large as possible: that is,
when \ = 10, o = 25k — 20 for ¢ = 2 and o« = 25k — 5 for ¢ = 8; and when A = 5,
a = 25k — 10 for ¢ = 3 and o = 25k for £ = 7. The edges of 5K, are considered to be
E(G,(D(v)})) U E(G,(D(v))) when v is even and E(G,(D(v)s)) when v is odd. For
v even, care must be taken with edges of difference v/2 in E(G,(D(v))) since there
are only v/2 of them. As in Lemma [2.2.6] we will use Skolem and hooked Skolem
sequences to explicitly describe the 5-cycles containing all the edges of « differences
(yet to be chosen). To form the set of cycles B, we consider the cases ¢ € {2,3} and
¢ € {7,8} in turn.

Suppose ¢ € {2,3}. Let P' = {(2},9}) | 1 < i < k— 1,y > 2} be the
collection of pairs from a Skolem sequence or hooked Skolem sequence of order
k — 1 for the set {1,2,...,2k —2} or {1,2,...,2k — 1}, if k—1 =0 or 1 (mod 4)
or k—1 = 2 or 3 (mod 4) respectively. So each element in {1,2,...,2k — 2}
or {1,2,...,2k — 1} \ {2k — 2} occurs in exactly one element of P’. Now define
P={(z; =2,+2,y: =y, +2) | (2},y}) € P'}. Then we form the set of 5-cycles

B ={c;i.1=(0,2;,x; —y;, 3k + 1,5k + 0 +1) | 1 <i <k —1,(x;,y;) € P}

where computations are done modulo v. We also need to define E, when « is as large
as possible. Let

0,2k + 1,2k, 2k — 1,5k) ifk—1=0,1 (mod4)and ¢ =2,
o _ ) 0.2k 5k + 1,5k — 1, 5k) ifk—1=23 (mod4)and (=2,
UL {(0,2,2k +3,1,5k+1)}  ifk—1=0,1 (mod4)and¢=3, and

U {(0,1,2k + 1,7k +2,5k)} ifk—1=2,3 (mod4)and (=3

Notice that when ¢ = 3, E! is a multiset that contains 3 copies of the 5-cycle.
Table lists the differences of the edges that occur in cycles in B’ when « is as
large as possible and in E!,. Let B” = 5B’ be the multiset consisting of 5 copies of
each 5-cycle in B’. When « is as large as possible, |[B"UE! | = 5k—4 or 5k—2if { = 2
or 3 respectively, so |B"UE! | = a/5. If a is not as big as possible then o < 25k — 25
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in all cases (since as A increases by 10, a decreases by 15) so |B"| = 5k — 5 > «/5.
Therefore we define

B UjEZU(B” +j)U{c+jlceE,jEL,} if o is as large as possible, and
{ci+711€Zass,Cimodk—1y € B",j € Zy} otherwise.

‘ Edges | Differences when k —1=0,1 (mod 4) [ Differences when k — 1 =2,3 (mod 4) |
{0, 2}, {xs, @ — vi} 3,4,...,2k 3,4,...,2k—1,2k +1
{z; —y;, 3k + 1} 3k+2,3k+3,...,4k 3k+2,3k+3,...,4k
{3k + 1,5k +(+i} 2k + 0,2k +1+40,...,3k—2+¢ 2k + 0,2k +1+4+4,...,3k—2+/¢
{5k + ( +4,0} Sk—1,5k—2, . 4k +1 Sk—1,5k—2,. .4k t1
E.ifa—=25k—200=2 11,2k + 1,3k + 1,5k 1,2,2k, 3k + 1,5k
B e 95k 1003 | 2222k L2k T L2k + 1,2k +2,2k+2, | 11,12k, 2%, 2,2k + 2,2k + 2,2k + 2,
a ’ 9%k + 2, 5k, 5k, 5k, 5k + 1,5k + 1,5k + 1 5k, 5k, 5k, 5k + 1,5k + 1,5k + 1

Table 2.3: Differences of edges in B" and E,, when « is as large as possible for ¢ € {2, 3}
and m =5

Now suppose ¢ € {7,8}. Let P = {(z;,v:;) | 1 <i < k,y; > z;} be the collection
of pairs from a Skolem sequence or hooked Skolem sequence of order k£ for the set
{1,2,...,2k} or {1,2,...,2k + 1}, if k = 0 or 1 (mod 4) or kK = 2 or 3 (mod 4)
respectively. So each element in {1,2,...,2k} or {1,2,...,2k + 1} \ {2k} occurs in
exactly one element of P. Form the set of 5-cycles B’ = {¢;_1 = (0, x;, z; — y;, 3k +
2,5k +4+1i) |1 <i <k (x,y;) € P} where computations are done modulo v.
Let B” = 5B’ be the multiset consisting of 5 copies of each 5-cycle in B’. Define
B={ci+7|i€Zas,Ci(moar €B" j€Zy,}. Table lists the differences of edges
that occur in cycles in B'.

‘ Edges | Differences when £ = 0,1 (mod 4) | Differences when k = 2,3 (mod 4) |
{0, 2}, {xi, xi —yi } 1,2,...,2k 1,2,...,2k—1,2k+1

{x; — i, 3k + 2} 3k +3,3k+4,...,4k+2 3k+3,3k+4,...,4k+2
{3k +2,5k+4+1} 2k+3,2k+4,...,3k+2 2k+3,2k+4,...,3k+2

5k +414,0] |5k —5105k—640,.. .4k 4105k 5105k —6+0,.. 4k _d+1¢

Table 2.4: Differences of edges in B’ when « is as large as possible for ¢ € {7,8} and
m =25

To define C, suppose £ € {2,3,7,8}. Notice that by Lemma we know that
3 divides (5(v—1)/2—a) when v is odd and 3 divides (5(v—1)/2—a—3/2) when v is
even. Form a partition Py of the differences not used to form B into (5(v—1)/2—«)/3
sets of size 3 when v is odd, and when v is even into (5(v—1)/2—a—3/2)/3 sets of size
3 (not multisets) and one set {d, v/2} of size 2 with d # v/2, when v is even; it is easy
to ensure that d; < d3 and dy < v/2. Form the set C' of 5-cycles as in Equation ([2.4])
when v is odd and as in Equation when v is even. By Lemma the elements
of C are 5-cycles. Thus (Z, U {cc}, AUBUC) is a 5-CS(v+ 1,\+5) with v =2 or
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3 (mod 5).

Now suppose m = 10 and A = Apax(v, m). By Table [L.1] since v 4 1 is (A + m)-
admissible A +m = 0 (mod 10) and so A = 0 (mod 10). It follows that o = 5(v —
1) =3(A+m)/2 = 0 (mod 5). It also follows that for any fixed values of v and
m, v-admissible values of A differ by multiples of 10, so a(v, m)-admissible integers
differ by multiples of 15 (by Lemma . So when A = Apax(v,m) it follows from
Lemma that a € {0,5,10}. (There is no need to be specific for this proof,
but the reader may be interested to know that when m = 10 and A\ = A\yax(v, 10):
a = 0,5, or 10 if k£ = 2,0, or 1 (mod 3) respectively when v = 2 or 8 (mod 10) ;
a = 0,5, or 10 if £ = 1,2, or 0 (mod 3) respectively when v = 3 (mod 10); and
a=0,510if £k =0,1, or 2 (mod 3) respectively when v =7 (mod 10).) Define

] if =0,
B=14{(0,1,4,2,6)4+j | j € Z,} if =5, and
{(0,1,4,2,6)+7|j€2,}U{(0,1,4,2,6)+j|j€Z,} ifa=10,

and let = @,{1,2,3,4,6}, or {1,1,2,2,3,3,4,4,6,6} when a = 0,5, or 10 respec-
tively. By Lemma[2.2.3| |[D(v)10\ ] =0 (mod 3) when v is odd and |(D(v);y)\B| =0
(mod 3) when v is even. Form a partition Py of D(v)10\ 5 when v is odd and D(v)i,\ 5
when v is even into (m(v — 1)/2 — a)/3 sets of size 3. Then define the 5-cycles in
C as in Equation (it is easy to ensure that d; < d3 and dy < v/2, and so by
Lemma the elements of C' are all 5-cycles). Thus (Z, U {cc}, AUBUC) is a
5-CS(v+ 1, A+ 10) for v =2 or 3 (mod 5) and A = Apax(v, m).

Let m = 15 and A = A\ax(v,15) = 5(v — 4). It follows that o = 0 for all k. So
define B = @. Using Lemma [2.2.3) we know that 15(v—1)/2—a =0 (mod 3) when v
is odd and 15(v—1)/2—a—3/2 = 0 (mod 3) when v is even, so we can form a partition
Py of D(v)15 into (15(v —1)/2 — ) /3 sets of size 3 when v is odd and when v is even
form a partition Py of D(v)j, U D(v) into (15(v —1)/2 —a— 3/2)/3 sets of size 3 and
one set {d,v/2} of size 2 with d # v/2. Define C' as in Equation (2.4) when v is odd
and as in Equation ({2.3)) when v is even (it is easy to ensure d; < d3 and dy < v/2 and
so by Lemmal[2.2.5]the elements of C are all 5-cycles). Therefore (Z,U{oc}, AUBUC)
is a 5-CS(v+ 1, A+ 15) for v =2 or 3 (mod 5) with A = A\ (v, 15). O

Lemma 2.2.9. Let v =1 or4 (mod 5) and suppose conditions (a-c) of Lemma [2.1.2]
are satisfied. If m =1, if m € {2,3} and A = Apax(v,m), if m =3, A =2, andv =6
(mod 10), or if m € {2,3,...,9}, A+ m =10 and v = 1 (mod 10), then any 5-CS
of AK,, can be enclosed in a 5-CS of (A 4+ m)K,41.

Proof. Let (V = Z,,A) be a 5-CS of AK, where v = 10k + ¢ > 6 for some ¢ €
{1,4,6,9} and let U = {oo}. First, note that by Lemma[2.2.2] the number of edges we
must place in 5-cycles contained completely in mK, is av as defined in Equation (2.1
Since this is divisible by v and a > 0 by Lemma [2.2.4] our plan is to create 5-cycles
in mK, using the edges of a specially chosen differences.

Suppose m = 1. Then mK, = K, contains edges of each difference in D(v).
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As in Lemma [2.2.6] we will use Skolem and hooked Skolem sequences to explicitly
describe the 5-cycles containing all the edges of « differences (yet to be chosen).

For ¢ € {4,6,9}, let P = {(x;,y;) | 1 < i < k,y; > x;} be the collection
of pairs from a Skolem sequence or hooked Skolem sequence of order k£ for the set
{1,2,...,2k} or {1,2,...,2k + 1}, if k. = 0 or 1 (mod 4) or kK = 2 or 3 (mod 4)
respectively. So each element in {1,2,...,2k} or {1,2,...,2k + 1} \ {2k} occurs in
exactly one element of P. For ¢ =1, let P = {(z;,y;) | 1 < i <k —1,y; > z;} be
the collection of pairs from a Skolem sequence or hooked Skolem sequence of order
k — 1 for the set {1,2,...,2k —2} or {1,2,...,2k — 1}, if k=1 =0 or 1 (mod 4)
or k—1 = 2 or 3 (mod 4) respectively. So each element in {1,2,...,2k — 2} or
{1,2,...,2k — 1} \ {2k — 2} occurs in exactly one element of P for ¢ = 1. Then with

(O,Jii,LUZ' —yi,3k:,5k—i— 1+Z) if ¢ = 1,
¢ =1 (0,2, 2, —y;, 3k — 1+ £/2,5k + €/2+1) if £ € {4,6}, and

form the set of 5-cycles B = {¢; + 7 | 1 < i < |a/5],j € Zy, (x;,y;) € P} where
computations are done modulo v. Tables 2.6, and [2.7] list the differences of the
edges that occur in cycles in B when « is as big as possible (that is, when A is as
small as possible).

‘ Edges | Differences when k — 1= 0,1 (mod 4) | Differences when k — 1 = 2,3 (mod 4) |
{0, i}, {25 — yi} 1,2,...,2k 2 1,2,...,2k — 3,2k — 1
{2; — yi, 3k} 3kr1,3k+2,... 4k—1 3k 1,3k t2,.. . 4k—1
(3k,5k +1+i} 2% +2,2k+3,....3k 2% +2,2k+3,....3k
{5k + 1+ 14,0} Bk—1.5k—2, . 4k+1 Bk—1.5k—2 . dk+1

Table 2.5: Differences of edges in B when « is as large as possible for / = 1 and
m=1

‘ Edges | Differences when k= 0,1 (mod 4) [  Differences when k = 2,3 (mod 4) |
{O‘LL}7{{L“.Ll*yl} 172,2/€ 1272k*172k+1

{z; —y;, 3k — 1+ £/2} 3k+0/2,3k+1+10/2,..., Ak —1+0/2 | 3k +€/2,3k+1+0/2,...,dk—1+ (/2
{3k —1410/2,5k + (/2 + i} 2k+2,2k+3,..., 3k+1 2k +2,2k+3,...,3k+1

{5k + /2 +1,0} 5k —1+4+0/2,5k —2+0/2,... 4k + (/2 | 5k — 1+ (/2,5k —2+0/2,..., 4k + (/2

Table 2.6: Differences of edges in B when « is as large as possible for ¢ € {4,6} and
m=1

Notice that by Lemma we know that 3 divides ((v — 1)/2 — a)) when v is
odd and 3 divides ((v — 1)/2 — o — 3/2) when v is even. Form a partition P, of the
differences not used to form B into ((v — 1)/2 — a)/3 sets (not multisets) of size 3
when v is odd and when v is even ((v —1)/2 — a — 3/2)/3 sets (not multisets) of size
3 and one set {d,v/2} of size 2 with d # v/2. We form the set C' of 5-cycles as in
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| Edges | Differences when k& = 0,1 (mod 4) | Differences when k = 2,3 (mod 4) |

{0, 2}, {xs, v — i} 1,2,...,2k 1,2,...,2k—1,2k+1
{z; —y;, 3k + 3} 3k+4,3k+5,....4k+3 3k+4,3k+5,...,4k+3
{3k + 3,5k +5+1i} 2k + 3,2k +4,...,3k+2 2k + 3,2k +4,...,3k+2

{5k +5+1,0} 5k + 3,5k +2,...,4k + 4 5k + 3,5k +2,...,4k + 4

Table 2.7: Differences of edges in B when « is as large as possible for £ = 9 and
m=1

Equation (2.4) when v is odd and as in Equation when v is even. Notice that
by Lemma the elements of C' are all 5-cycles. Thus (Z, U {co}, AUBUC) is a
5-CS(v+1,A+1) forv=1o0r4 (mod 5).

Now suppose m = 2 and A = Apax(v,2). By Table [L.1} if v =1 (mod 5) then
since v + 1 is (A + m)-admissible A + m = 0 (mod 10) and so A = 8 (mod 10); and
if v = 4 (mod 5) then v is A-admissible so A = 0 (mod 10) (and so A +m = 2
(mod 10)). It follows that « = v — 1 —3(A+2)/2 =0 (mod 5). It also follows that
for any fixed values of v and m, v-admissible values of A\ differ by multiples of 10,
so a(v, m)-admissible integers differ by multiples of 15 (by Lemma [2.2.2)). So when
A = Amax(v, m) it follows from Lemma [2.2.4] that a € {0,5,10}. (There is no need to
be more specific for this proof, but the reader may be interested to know that when
m=2and A = A\pax(v,2): @« =0,5,0r 10if £ =0,2, or 1 (mod 3) respectively when
v =1or 4 (mod 10); and o = 0,5,10 if & = 1,0, or 2 (mod 3) respectively when
v="6or9 (mod 10).) Define

%} if =0,
B=121{(0,1,4,2,6)+j|j€Z,} if @ = 5, and
{(0,1,4,2,6)+j | j € Z,}U{(0,1,4,2,6) +j | j € Z,} if a = 10,

and let = @,{1,2,3,4,6}, or {1,1,2,2,3,3,4,4,6,6} when a = 0,5, or 10 respec-
tively. Using Lemma we know that 3 divides v — 1 — a = |D(v)y \ B] if v is
odd and |D(v); \ B| if v is even. Form a partition Py of D(v)s \ S when v is odd
and D(v); \ § if v is even into (m(v — 1)/2 — «)/3 sets of size 3. Form the set C
of 5-cycles as in Equation . By Lemma the elements of C are all 5-cycles.
Thus (Z, U {oc}, AUBUC) is a 5-CS(v + 1, A + 2) with v = 1 or 4 (mod 5) and
A = Amax(v, 2).

Now suppose m = 3 and A = A\jax(v,3) = (v —4). It follows that o = 0 for all
k. So define B = @. Using Lemma we know that 3(v —1)/2 — a =0 (mod 3)
when v is odd and 3(v —1)/2 —a—3/2 =0 (mod 3) when v is even, so we can form
a partition Py of the differences in D(v)s3 into (3(v —1)/2 — «)/3 sets of size 3 when v
is odd and when v is even form a partition Py of the differences in D(v)5 U D(v) into
(3(v—1)/2 —a —3/2)/3 sets of size 3 and one set {d,v/2} of size 2 with d # v/2; it
is easy to ensure that each element of F, does not contain the same element 3 times.
Define C' as in Equation ([2.4)) when v is odd and as in Equation when v is even.
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By Lemma the elements of C' are cycles. Therefore (Z, U {0}, AUBUC) is a
5-CS(v+1,A+3) forv=1o0r 4 (mod 5), A = Apax(v, 3).

Let v = 1 (mod 10), m € {2,3,...,9}, and A = 10 — m. Let P = {(z4,v) |
1 <i<k-—1,y; > x;} be the collection of pairs from a Skolem sequence or hooked
Skolem sequence of order k — 1 for the set {1,2,...,2k — 2} or {1,2,...,2k — 1}, if
k—1=0or1 (mod4)ork—1=2or3 (mod 4) respectively. So each element in
{1,2,...,2k =2} or {1,2,...,2k — 1} \ {2k — 2} occurs in exactly one element of P.
Form the set of 5-cycles

B/:{Ci_l:(O,fEi,l'i—yi,Bk,E)k—f—l—{—i) | 1 Szgk—l,(xl,yl) EP}

where computations are done modulo v. Let B” = mB’. Then B” contains m(k — 1)
5-cycles, but we need |a/5] = mk — 3 of them. Hence for m > 4 we need m — 3 more
5-cycles. Let ¢; = (0,2k + 1,6k + 1,k + 1,5k + 1) and ¢, = (0, 2k, 4k, 6k, 8k). Also
let E, contain 1, 2, 3, 3, 4, and 4 copies of ¢} if m =4, 5, 6, 7 8, and 9 respectively
and contain 1, 1, and 2 copies of ¢, if m = 7, 8, and 9 respectively. Notice that the
cycles in E, contain at most m copies of edges of differences not used in cycles in B”,
namely the differences 2k, 2k + 1,4k and 5k (B” is also missing the differences 2k — 1
or 2k — 2). Then

B={c+j|1<i<|a/5],¢moar1) €B",jELIU{c,+j|j€E Ly, €EL}.

Notice that regardless of our choice of m, A+m = 10. So (m(v—1)/2—a) =15
which is divisible by 3. So we use the elements not used to form B to form a partition
Py of the differences in D(v),, into five sets of size 3. Define C' as in Equation ({2.4))
(it is easy to ensure d; < d3 and dy < v/2 so that by Lemma the elements of
C are all 5-cycles). Therefore (Z, U {oo}, AUBUC) is a 5-CS(v + 1, A + m) with
m € {2,3,4,5,6,7,8,9} and A +m = 10.

Let v = 6 (mod 10), m = 3 and A = A\uin(v,3) = 2. Let P = {(zs,y:) | 1 <
i < k,y; > x;} be the collection of pairs from a Skolem sequence or hooked Skolem
sequence of order k for the set {1,2,...,2k} or {1,2,...,2k + 1}, if £k = 0 or 1
(mod 4) or k = 2 or 3 (mod 4) respectively. So each element in {1,2,...,2k} or
{1,2,...,2k+ 1} \ {2k} occurs in exactly one element of P. Then we form the set of
5-cycles

B = {(0,x;,x; — y;, 3k + 2,5k + 3 +1) | 1 <i <k, (x5,41) € P}

where computations are done modulo v. Let B” = mB’. Notice that |a/5] = 3k =
|B"|. So define B={c+j|ce B",j€Z,}.

By Lemma we know that m(v —1)/2 —a —3/2 = 0 (mod 3). So we use
the elements not used to form B to form a partition Fy into one set {d,v/2} of size
2 with d # v/2 and two sets of size 3. Define C' as in Equation (2.4)) (it is easy to
ensure that d; < ds3 and dy < v/2 so that by Lemma the elements of C' are
all 5-cycles). Therefore (Z, U {oc}, AUBUC) is a 5-CS(v + 1, A + m) with v = 6
(mod 10), m = 3, and A = 2. O
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Corollary 2.2.10. Assume conditions (a-c) of Lemma are satisfied. Let v =2
or 3 (mod 5). If

e m=2>5, or
e m € {10,15} and A = Apax(v,m),

then any 5-CS of AK,, can be enclosed in a 5-CS of (A + m)K,41.
Let v # 2 or 3 (mod 5). If

m =1,

m € {2,3} and A\ = Apax(v,m),

m=3, A= Anin(v,3) =2, and v =6 (mod 10), or
me{2,3,...,9}, A\+m =10 and v =1 (mod 10),

then any 5-CS of AK, can be enclosed in a 5-CS of (A +m)K41.

Proof. By Lemmas [2.2.0] [2.2.7] [2.2.8] and [2.2.9| the results follow. O

2.3 The Main Theorem

The following lemma will be used to guarantee an important point made in the
main result.

Lemma 2.3.1. If m =0 (mod 3) then Apax(v,m) = m(v —4)/3.

Proof. Recall that Apax(v,m) is the largest integer satisfying conditions (a-c) of
Lemma [2.1.2l By Lemma 2.1.2)c), Amax(v,m) < [m(v —4)/3] = m(v —4)/3. So
the result follows since clearly

m(v—1)/3+m(v—1)=4m(v—1)/3
is even and
mu(v —1)/2 4+ mv(v —1)/3 = bmv(v —1)/6
is divisible by 5. [

In the following theorem, Corollary [2.2.10] is used as a basis for an inductive
argument to prove our main result, settling the enclosing problem when u = 1.

Theorem 2.3.2. Let m > 1. A 5-CS of AK,, can be enclosed in a 5-CS of (A +
m) K1 if and only if

(a) A4+ mv =0 (mod 2),
(b) m(3) +v(A+m) =0 (mod 5), and
(c) m(v—1) > 3(A+m).
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Proof. The necessity follows from Lemma so we now prove the sufficiency.
Since we are assuming that a 5-CS of AK, exists, it follows by Theorem that
v & {2,3,4}, and by condition (¢) v # 1, so we know v > 5. If A = 0 then by
condition (a) mv = 0 (mod 2) and by condition (b) mv(v + 1) = 0 (mod 5), so by
Theorem there exists a 5-CS of mK, 1. So we can assume that A\ > 1.

Let (V,A) be a 5-CS of AK,. If v = 2 or 3 (mod 5) then from Table it
follows that m = 0 (mod 5); in any other case m can potentially take on any positive
integral value. To reflect this situation, let t(v) = 1 if v # 2 or 3 (mod 5) and let
t(v) =5ifv=2o0r3 (mod 5). We often simply write ¢ instead of £(v) when the value
of v is clear. Let A\ (v, m) be the second largest integer for A satisfying conditions
(a-c), and let At. (v,m) be the second smallest integer for A satisfying conditions
(a-c).

We will first establish that for any given v, the difference between consecutive
values of A that satisfy conditions (a) and (b) is a constant; call this difference Ag;g(v).
Secondly, for all m > 1 and v > 5, we settle the enclosing problem for both the
smallest and the largest values of A satisfying conditions (a-c). Finally for all m > 1
and v > 5 it will be shown that for all A satisfying conditions (a-c) there exist
non-negative integers A\, Ay with A\; + Ay = A and positive integers my, mo with
my + me = m such that for 1 < ¢ < 2 there exists a 5-CS of \;K, that can be
enclosed in a 5-CS of (\; +m;)K,41. So the union of these two enclosings completes
the proof.

We turn to the first step of the proof. For any given v and m, the difference
between consecutive values of A that satisfy conditions (a) and (b) is a constant;
namely Agig(v,m). Also by conditions (a) and (b), Agig(v,m) = 0 (mod 2) and
vAgig(v,m) = 0 (mod 5). Therefore vAg;g(v,m) = 0 (mod 10). Since Agg(v, m)
must be the smallest such value, if v = 0,5 (mod 10) then Agig(v,m) = 2, and if
v # 0,5 (mod 10) then Agig(v, m) = 10. Notice that if my # mo then Agig(v, my) =
Adifr(v, mo). Therefore we define Agig(v) = Agig(v, m).

We now turn to the second step in the proof; establishing the existence of the
enclosing for the smallest and largest values of A given v and m. Beginning with the
smallest value, Tables and list the values of A, (v, m), and were formed using
Theorem and Corollary [2.2.10] Three cases are considered in turn based on the

value of v.

m
v(mod10) 0 1 2 3 4 5 6 7 8 9
1 0 9 87 65 43 21
6 0482604826

Table 2.8: Checking Apin(v,m) when v = 1 or 6 (mod 10): each cell contains
)\min(vam)
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v (mod 10)
m 0 2 3 4 5 7 8 9
odd 0 0 5 0 1 5 0 5
even 0 0O 0 0 O O O O

Table 2.9: Checking Apin(v,m) when v # 1 or 6 (mod 10): each cell contains
AInin(vaﬂfb)

Let v = 1 (mod 10). The proof is by induction on m. By Corollary if
m < 10 then any 5-CS of Ay (v, m)K, can be enclosed in a 5—CS of (Ayin(v, m) +
m)K, 1. Suppose that for some m > 11 and for all s with 1 < s < m, every
5-CS of Ayin(v, s)K, can be enclosed in a 5-CS of (Apin(v,s) + $)Kyy1. Then,
since m > 11, by induction each 5-CS (V, B;) of Ayin(v, m — 10) K, can be enclosed
in a 5-CS (V U {oo}, By) of (Amin(v,m — 10) + (m — 10))K,;; and there exists a
5-CS (V U {00}, By) of 10K,4; (by Theorem [1.2.2). Since Table shows that
Amin (v, m — 10) = Apin(v,m), (V, By) is a 5-=CS of A\yin(v, m — 10) K, = Ay (v, m) K,
which is enclosed in a 5-CS (V U {oc}, B} U By) of

((Amin(v,m —10) + (m — 10)) + 10) Kyi1 = (Amin(v, m) + m) Kyiq.

Let v = 6 (mod 10). The proof is by induction on m. We first settle the
base cases where m < 5. By Corollary if m € {1,3} then any 5-CS of
Amin (v, m) K, can be enclosed in a 5-CS of (Ayin(v, m) + m)K,1. Hence a 5-CS of
Amin(v, 1)K, can be enclosed in a 5-CS of (A (v, 1)+ 1)K, 1. Since Table shows
Amin (0, 1) + Apin (v, 1) = 4+ 4 = A\pin(v, 2), the union of two copies of this enclosing
proves that any 5—CS of Apin(v,2)K, can be enclosed in a 5~CS of ((Apin(v,1) +
1) 4+ Amin(v,1) + 1) Kyp1 = (Amin(v,2) + 2)K,41. Similarly, since Table shows
that Apin(v, 1) + Apin(v,3) = 4 + 2 = A\yin(v,4), any 5-CS of A\uin(v,4)K, can be
enclosed in a 5-CS of (Amin(v, 1) + 1) + (Amin(v,3) +3)) Kpr1 = (Amin(v,4) +4) Ky y1.
If m = 5, by Table Amin(v,5) = 0, so this enclosing has been established. Now
suppose that for some m > 6 and for all s with 1 < s < m, every 5—CS of A\ (v, s) K,
can be enclosed in a 5-CS of (Apin(v, s) + s)K,+1. Then, since m > 6, by induction
each 5-CS (V, By) of Apin(v,m — 5)K,, can be enclosed in a 5-CS (V U {0}, B}) of
(Amin(v, m—5)+(m—>5)) K41, and by Theorem|L.2.2] there exists a 5-CS (VU{oo}, Bs)
of 5K,,1. Since Table shows that Apin (v, m —5) = Apin(v,m), (V, By) is a 5-CS
of Apin(v,m —5) K, = Amin(v, m) K, which is enclosed in a 5-CS (V' U {oo}, B} U By)
of

(Cunin(027 — 5) + (1 — 5)) + 5) K1 = Cumin(t,m) + 1) K.

Let v # 1 or 6 (mod 10). The proof is by induction on m. If m = t, m is
even (including the important small value m = 2t), or v is even, then by Table
Amin(v,m) = 0, so this enclosing has been established. It is left to show we can form
an enclosing of a 5-CS of (Amin(v, m) + m)K,41 if v is odd and m is odd. Suppose
that for some m > 3t (recall that m = 0 (mod t)) and for all s with 1 < s < m,
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every 5-CS of A\yin(v, s) K, can be enclosed in a 5-CS of (Apnin(v, ) + ) K,41. Then,
since m > 2t, each 5-CS (V, B;y) of Ayin(v, m — 2t)K, can be enclosed in a 5-CS
(V, BY) of (Amin(v,m —2t) + (m — 2¢)) K, 41 and by Theorem[1.2.2] there exists a 5-CS
(V U {0}, By) of 2tK, 1. Since Table shows that Ay (v,m —t) = Apin(v, m),
(V, By) is a 5-CS of (Amin(v,m —2t)) K, = Amin(v, m) K, which is enclosed in a 5-CS
(V U{oc}, By U By) of

((Amin(v,m = 2t) + (m — 2t)) + 2t) K1 = (Amin(v,m) + m) Ky yq.

Now turning to the largest value of \, we will enclose a 5—CS of A\ax (v, m) K, in a
5-CS of (Amax(v, m)+m)K,41. The proof is by induction on the non-negative integer
i, where m = 3ti + € and € € {t,2t,3t}. In view of Corollary the largest value
of A (i.e. A = Amax(v,m)) when ¢ = 0 has already been solved. Suppose that for some
i > 1 and for all s with 0 < s < i we can enclose a 5-CS of A\yax(v, 3st+€) K, in a 5-CS
of (Amax (v, 3st+€)+(3st+e€)) K,41. By Lemma[2.3.1]it follows that Ayax(v, m) = m(v—
4)/3 when m = 0 (mod 3), and 80 Amax(v,3(2 — 1)t + 3t) + Amax(v, €) = Amax(v,m).
In particular every 5-CS of Ayax(v,3t(i — 1) + 3t) K, can be enclosed in a 5-CS of
((Amax (v, 3t(1 — 1) +3t) + (3t(i — 1) 4+ 3t)) K11 and every 5-CS of Apax(v, €) K, can be
enclosed in a 5-CS of (Apax(v, €) + €) K, 41. The union of the previous two enclosings
proves that any 5-CS of (Apax(v, 3t(0 — 1) 4+ 3t) + Anax (v, €)) Ky = Amax(v, m) K, can
be enclosed in a 5-CS of

(Amax(v, 3t(i—1)4+3t)+(3t(i—1)+3t)) +(Amax(v, €)+€)) Kyi1 = (Amax(v, m)+m) Kypq.

Since the cases where m = t and where v > 5, m > t and A € {Apin(v, m), Amax(v, m)}
have now been settled, it is left to show that for m > ¢, v > 5, and for all A
satisfying conditions (a-c) with Apnin(v,m) < A < Apax(v,m) there is an enclos-
ing of a 5-CS of MK, in a 5-CS of (A + m)K,;1. The proof is by induction
on m. Tables 2.10, 2.11] and [2.12] were formed using Theorem and Corol-
lary [2.2.10] and will help in establishing each value of A\ that the enclosing can be
produced using two smaller enclosings. Suppose for some m > 2t and for all s with

v (mod 10)
m 0 1 2 3 4 5 6 7 8 9
2t(v) 0,0,2 0,0,10 10,0,0 0,0,10 0,0,10 2,0,0 10,0,0 0,10,0 10,0,0 10,0,0
3t(v) 2,0,2 0,10,10 10,10,0 10,0,10 0,10,10 2,2,0 10,0,10 0,10,10 10,10,0 10,0,10

Table 2.10: Checking the largest values of A: each cell contains Apa.x(v,m) —
Amax (0, £(V)) — Apax(v, m — t(v)) for k= 0,1, and 2 (mod 3) in turn.

1 < s < m, every 5-CS of AK, can be enclosed in a 5-CS of (A + s)K,;1. From

Table 2.10L Amax (v, M) — Amax (v, 1) — Amax(v,m — ) € {0, \gigr(v)}, 80 Ao (v, m) <
Amax (U, ) + Amax (v, m — t). Similarly from Tables and

)\min(vv m — t) + Amin(vy t) - Amin(v7 m) € {Oa )‘diff(v)}7
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m 0 23 45 7 89
odd 0 00 O OO 0O
even 0 0O 10 0 2 10 O 10

Table 2.11: Checking the smallest values of A for v # 1 or 6 (mod 10): each cell
contains Ayin (v, m — t(v)) + Amin(v, (V) — Amin (v, Mm).

m
v(mod10) 0 1 2 3 4 5 6 7 8 9
1 10 0 10 10 10 10 10 10 10 10
6 0 00 100 100 0 10 0

Table 2.12: Checking the smallest values of A for v = 1 or 6 (mod 10): each cell
contains Apin (v, m — t(v)) + Amin (v, t(V)) — Amin (v, Mm).
SO Amin (v, m — ) + Auin(v, 1) < A (v,m). Thus

/\min<va m — t) + )\min(va t) S )\ S /\max<va m — t) + )\max(v7 t)

Since for each v we know that Agig(v) = Agig(v, m) is constant for all m, it follows
that there exist non-negative integers Ay, Ay for which Api(v,t) < A1 < Apax(v, 1),
Amin(V,m — 1) < Ay < Apax(v,m — t), and A\ + Ay = A, and there exist positive
integers my, mo with m; + my = m such that for 1 < ¢ < 2 there exists a 5-CS
of \;K, that can be enclosed in a 5-CS of (A\; + m;)K,y1. So the union of these
enclosings proves that any 5-CS of (A + A2) K, = MK, can be enclosed in a 5-CS of
(A +m1) + (A +m2)) Ky = (A + m) Ko O
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Chapter 3
Enclosings when u = 2

3.1 Introduction

In this chapter, we settle Conjecture [2.1.1] in the case when u = 2; see Theo-
rem [3.5.2] Yet again, new approaches are used in the proofs that follow.

In Theorem [3.5.2| we establish that the necessary conditions in Lemma [2.1.2] are
sufficient when v = 2. Section [3.2] establishes two results: the first is very useful
when finding 5-cycles in mK,; the second shows that a judicious choice of parameters
suggests a good approach to placing the edges incident with the 2 new vertices into
5-cycles. In Section [3.3] some general conditions on a set D are given that guarantee
the multigraph induced by all the edges of differences in D have a closed trail in which
each set of 3 consecutive edges induces a path. We will need to introduce Hamilton
cycles in Section [3.3]in order to construct the closed trail. The proof of Theorem [3.5.2
builds on the results in Section |3.4] when small values of m are considered, and uses
the results from Sections [3.2] and [3.3] to build the 5-cycles with mixed edges.

Recall that an integer v is said to be A-admissible and A is said to be v-admissible
if the conditions in Theorem [1.2.2] are satisfied by AK,.

The following decomposition result will be used to simplify some of the proofs
given in Section [3.2]

Theorem 3.1.1. [0] Let 1 < dy,dy < v/2. There exist 2 edge-disjoint Hamilton
cycles in each component of G,({dy,ds}).

3.2 Necessary tools

We now create some tools necessary to solve the problem of enclosing a A-fold
5—CS of order v in a (A+m)-fold 5-CS of order v+ for all m > 0 and u = 2. For the
remainder of this chapter, let U = {00,002} be the vertex set of V(K1) \ V(K,).
Also for each pair of positive integers v and m, let Apax(v, m) and Ayin (v, m) be the
largest and smallest values of A respectively for which conditions (a),(b) and (d) in
Lemma R.1.2] are satisfied when u = 2.

One such tool that we use is the concatenation of trails Ty, T, ..., T, in G,(D)
which we denote by Hle T, =TTy ---T,. (For example we use the trail H; H, formed
by concatenating two Hamilton cycles in a component of G, ({d;, d2}) obtained using
Theorem [3.1.1])

Again, Lemma [2.2.1|is a critical result, being used hand in hand with the obser-
vation that there exists a 5—CS of G,,({v/5}) and of G, ({2v/5}) when v = 0 (mod 5),
since each component is a 5-cycle. So when v =0 (mod 5) let (Z,,I"1), (Z,,['s) and
(Zy,T'3) be a 5-CS of G,({v/5}), G,({2v/5}), and G,({1,2,3}) respectively.
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For the remainder of this chapter, let

a=\+m,
b_2vd—(v+3)(>\+m)
= - ’
—1)(A —vd
c:(?)v )( 5+m) v and
A+m ifA+m<m(v—1)/2and v#4 (mod 5),

g Atm—e ifAX+m<mv—1)/2,v=4 (mod 5), and
B A+m =3¢ (mod b) with € € Zs, and
m(v—1)/2 fX+m>m(v—1)/2.

The following lemma guarantees that these parameters are all non-negative integers,
and are specially chosen to satisfy even more properties, the reasons for requiring
Conditions (i-v) being described after the lemma.

Lemma 3.2.1. Let u = 2 and v > 5. Suppose there exists a 5-CS of AK,,. Let A
and m be positive integers that satisfy the conditions of Lemma|2.1.2| Then

(i) a, b, ¢, and d are all non-negative integers,
(i) b is even,
(7i) 2a + 3b+ ¢ = vd,
(iv) 2a 4 2b + 4c = 2v(A +m),
(v) mv(v—1)/2 —vd >0,
(vi) ¢ —a—2b>0,
(vii) v divides ¢ — a — 2b,
(viii) m(v — 1)/2 — d is an integer, and
(ix) m(v—1)/2 —d =0 (mod 5) when v # 0 (mod 5).

Proof. First consider Condition (7). Clearly a is a non-negative integer since A\ and m
are non-negative integers. To show that b and ¢ are non-negative integers, consider
three cases that depend on the three values of d in turn.

Suppose A+m < m(v—1)/2and v Z 4 (mod 5). Sod=A+m, b= (A+m)(v—
3)/5 and ¢ = (A+m)(2v—1)/5. It is clear that b and c are non-negative integers when
v =3 (mod 5). If v=0o0r1 (mod 5) then by Lemma [2.1.2b) it follows A + m =0

(mod 5) and so b and ¢ are non-negative integers. If v = 2 (mod 5) then m = 0
(mod 5) by Lemma [2.1.2(b) and A = 0 (mod 5) by Theorem [.2.2] so A + m = 0

(mod 5) and thus b and ¢ are non-negative integers.
Suppose A + m < m(v —1)/2 and v = 4 (mod 5). Then d = A+ m — € and
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A+ m = 3¢ (mod 5) where € € Z5. Since

2vd — (v+3)(A+m) = (v—3)(A+m) — 2ve
= 3e(v — 3) — 2ve
=e(v—9)
=0 (mod b)

and

Buv—=1)A4+m)—vd=(2v—1)(A+m) + ve
e(Tv — 3)
=0 (mod 5),

it follows that b and ¢ respectively are non-negative integers.

Finally suppose that A+m > m(v—1)/2,so0d = m(v—1)/2,b = (mv(v—1)—(v+
3)(A+m))/5and c = ((3v—1)(A+m) —mv(v—1)/2)/5 = (2A(3v —1) —m(v? — Tv +
2))/10. If v =0 or 1 (mod 5) then by Lemma [2.1.2(b), A + m = 0 (mod 5), and so
mo(v—1)—(v+3)(A+m) = mv(v—1) (mod 5) and (3v—1)(A+m)—mov(v—1)/2 =
mu(v — 1)/2 (mod 5); thus b and c¢ are integers. If v = 2 (mod 10) then m = 0
(mod 10) by Lemma [2.1.2(a-b) and A = 0 (mod 5) by Theorem [L.2.2] and so b and
c are integers. If v =7 (mod 10) then m = 0 (mod 5) by Lemma [2.1.2(a) and so b
and c are integers. If v =3 (mod 5) then A = 0 (mod 5) by Theorem [1.2.2] and we
write v = 5k + 3. Then

mu(v—1) — (v+ 3)(A+m) =m(bk + 3)(5k + 2) — (5k + 6)(A +m)
—6A
=0 (mod 5)

and

2A(3v — 1) — m(v® — Tv + 3) = 2A\(15k + 8) — m((5k + 3)* — 7(5k + 3) + 2)
= 2X\(15k + 8) — m(25k* + 30k + 9 — 35k — 21 + 2)
= —m(25k* — 5k — 10)
= —5m(5k* — k — 2)
=0 (mod 10),

since 5k% — k — 2 is always even, and so b and c are integers. Let v = 5k 4+ 4. Then
A =0 (mod 5), so b and ¢ are integers since the numerator of b satisfies

mu(v—1) — (v+3)(A+m) =m(bk 4+ 4)(5k + 3) — (bk + 7)(A +m)

5m — A(5k +7)
=0 (mod 5)
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and the numerator in the definition of ¢ satisfies

2A(3v — 1) — m(v® — Tv + 2) = 2A\(15k + 11) — m((5k + 4)* — 7(5k +4) + 2)
= —m((25k* + 40k + 16 — 35k — 28 + 2)
= —m(25k% + 5k — 10)
= —5m(5k* + k — 2)
=0 (mod 10)

since 5k? + k — 2 is always even.

Lastly, we will show d is a non-negative integer. By Lemma m(a) and using
Theorem [1.2.2|(a) applied to the postulated existence of 5-CSs of AK, and 5-CSs of
(A 4+ m) Ky, m(v— 1) is even so d is an integer. It is clear that d > 0 if A +m <
m(v—1)/2 and v #4 (mod 5) or A+m > m(v—1)/2 so we let \+m < m(v—1)/2
and v = 4 (mod 5) so that d = A + m — € where A + m = 3¢ (mod 5) with € € Zs.
Since v = 4 (mod 5) and by Lemma [1.2.2(b), A = 0 (mod 5) and so A > 5 which
ensures d = A\ +m — € > 0 since € € Zs.

It is left to show that Conditions (ii-iz) hold. If A +m < m(v —1)/2, v #
4 (mod 5), and v is odd then d = A+ m and so b = (A + m)(v — 3)/5 is even.
fAX+m < m(v—1)/2, v # 4 (mod 5), and v is even then X\ + m is even by
Lemma [2.1.2)(a) and so b is even. Let A+m < m(v—1)/2 and v =4 (mod 5) so that
d=X+m—cand b= (m(v—3)—3\A+v(A—2¢))/5. f v =4 (mod 10) then A =0
(mod 10) and m = 0 (mod 2) by Theorem|[1.2.2] so bis even. If v =9 (mod 10) then
b= 2um+X—¢€)—(v+3)(A+m))/5is even. Let A+ m > m(v —1)/2 so that
d=m(v—1)/2and b= (mv(v—1)— (v+3)(A+m))/5. If v is odd, it is easy to see
b is even. If v is even, then A + m is also even by Lemma [1.2.2(a) and so b is even.
Thus Condition (7i) holds.

By using our definitions of a, b, ¢, and d, it follows that

2a+3b+c:2()\+m)+3<2vd_(v+53)(/\+m)) N (3v—1)(/\5-|-m)_vd

B 10X\ + 10m + 6vd — 3vA — 3vm — 9\ — 9m + 3vA + 3vm — A —m — vd

)
= wvd,
2a+25+4622()\+m)+2<20d_(023)(/\+m)) +4((30—1)(A5+m)—vd>
10N +m) +4vd = (204 6)(A +m) + (120 — 4) (A +m) — 4vd

5
= 2v(A 4+ m),
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mv(v—1)/2 —wvd > 0, and

c—a—2b=

(v — 1)(/\5—1— m) —vd (At m) 2 (2vd— (v —1:53)()\+m))

(Bv — 1) (A +m) —vd — 5\ — bm — 4vd + (2v + 6)(A + m)
5

=v(A+m—d).

Thus Conditions (igi-viii) hold.

It remains to prove m(v — 1)/2 —d =0 (mod 5) when v Z 0 (mod 5). Suppose
d =X+ m so that m(v—1)/2 —d = (m(v—3) —2))/2. Since A =0 (mod 5) when
v =3 (mod 5), it follows that m(v —3) —2A =0 (mod 5) and so m(v—1)/2—d =0
(mod 5). If v =1 (mod 5) then A +m = 0 (mod 5) and so m(v —1)/2 —d = 0
(mod 5). If v =0 or 2 (mod 5) then A =m =0 (mod 5), and so m(v—1)/2—-d=0
(mod 5).

Now suppose d = A+ m —e. Then v = 4 (mod 5) and A + m = 3e (mod 5)
and consequently A = 0 (mod 5), so let v = 5k + 4. Since m(v — 1)/2 —d =
(m(v—1) —2d)/2, it follows that

m(v — 1) — 2d = bkm + m + 2e — 2\
=(A+m)+2e— 3\

= 3e + 2¢ — 3\
=5e— 3\
=0 (mod b).

Finally suppose d = m(v — 1)/2. Then clearly, m(v — 1)/2 — d = 0 and so
Condition (ix) is satisfied. O

At this point it is worth motivating the definitions of a, b, ¢, and d. There are
4 different types of 5-cycles in (A +m) Ky, (V UU,E) based on the number of pure
and mixed edges in the 5-cycle and the location of the pure edges:

e 2 pure edges in V', 2 mixed edges, and 1 pure edge in U,
e 3 pure edges in V' and 2 mixed edges,

e 1 pure edge in V' and 4 mixed edges, and

e 5 pure edges in V.

These 5-cycles will be called Type A, Type B, Type C, and pure cycles respectively.
(See Figure for a visual representation of these 5-cycles.)

When constructing a 5-cycle system of (A+m) K, —AK, we endeavor to use a 5-
cycles of Type A, b of type B, and c of Type C. Lemma (1) shows this choice of a,
b and ¢ is well-defined. Lemma3.2.1|(iv) shows that this choice would use all 2v(A+m)
mixed edges. Lemma M(n) ensures that we can separate the 5-cycles of Type B
so that b/2 of these 5-cycles are incident to ooy and b/2 of these 5-cycles are incident
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Figure 3.1: Possible 5-cycle Types

with coy. The definition of a ensures that all A4+m edges joining the two vertices in U
would be in 5-cycles. By Lemma [3.2.1ii7) the choice of d ensures that the number of
remaining edges joining vertices in V' is mv(v—1)/2—(2a+3b+c) = v(m(v—1)/2—d),
which is a non-negative (by (v)) integral multiple of v or v/2 if v is odd or even
respectively. This ensures that using difference methods is a viable technique to
employ. In view of Lemma [3.2.1{(7i7) define o by

—1 -1
%—(2a+3b+c):<%—d>v:av. (3.1)
So « is a measure of the number of differences we should use when defining the pure
5-cycles. Notice that if a is not an integer then v is even and « is divisible by v/2, so
the “half” difference v/2 will play a vital role. Note that o > 0 by Lemma [3.2.1](v).

3.3 Creating closed trail systems of G,(D)

The following lemmas construct closed trail systems in components of G, (D) for
various choices of D, each closed trail satisfying the important property that each set
of 3 consecutive edges induces a path. These closed trails are eventually connected
into a single closed trail in the proof of Lemma [3.3.7 Close attention is paid to
the first and last edges in each closed trail so that when two such closed trails are
concatenated the property that each set of 3 consecutive edges induces a path is
maintained. In Lemma this single closed trail is used to construct 5-cycles of
Types A, B, and C.

Within Lemmas [3.3.143.3.5, at times it will cause no confusion to simply use T;
instead of T;(D) to denote a trail of G, (D) that begins on vertex i.

Lemma 3.3.1. Let D be a multiset consisting of x copies of each of v/2 and v/3.
For some integer w there exists a closed trail system {T; = T;y(x{v/2,v/3}) | i € Zy}
of G,(D) such that for each i € Zy,:
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(i) each set of 3 consecutive edges in T; induces a path,

(i1) the first edge of T; is an edge of difference v/3, the second edge of T; is an edge
of difference v/2, the last edge of T; is an edge of difference v/2, and the second
to last edge of T; is an edge of difference v/3, and

(11i) T; starts on vertex i.

Proof. Since 2 and 3 divide v, let v = 6w. Each component of G,({v/3,v/2}) is
isomorphic to Gg({2,3}). Since T" = (0,4,1,5,2,0,3,1,4,2,5,3,0) is a closed trail
that satisfies conditions (i-i7) for G,({2,3}), each closed trail 7' can be concatenated
with another copy of T" such that Conditions (i-i7) are satisfied. For each i € Z,,, form
T; from [[;_, T by multiplying each vertex in the trail by w and adding i. Clearly
conditions (i-iii) are satisfied by each closed trail T;. So {T; = T;(x{v/2,v/3}) | i €
Zu} is a closed trail system of G, (D) that satisfies Conditions (i-7ii). O

Lemma 3.3.2. Let D be a multiset consisting of x copies of each of v/3 and v/6.
For some integer w there exists a closed trail system {T; = T;(x{v/3,v/6}) | i € Z,}
of G(D) such that for each i € Z,,:

(i) each set of 3 consecutive edges in T; induces a path,
(i1) T; can be chosen so that the first two edges are either {i,i + v/6} and {i +
v/6,i+v/6 —v/3} or {i,i —v/6} and {i —v/6,i —v/6 +v/3},
(iii) the last two edges of T; are both edges of difference v/3, and
(iv) T; starts on vertex i.

Proof. Each component of G,({v/3,v/6}) is isomorphic to G¢({1,2}), so the re-
quired closed trail T; can be formed from the concatenation of x copies of T =
(0,1,5,4,3,2,0,5,3,1,2,4,0) or of ' = (0,5,1,2,3,4,0,1,3,5,4,2,0) (the choice is
determined by the choice for the first and second edges of T; in Condition (ii)) by
multiplying each vertex in the trail by v/6 and adding i. Clearly Conditions (i-iv)
are satisfied in each closed trail T;. So {T; = T;(x{v/3,v/6}) | i € Z,} is the required
closed trail system. O]

Lemma 3.3.3. Let D be a multiset consisting of x copies of v/3 and x elements in
x{1,2,...,|v/2|} \ {v/2,v/3,v/6}. Let j, k € Zy. For some integer w there exists
a closed trail system {T; = T;(D,v/3) | i € Zy} of G,(D) such that for each i € Z,,:

(i) each set of 3 consecutive edges in T; induces a path,

(i) the first edge in T; is an edge of a difference in D \ x{v/3},
(1) the last two edges of T; are edges of difference v/3,

(iv) T; starts on vertex i, and

(v) if d € D and ged({d,v/3,v}) =1 then E(G,({d,v/3})) C E(To(D,v/3)).

Proof. Let D be a multiset consisting of = copies of v/3 and x elements in x{1,2,...,|v/2]|}\
x{v/2,v/3,v/6}. For each d € D \ x{v/3}, name the components of G,({d,v/3})
with G(d,7) for 0 < i < ged({d,v/3,v}), where G(d,i) contains vertex i. It is
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convenient to define G(d,7) to be empty if i > ged({d,v/3,v}). Notice that this im-
plies that if ged({d,v/3,v}) = 1 then G(d,0) = G,({d,v/3}), so E(G,({d,v/3})) C
E(Ty(D,v/3)) as required by (v). We now form the required trail system as follows
in which for each i € Z, T;(D,v/3) is a closed trail of e p\ 44,3y G(d; 7).

By Theorem [3.1.1] for each i € Z, and each d € D \ z{v/3}, if G(d,%) is not
empty then it can be decomposed into 2 Hamilton cycles Hy(d,i) and Hs(d,q). It
is clear that in G,({v/3,d}) there are no 2-cycles, and since v/6 ¢ D the only 3-
cycles are components of G,({v/3}). Clearly the edges between the vertices in ¢(i) =
{i,i+v/3,i42v/3} cannot all appear in the same Hamilton cycle, so we can assume
that:

(1) Hi(d,1) and Hy(d,7) contain one and two edges in ¢(i) respectively, and
(2) vertex i is incident with edges of difference d and v/3 in each of H;(d,i) and
H2<d> Z)

Let H,(d,i) start on the edge of difference d, so by (2) it will end on the edge of
difference v/3. Let Hy(d, ) start on the edge of difference d, so by (1) it must end on
two consecutive edges of difference v/3. Then clearly Hy(d,i)Hs(d, ) has no set of 3
consecutive edges that induces a cycle. Since v/6 ¢ D and each Hs(d,7) ends with
two edges of difference v/3, Ti(D,v/3) = ]scp\ofuyay Hi(d, i) Ha(d, 2) also satisfies
condition (i), so T;(D, v/3) is a closed trail of Jye p\ ,4,/3) G (d. 1) satisfying Conditions
(i-iv). Therefore {T;(D,v/3) | i € Z,} is the required closed trail system. O

Lemma 3.3.4. Let D be a multiset consisting of x copies of v/2 and x elements in
x{1,2,...,|v/2]} \ x{v/2,v/3,v/4}. For some integer w there exists a closed trail
system {T; = T;(D,v/2) | i € Zy} of G,(D) such that for each i € Zy,:

(i) each set of 3 consecutive edges in T; induces a path,

(11) T; can be chosen so that if the first and second edges of T; are e;1 and e;2
respectively then (e;1,e;2) is any of the 8 elements of {({i,i + (—1)7y}, {i +
(=1y,i + (=1)y + (=1)k2}) | {y,2} = {v/2,d},j,k € Zy} for some d €
D\ (z{v/2}),

(11i) exactly one of the last two edges of T; has difference v/2,

(i) T; starts on vertex 1,

(v) if d € D and ged({d,v/2,v}) =1 then E(G,({d,v/2})) C E(To(D,v/2)),

(vi) for any df € D\ x{v/2} if T; contains an edge of difference d} then the last
edge of T; has difference d} orv/2, and

(vii) if 2 € D\ (z{v/2}) then E(G,({2,v/2})) C
B(UE D 1D, v/2)).

Proof. Let D be a multiset consisting of x copies of v/2 and x elements in {1, 2, ...,
lv/2]} \ x{v/2,v/3,v/4}. For each d € D\ (z{v/2}), let v'(d) = v/ ged(v,v/2,d)
and d = d/ged(v,v/2,d). Then each component of G,({v/2,d}) is isomorphic to
Gy ({v'(d)/2,d'}). Note that one of v'(d)/2 and d’ must be odd. If at least one of
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them is even then a closed trail of Gy 4 ({v'(d)/2,d'}) can be formed by alternately
adding v'(d)/2 and d' (or choosing to always add —d' instead of d') to reach the
next vertex in the closed trail, starting with an edge of either difference. If both
v'(d)/2 and d’ are odd then a closed trail of G q)({v'(d)/2,d'}) can be formed by
alternately adding v'(d)/2 and d’ (or —d’) for the first half of the closed trail, again
starting with an edge of either difference, then alternately adding v'(d)/2 and —d’
(or d’ respectively) for the second half of the closed trail. In this manner we can
find closed trails in each component of G,({v/2,d}) which provide the required four
choices for the first two edges, always ensuring that exactly one of the last two edges
has difference v/2 which satisfies Conditions (i¢) and (7i).

We now concatenate these closed trails to form the required closed trail system.
Care must be taken to ensure that no 2-cycle and no 3-cycle is formed when two
such trails (constructed using two elements of D\ xz{v/2}) are concatenated. This is
always ensured by carefully choosing the first two edges of the second path, based on
the last two edges of the first path. If the first path ends on an edge of difference v/2
then since d # v/4 the choice of starting the second path with an edge of difference d
or —d allows 3-cycles to be avoided. If the first path ends on an edge of difference d’
then starting the second path on an edge of difference v/2 and appropriately choosing
the second edge to have difference d or —d again avoids any 3-cycle.

For each d € D \ x{v/2} in turn, if i < ged({v/2,d,v}) then let P;,({v/2,d})
be the closed trail starting on vertex i in G,({v/2,d}) chosen as just described (so
this is dependent on the order in which the trails are concatenated), and if i >
ged({v/2,d,v}) then let P;({v/2,d}) = @. Notice that if ged({d,v,v/2}) = 1, then
G,({v/2,d}) is a single component, so F(G,({d,v/2}) C E(Ty(D,v/2)) as required
by (v). Also, notice that if 2 € D\ (z{v/2}) then ged({2,v/2,v}) = 1 or 2 and so
Pi({v/2,2}) = @ for ¢ > 0 or i > 1 respectively as required by (vii). So for each i €
Ly, Ti(D,v/2) = [Laep\(wtoyay) Fi({v/2,d}) where the last trail in this concatenation
is P;({v/2,d;}) (so (vi) is satisfied) is a closed trail satisfying Conditions (i-vii) and
so {T;(D,v/2) | i € Z,} is a closed trail system of G, (D) satisfying all of the listed
conditions. ]

In subsequent proofs, edges of difference v/5 can be problematic when trying to
avoid 3-cycles in the concatenation process, so the following lemma uses a difference
d* at the end of the trail to separate edges of difference v/5 from edges in the next
trail. To this end, d* cannot be 2v/5.

Lemma 3.3.5. Let D be a multiset in which each element is v/5 except for a single
element

d* ¢ {v/2,v/3,v/5,2v/5}. For some integer w there exists a closed trail system
{T; =T;(D,v/5) | i € Zw} of G,(D) such that for each i € Zy:

(i) each set of 3 consecutive edges in T; induces a path,
(i) the first and second edges of T; can be chosen to be either {i,i + v/5} and
{i +v/5,i+ 2v/5}, or {i,i —v/5} and {i —v/5,i — 2v/5},
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(i1i) T; ends on an edge of difference d*,
(iv) T; starts on vertex i, and

(v) if ged({d*,v,v/5}) = 1 then E(G,({d*,v/5})) C E(Ty(D,v/5)).

Proof. Let D be a multiset in which each element is v/5 except for a single element
d* & {v/2,v/3,v/5,2v/5} and let k = (v/5)/ged({v/5,d*}). Let P;({v/5}) be the
Euler tour of one component of G,((|D|—1){v/5}) chosen to meet condition (i¢) (use
edges of difference (—1)7v/5 for the appropriate j € Zy to form the trail). The edges
of difference d* can be used to connect these tours as follows. If i < ged({v/5,d*})
then let

T, = (H e+ ({v/5}) (Jd* + 14, (J +1)d*—|—z)> (kd*+1, (k+1)d" +1,...,—d" +1,1).

JEZLy

Then {T; = T;(D,v/5) | i € Zy,} is a closed trail system of G,(D) satisfying Condi-
tions (i-iv). Notice that this implies that if ged({d*,v/5}) = 1 then G,({d*,v/5}) is
a single component, so E(G,({d,v/5})) C E(To(D,v/5))). O

Each of the Lemmas to extend the definition of T} so that if i € Z,\ Z,,
then define T; = @. This will be important because trails formed using different
lemmas will be concatenated, but the value of w may change from lemma to lemma.

Lemma 3.3.6. Let the following trails be of those described in Lemmas [3.3.],
and with multisets Dy, Do, D3, Dy and Dy respectively are the mul-
tisets satisfying the respective conditions. Then in each case by judicious use of the
choice available (as described in each lemma) for the first two edges of the second com-
ponent trail, the following trails can be constructed so that each set of 3 consecutive
edges induces a path:

(1) Ti((1D1l/2){v/2,v/3})Ti((|Ds/2){v/3,v/6}),
(1) Ti((|D1]/2){v/2,0/3})Ti(Ds,v/3),
(iii) Ti((|D1]/2){v/2,v/3})Ti( Dy, v/2),
(i) Ti((|Dr]/2){v/2,0/3})Ti(Ds, 0/5),
(v) Ti((| Dal/2){v/2,v/3})Ti({d}) where d & {v/2,v/3,v/6},
(vi) Ti((|Ds|/2){v/3,v/6})Ti(Ds, v/3),
(vii) Ti((|Da| /2){v/3,v/6})Ti( Dy, v/2),
(viir) Ty((|D2|/2){v/3,v/6})Ti(Ds, v/5),
(iz) Ti(( ) )Ti(
(Ds, v/3)T, )
( )
( )
( )
( )
( )

(x) T;

|Dsy|/2){v/3,v/6})T;({d}) where d & {v/3,v/2},
3, U/3 (D4,U/2 5

(zi) T;(Ds3,v/3)T;(Ds,v/5),

(zii) Ty(Ds,v/3)T;({d}) where d & {v/2,v/3,v/6},
(ziii) T;(Dy4,v/2)T;(Ds,v/5),

(ziv) T;(Dy,v/2)T;({d}) where d & {v/2,v/3},

(zv) T;(Ds,v/5)T;({d}) where d & {v/2,v/3}, and
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(zvi) T;({d})T;({d'}) where d,d" & {v/2,v/3,v/5}.

Proof. Let Dy, D, D3, Dy, and D5 be multisets defined as D is in Lemmas [3.3.1] 3.3.2]
3.3.3] 3.3.4] and respectively. Then by Lemmas [3.3.1], [3.3.2] 3.3.3], [3.3.4] and
B-3.8 let Ty(|D1[/2{v/2,v/3}), Ti(IDal/2{v/3,v/6}), Ti(Ds,v/3), T;(Ds,v/2), and
T;(Ds,v/5) respectively be the closed trails that satisfy the conditions outlined in
the lemmas. Since in each case d,d’ ¢ {v/3,v/2}, each set of 3 consecutive edges in
T;({d}) and in T;({d’'}) induces a path. Therefore, in each case it remains to show
that the choices permitted in how the trails start and end described in the lemmas
can be exploited to ensure that as two trails are concatenated, the last 1 or 2 of the
edges from the first closed trail followed by the first 2 or 1 edges from the second
closed trail respectively induce a path.
Suppose the first of the two closed trails to be concatenated is T;(| D1 | /2{v/2,v/3}).

By Lemmal3.3.1] the last edge of T;(| D1 |/2{v/2,v/3}) is an edge of difference v/2, and
the second to last edge of T;(|D1|/2{v/2,v/3}) is an edge of difference v/3. Choose
the first and second edge of the following trail as indicated:

e choose the first and second edge of T;(|Ds|/2{v/3,v/6}) to be {i,i +v/6} and
{i+v/6,i+v/6—v/3} or {i,i —v/6} and {i —v/6,7—v/6 + v/3} respectively;

e choose the first and second edge of T;(Ds3, v/3) to be {i,i—v/3} and {i—v/3,i—
v/3—ds} or {i,i+v/3} and {i+v/3,i+v/3+ d3} respectively where d3 € Ds;

e choose the first and second edge of T;(Dy4, v/2) to be {i,i+v/2} and {i+v/2,i+
v/24dy} or {i,i+v/2} and {i+v/2,i4+v/2 — dy} respectively where dy € Dy;

e choose the first and second edge of T;(Ds,v/5) to be {i,i+v/5} and {i+v/5,i+
2v/5} or {i,i —v/5} and {i —v/5,i — 2v/5} respectively; and

e choose the first and second edge of T;({d}) to be {i,i + d} and {i + d,i + 2d}
respectively (since d & {v/2,v/3,v/6}).

This settles Conditions (i-v).

Now suppose the first closed trail is T;(]Ds|/2{v/3,v/6}). By Lemma the
last two edges of T;(|Da|/2{v/3,v/6}) are edges of difference v/3. The first vertex in
the second trail is of course vertex i, so it remains to ensure that the second and third
vertices in the second trail avoid v/3 and 2v/3 respectively, or avoid 2v/3 and v/3
respectively, depending on whether the last edge of T;(| D1 |/2{v/2,v/3}) is {i,i4+v/3}
or {i,i 4+ 2v/3}. In Case (vi) this is accomplished by Lemma [3.3.3{77), noting that
v/6 & Ds. This settles conditions (vi-iz).

If T;(Ds,v/3) is the first closed trail then since the last two edges of T;(Ds, v/3)
are both edges of difference v/3, it follows that each set of 3 consecutive edges
in T;(Ds3,v/3)T;(Dy,v/2), T;(Ds,v/3)T;(Ds,v/5), and T;(Ds,v/3)T;({d}) (since d &
{v/2,v/3,v/6}) induces a path.

Suppose the first closed trail is T;(Dy,v/2). Since one of the last two edges of
the closed trail T;(Dy,v/2) is an edge of difference v/2 and we have a choice of the
first two edges of the closed trail 7;(Ds, v/5), it follows that each set of 3 consecutive
edges in the closed trail T;(Dy, v/2)T;(Ds,v/5) induces a path. Since d & {v/2,v/3},
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we can choose the first two edges of T'({d}) to be either {i,i + d} and {i,i + 2d} or
{i,7 —d} and {i,7 — 2d} respectively so that each set of 3 consecutive edges in either
T;(D4,v/2)T;((d)) induces a path.

If the first closed trail is T;(Ds, v/5) then since d* € D5 with d* ¢ {v/2,v/3,v/5,2v/5}
and d € {v/2,v/3,v/5}, it follows that we can choose the first two edges of T;({d})
so that each set of 3 consecutive edges in the closed trail T;(Ds,v/5)T;({d}) induces
a path.

Finally, we can choose the first two edges of T;({d'}) so that each set of 3 con-
secutive edges in the closed trail T;({d})T;({d'}) induces a path. O

For the multiset D, let mp(d) be the number of times d appears in D. Note that
we use the convention G,({d}) = G,(d) to simplify notation.

Lemma 3.3.7. Let v > 3 be a positive integer. Let D be a multiset, each element of
which is in {1,2,..., |v/2]}. Suppose that the following conditions hold:

(A) D contains a difference

{1 ifv#5 (mod 10) and
d1 =

4 otherwise

and another difference dy & {v/2,v/3,v/4,v/5,2v/5} (possibly ds is a second
copy of dy in D);

(B) 2mp(v/2) + mp(v/4) + € < |D\ {d1}|, where e = 1 if {v/2,v/3,v/6} C D\
{d1,d>}, mp(v/2) > mp(v/3), andmp(v/6) > mp(v/2)—min({mp(v/2),mp(v/3)})
and € = 0 otherwise; and

(C) 2mp(v/3) + mp(2v/5) < |D\ {d1}|.

Then there ezists a closed trail of G,(D) in which each set of 3 consecutive edges
mduces a path.

Proof. To form the required trail decomposition 7 of G, (D), we begin by partitioning
D into the 7 sets Dy, Dy, ..., Dg, and {d;} defined as follows. D will actually be
partitioned in two different ways, depending on the occurrences of the differences
v/2, v/3, and v/6 in D (as will be seen, this actually relates to whether or not a
single copy of the difference v/3 needs to be set aside so as to be paired with a single
copy of the difference v/6).

First, suppose that

{v/2,v/3,v/6} C D\ {dy,d>}, mp(v/2) > mp(v/3), (3.2)
and mp(v/6) > mp(v/2) —min({mp(v/2),mp(v/3)});

so in Condition (B), e = 1. Let D; consist of 2y = mp(v/3)—1 copies of both v/2 and
v/3. Let Dy contain mp(v/2) — z; copies of v/2 and mp(v/2) — z; differences in 6, =
D\ (D1U(mp(v/2) —z1){v/2} Ump(v/4){v/4} U{dy,v/3}); choose these differences
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in Dy so that dy € Dy only if Dy U D4 contains all of the differences in D besides
mo(0/4){0/41U{ds, v/3} (i.e. only if [Dy]+|Ds| = | D\ (mp(v/4){o/4LU{dr, v/3})]).
Notice that Dy U D4 contains z; +mp(v/2) — 2y = mp(v/2) copies of v/2 (that is, all
the copies of v/2 in D). Also notice that by Condition (B) it follows that

|04] = [D\A{d1}| =mp(v/2) = 21 —mp(v/4) — 1
>2mp(v/2) + mp(v/4) +1 —mp(v/2) — 21 —mp(v/4) — 1
=mp(v/2) —2 >0

so dy4 is large enough for Dy to be well defined. Let D, contain 1 copy of both v/6 and
v/3. Notice that D; U Dj contains all copies of v/3 in D. If 2v/5 € D\ (D1 UDyUDy)
then let D5 contain mp\(p,up,uny)(v/5) copies of v/5 and a single copy of dy and
otherwise, let D5 = @. Let Dg contain all of the remaining differences in D (i.e.
D6 =D \ (D1 U DQ U D4 U D5 U {dl}))

Second, suppose that

{v/2,v/3,v/6} Z D\ {d1,d2}, mp(v/2) < mp(v/3), (3.3)
or mp(v/6) < mp(v/2) —min({mp(v/2),mp(v/3)});

so, in Condition (B), € = 0. Let D; consist of zo = min({mp(v/3), mp(v/2)}) copies
of both v/2 and v/3. Let D4 contain mp(v/2) — 2z copies of v/2 and mp(v/2) — 2
differences in 04 = D\ (D U (mp(v/2) — 22){v/2} Ump(v/4){v/4}); choose these
differences in D, so that D, contains as many copies of v/6 as possible and so that
dy € Dy only if Dy U Dy contains all of the differences in D\ ({di} Ump(v/4){v/4})
(i.e. only if |Dq|+|Dy| = |D\ ({di} Ump(v/4){v/4})|). As before, D; U D, contains
29 +mp(v/2) — z9 = mp(v/2) copies of v/2. Also notice that by Condition (B)

|04] = [D\A{d1}| = mp(v/2) = 22 — mp(v/4)
> 2mp(v/2) + mp(v/4) —mp(v/2) — 2o — mp(v/4)
=mp(v/2) — 2, > 0,

so 04 is large enough for D4 to be well defined. It will be important to note that
under the set of assumptions in (3.3)) one of the two following statements (i.e. (3.4)

or (3.5)) must hold.
Case A: Suppose {v/2,v/3,v/6} C D and either mp(v/2) < mp(v/3) or

mp(v/6) < mp(v/2) —min({mp(v/2), mp(v/3)}).
Notice that in this case if mp(v/2) < mp(v/3) then v/3 € D\ (Dy U Dy), and if
mp(v/6) < mp(v/2) — min({mp(v/2),mp(v/3)}) then since D, contains as many
copies of v/6 as possible, v/6 € D \ (Dy U D). Therefore the following is true:

if v/6 € D\ (D1 UDy) then v/3 € D\ (Dy U Dy). (3.4)
Case B: Suppose {v/2,v/3,v/6} Z D. Then clearly the following is true:
if v/6 € D then {v/2,v/3} Z D. (3.5)
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Returning to the partitioning of D under the set of assumptions in (3.3)), Do contains
min({mp(v/3) — 22, mp\p,(v/6)}) copies of both v/6 and v/3. Note that by (3.4) in
Case A,

if v/6 € D\ (D1 U Dy) then Dy # @. (3.6)
Let Ds contain y = mp(v/3) — 2o — min({mp(v/3) — 22, mp\p,(v/6)}) copies of v/3
together with y differences in
03 = D\ (mp(v/2){v/2}Ump(v/3){v/3}Ump(v/6){v/6} Ump(2v/5){20/5}U{d1});

choose these differences in D3 so that dy € D3 only if DU DyUD3U Dy contains every
difference in D except dy (i.e. only if |Dy| + |Ds| + |Ds| + |D4| = |D \ {d1}]). Notice
that since D3 # @ implies mp(v/2) < mp(v/3) and mp(v/3) — 22 > ma p,(v/6), and
by Condition (C')

16| = |ID\ {d1}| —mp(v/2) —mp(v/3) —mp(v/6) — mp(2v/5) if D3 # @,
70 if Dy = @

S ) 2mp(v/3) +mp(2v/5) —mp(v/2) —mp(v/3) —mp(v/6) —mp(20/5) if Dy # &,
10 if D3 = o

_ {mD(U/?’) —mp(v/2) —mp(v/6) if D3 # @,

0 if D3 = o
_ mp(v/3) — min({mp(v/2),mp(v/3)}) — min({mp(v/3) — z2,mp(v/6) if D3 # @,
0 if D3 =@

_ Jmp(v/3) = 20 —min({mp(v/3) — z2,mp(v/6) if D3 # &,

o if D3 = 2.
Then there are enough differences in D\ (D;UDyU Dy) to construct Ds as described.
If 2v/5 € D\ (D1 UDyU D3U Dy) then let D5 contain mp\(p,up,upsup,)(v/5) copies
of v/5 and a single copy of ds and otherwise, let D5 = &. Let Dg contain all of the
remaining differences, i.e. Dg = D \ (D; U Dy U D3 U Dy U D5 U {d;}).

Form a sequence S = (51, 52, ..., 5pg|+5), the elements of which form a partition

of D\ {d,} where s, = Dy, for k € {1,2,3,4,5} and sg, 57, . ., S|pg|+5 are sets of size 1
such that ULi%HS sk = Dg; by choosing the copies of the difference 2 in Dg to appear
as early as possible in this ordering, we can assume that

if S|Dg|+5 = {2} then D6 = |D6|{2} (37)

Then by Lemmas[3.3.1}3.3.5]for each i € Z, we can form closed trails T;(| D1 |/2{v/2,v/3}),
T:(|Do|/2{v/3,v/6}), Ti(D3,v/3), T;(D4,v/2), and T;(Ds, v/5) respectively in each of
which every set of 3 consecutive edges induces a path. Let ds, d4, and d5 be v/3, v/2,
and v/5 respectively. So for each i € Z, define the concatenation

| Dg|+5

7i = Ti(| D1l /2{v/2,v/3})Ti(| Da| /2{v/3,v/6}) (HTz‘(Dkadk)> [T 7its)

41



of these trails. Note that some of the trails being concatenated may be empty.
It will be important later to note that

if d € D\ {di} and ged({d,v}) =1 then E(G,({d})) C 7o; (3.8)

this follows by applying Condition (v) of Lemmas to T;(Dg, dy,) for k = 3,
4, and 5 respectively, and the fact that G,({d}) is connected (so T;({d}) is empty if
i>0).

To check that 7; has the property that no 3 consecutive edges form a cycle of
length 2 or 3 consider the following. So the concatenation of each pair of trails making
up 7; must be considered, but this is done in Lemma|3.3.6|in all cases except one. The
one case not considered is when T;(|D;|/2{v/2,v/3}) is followed in the concatenation
by T;({v/6}) (this could happen if Dy = @ for 2 < k <'5). If this case did occur, a 3-
cycle would necessarily be formed by 3 consecutive edges (such as (i+v/3,1,i4+v/6, i+
v/3)), but by (3.4), (3.5), and the concatenation T;(|Dy|/2{v/2,v/3})Ti({v/6})
will never occur in 7;. If we are in Case B then this is clearly so since by
one of the trails T;(|D1]/2{v/2,v/2}) or T;({v/6}) is empty. Otherwise, since the
value of w is the same in Lemmas and [3.3.2} if T;(|Dy|/2{v/2,v/3}) # @
then T;(|D2|/2{v/3,v/6}) # @. If v/6 € D\ (D; U Dy) then since Dy # @ (by
(3.6) if we are in Case A), the concatenation of T;(|Dy|/2{v/2,v/3})T;({v/6}) will
never occur in 7; under the set of assumptions in (3.2]), nor under the set of assump-
tions in . In other words, in such a situation 7; is formed by first concatenat-
ing T;(|D1|/2{v/2,v/3}) with T;(|Da|/2{v/3,v/6}) which is then concatenated with
T;({v/6}). Thus by Lemmal[3.3.6]every set of 3 consecutive edges in 7; induces a path.

It is critical to note that for all i > 1 we still have the choice available (as de-
scribed in Lemmas to for the first two edges in the first component trail
in 7.

The final step in forming the required closed trail 7 is to use the edges in G, ({d;})
to connect the trails 7;, © € Z,. In so doing, we need to make sure that we maintain
the property that every set of 3 consecutive edges induces a path. To do so, it turns
out that even more flexibility is required since 7y and 7,5 may need to be replaced
with the reverse trails 7, and 7, respectively defined formally in the next paragraph.
This choice is only needed for 7y and 74, and not for =; if i ¢ {0,d;}; 7o is unusual
because from (3.8)), if there is an edge of difference d where ged({d,v}) = 1, then this
edge could only be found in 7.

Let {i,i + fi1} and {i + fi1,i + fi1 + fi2} be the first and second edges of 7
respectively. Similarly, let {i — f; -1 — fi—2,i— fi—1} and {i — f; _1,4} be the second-
to-last and last edges of 7; respectively. Let 7,7 denote the closed trail formed by
mapping each edge {71, 72} in the closed trail 7; to the edge {—j1 + 2¢, —jo + 2i} in
7, . (Informally, 7;~ is formed from 7; by also starting at vertex i but proceeding in
the reverse direction around the v vertices.) So clearly 7;” has the property that each
set of 3 consecutive edges induces a path.
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We are now ready to define the required trail 7.

Ifdy € {—fo—1,—(fo—1+ fo—2)}, or (P7)
if both _f(],—l = 2d1 and Tdy, = (%] (PH)

(i.e. d; is one of the second-to-last or third-to-last vertices in 7y or 2d; is the second-
to-last vertex in 79), then begin 7 with 7 = 7, and

otherwise begin 7 with 75 = 7o. (Piii)

Extend the trail by concatenating 75 with the trail (0,d;) of length 1. Recursively
define 7 for all © > 1 as follows:

For all i +dy > 0if 7314, # @, 7, # @, and d1 + fiya, 1 € {0, —f7 1} (Piv)
where {i,i — f;_;} is the last edge of 7;

then 7, = 7., and otherwise 7 ; = Tiyq,. For all i € Z, let {i,i + fj}, {i +

frni+ i+ flah i = fioy — figi— fi_1}, and {i — f7_,,i} be the first, second,
second-to-last, and last edges of 7;. Then define

|
—_

T = (T;il (idl, (Z -+ 1)d1)) .

i

Il
=)

It now requires some effort to show that all sets of 3 consecutive edges that contain
the edge {id;, (i + 1)d; } induce a path, especially in the case when i = 0.

If 79(0, dy) contains 3 consecutive edges that form a cycle then d; must be one of
the last 3 vertices of 19, so d; € {0,—fo—1,—(fo—1 + fo—2)}, in which case 7§ = 7
since clearly d; # 0. To see that not both 74(0,d;) and 7, (0,d;) can contain 3
consecutive edges that form a cycle, suppose that dy € {—fo—1, —(fo—1 + fo—2)} N
{f0,71, f0771+f07,2}. First note that if d; = —(f0,71+f07,2) then dy # fo,—1+ fo,—2 and
sody = fo_1. Similarly if dy = — fy _; then dy = fo._1+ fo,—2. Therefore in either case
the last two edges of 7y and 7, have difference d; and 2d,. But by Lemmas|3.3.113.3.5
the last two edges of 7y are either both edges of the same difference or one of the two
edges has difference v/5 or v/2. Since d; ¢ {v/2,v/5}, it is impossible for both 7,
and 7, to have the vertex d; in the last three vertices of either trail. So 7 has been
chosen such that every 3 consecutive edges in 75(0, d;) induces a path.

To see that 75(0,d;)7; when 7; # @ does not contain 3 consecutive edges
that form a cycle, consider the following. First note that since ged({dy,v}) = 1
by Condition (A), if d = dy and d € D \ {d,} (that is, d is another copy of d; in
D) then E(G,({d})) C E(77), so neither the second vertex of 7,4 nor the second
vertex of 7, equal 0 (the last vertex of 75). Second, note that if Ty, (D4, v/2) is the
first trail in 77 then by Lemma W(u), the preamble in Lemma , and since
mp(v/2){v/2} C Dy U Dy, we can choose the first edge of Ty, (D4, v/2) to not have
difference v/2. Therefore if dy + fo,1 = —f5_; (so 75, = 7;) then dy — fa,1 # —f5 4
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(for otherwise subtracting this equality from the first implies that 2f; 1 = 0, so
fa,1 = v/2), so the second vertex of 7; is not —f5 ;.

To finish showing that each set of 3 consecutive edges in 7(0,d;)7; induces a
path, we must show that the third vertex of 74,, namely dy + f7, | + fj, 2, 1S not
v. Since d; > 0, we need only show that the third vertex of 77, namely d; +
fi,1+ Jfd, 2, is not 0. This requires considering several cases, most of which rely on
the claim that ged({fj, 1, fi, 2,v}) # 1 (later we will show that if f7 ; # fj , then
ged({fi, 1, fi,23) # 1) I £ | = fi, o (that is, the first two edges of 7, have the same
difference) then dy + f7 | + fi, 2 # 0, for otherwise dy =v — f; | — fi o =v —2f] ,
contradicting the facts that ged({v, f7 }) # 1 (by ), and ged({v,d,}) = 1 (by
Condition (A)). So we can assume that the first two edges of 7; have different
differences: f7 | # fi - Then the first trail in 7; cannot be Ty, ({d}) for any
difference d € Dg and cannot be Ty, (D5,v/5) by Lemma (since in such cases
the first two edges have the same differences). So the first trail in 7; must be
one of the following: Ty, (|D1]/2{v/2,v/3}), Tu,(|D2|/2{v/3,v/6}), T4, (Ds,v/3), or
T4, (Dy,v/2). If the first trail of 77 is Ty, (D3, v/3) or Ty, (D4, v/2) then di + f ; +
fi,2 # 0 since otherwise ged({v,d;}) = 1 would mean that ged({fj, |, f1,2}) = 1
which contradicts Lemma |3.3.3((v) or|3.3.4(v) respectively (since then ged({d, d’,v}) =
1 where d' = v/3 or v/2 respectively and {f] ;,fi .} = {d,d'}, so these edges
would be in 7§ instead of 7 ). If the first trail of 7 is Tq, (|D1]/2{v/2,v/3}) or
T, (|D2|/2{v/3,v/6}) then dy + f7 | + fi o # 0 since otherwise by the descriptions
of the first two edges of the trails constructed in Lemmas [3.3.1| and [3.3.2, d; = v/6
so by Condition (A4), v = 6, and so these edges would be in 7§ instead of in 75 . So
each set of 3 consecutive edges in 73(0, d1)7; induce a path.

It remains to show that in each of the following trails T" every set of 3 consecutive
edges induces a path:

o if i >0 then T'= (i,i + dy,i + 2dy,7 + 3dy);
o ifi> 0,7, #3,and 77 # @ then T' = 7/ (4,7 + d1)7}" 4,;

o ifi >0, 7., =@ and 7/, # @ then T' = (4,4 + dy,i + 2d1)7; 5, (by (A)
and the definition of 7 this only happens if d; = 4, so v =5 (mod 10)); and

o ifi>0,7#a, 1), = then T =7/(i,i +dy,i+ 2d,).

We consider each of the four remaining cases in turn.

First since v > 3, it is clear that (i,7 + dy,7 + 2d;, i + 3d;) is a path.

Second suppose that i > 0, 77, ; # 9, and 77" # &. We only need to consider the
sets of 3 consecutive edges in 7;(i,7 + d1)7}, ;, which contain {4,i 4 d;}. So we need
to show that: (a) i+dy #i—f7 , (b)i #Fi+di+fiy 1 (¢)itdi#Fi—fi | —f o,
(d) i = fiy #i4+di+ flig and (e) @ # i+ di + flig1 + fira2- By
and since i > 0, i +dy # i — ff and i # i+ di + ff, 1, s0 (a) and (b) are
true. To see (d), first we use the flexibility in the component trails (see preamble of
Lemma|3.3.6|) to ensure that 7, ; does not begin with an edge of difference v/2. This
follows by condition (i7) in Lemmas [3.3.4] and [3.3.5] opting to choose the first edge

in Tjyq,(Ds,v/2) to not have difference v/2 if it is the first trail in 7%, . Therefore
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by (Piv), if i — f7 ) =i+ dy+ fiya,n then 77y =74 s0i— f7_| #i+di— fiyaa
(for otherwise subtracting this equality from the first implies that 2f; 41 = 0, so
fivarn = v/2). Similarly by a ifti— fi 4 =1i+d — fiya1 then 77, = Tirq
801 — fy #i+di+ fiza,1- So (d) is true regardless of which of the two values,
*firar1, fiia, 1 takes on. We now turn to showing (c) is true. If f7 | = f/,
then @ +dy # i — f7 | — [ for otherwise dy = —f | — f;_, contradicting that
ged({v, fi1}) # 1 (by ) and ged({v,d;}) =1 (by (A4)). So we can assume that
fi_1 # fi_y. Notice that the last trail in 7;° cannot be T;({d}) for any difference
d € Dg and cannot be T;(|Dsy|/2{v/3,v/6}) or T;(D3,v/3) by Lemmas|3.3.2| and [3.3.3|
(since in such cases the last two edges have the same difference). So the last trail
in 77 must be one of the following: T;(|D1|/2{v/2,v/3}), Ti(Dy,v/2), or T;(Ds,v/5).
If the last trail of 7 is Tj(Dy4,v/2) or Ti(Ds,v/5) then i +dy # i — ff 1 — fi,
since otherwise ged({v,d:}) = 1 would mean that ged({v, f{_;, f{ _»}) = 1 which
contradicts Lemma [3.3.4(v) or Lemma [3.3.5|(v) respectively since i > 0. If the last
trail of 77" is T;(| D1|/2{v/2,v/3}) then i+d; # i— f} | — fi_, since otherwise d; = v/6
since ;| + fi_, € {v/2 £v/3} which implies v = 6 by Condition (A) and so these
edges would be in 75 instead of 7. This shows that (c) is true. Lastly, we focus on
showing (e) is true. Since i+d; > O we need only show that the third vertex of 77 4 ,
namely ¢ +dy + f, 4 1 + fi1a, 2, is not i. This requires considering several cases, most
of which rely on the claim that ged({ff\ 4, 1, fira, 2, v}) # 1 (later we will show that
if ffan 7 fiva e then ged({ g, 1 fia28) # D I ffg1 = fiya, o (that is, the
first two edges of 77", ;, have the same difference) then i +dy + f;', 5, 1 + fi'\ 4, 2 # 0, for
otherwise 1 +d; =14+v — ’L+d1 — fiva 2 = 1+tv—2f, ; contradicting the facts that
ged({v, fig,}) # 1 (by (3 ), and ged({v,d;}) =1 (by Condition (A)). So we can
assume that the first two edges of 7,4, have different differences: f7, 1 # fiia o
Then the first trail in 7, cannot be Tii 4 ({d}) for any difference d € Dg and
cannot be T4, (D5, v/5) by Lemma [3.3.5 (since in such cases the first two edges
have the same differences). So the first trail in 7", ; must be one of the followmg
Tiva, (1D11/2(0/2,0/3}), Tovay(1Da]/240/3,0/61), Tiva, (Dy,0/3), 0 Tiygy (D, 0/2). 1

the first trail of 77", ; is Tita, (D3, v/3) or Tiya, (Dy,v/2) then i+di+ f}\ g 1+ f71a, 2 7& i
since otherwise ged({v,di}) = 1 would mean that ged({f} 4, 1, Z+d172}) = 1 which
contradicts Lemma [3.3.3(v) or [3.3.4(v) respectively (since then ged({d,d',v}) = 1
where d' = v/3 or v/2 respectively and {f} 4 ;, Z+d1 o} = {d,d'}, so these edges
would be in 73 instead of 77, ). If the first trail of 77", is Tiq, (|D1]/2{v/2,v/3})
or Tira, (|D2]/2{v/3,v/6}) then i + di + f 4 1 + fiiqo 7 7 since otherwise by the
descriptions of the first two edges of the trails constructed in Lemmas|[3.3.T] and [3.3.2]
d; = v/6 so by Condition (A), v = 6, and so these edges would be in 77 instead of
in 7% 4. So each set of 3 consecutive edges in (4,7 + d1)7;",;, and 75(0,d;)7; induce
a path. So every set of 3 consecutive edges in 7;(i,7 + dy1)7}, 5, induces a path when
i > 0.

Third, suppose that i > 0, 7%, = &, and 7/ ,;, # 9, so v = 5 (mod 10).
We will show that (i,i + dy,7 + 2dq,1 + 2d1 + fiioq1) 18 a path that is we show
that i # i + 2d; + f} o4, This follows since d; = 4 and v = 5 (mod 10), so
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ged({2dy,v}) =1 and by (3.8] gcd ({ fit2d,. 1,1}}) ;é 1 since i + 2d; > 0.

Finally, suppose that i > 0, 77 # &, and 77, = @. We consider the sets of 3
consecutive edges in 7;(i,7 + dy,i + 2d;) that contain the edge {i,i + di}. We will
break this into 2 cases: v =5 (mod 10) and v Z 5 (mod 10).

Case 1: Suppose v = 5 (mod 10); then d; = 4. We need to show that i + 4 #
i— (fry+ fr)im fra #i+4, andi—fiffl #1i+8. By and since v is odd,
if —f7 ,=4or8theni=0. By (P , if —fo,1 =4 then 70 =75 so —f5 | = —4,
and if —fo,-1 = —4 then 75 = 19 50 —f;5 _; = —4; so in any case —f;_; # 4 (since
v # 8). Similarly, by , if —fo—1 = 8 then 77 = 75 so —f7_; = —8, and if
—fo,.1 = =8 then 75 = 19 so —f5 | = —8; so in any case —f; _; # 8 (since v # 16).

—fi_1—fi_o = 4 and the last two edges of 7;" have the same difference, then since v
is odd this difference is 2, so by , i = 0. So by , it —fo_1— fo,—2 =4 and the

last two edges of 7, have the same difference then 75 = 75" so —f5_; — f§_o = —4,
and if —fo_1 — fo—2 = —4 and the last two edges of 7; have the same difference
then 75 = 79 so —fg_; — f§_o = —4. Therefore in any case —f5_; — f§ o # 4. If

*

—Ji_1 — fi_o = 4 and the last two edges of 7/ have different differences then since
v is odd, the last trail in 7;° must be T;(Ds,v/5) (see Lemmas [3.3.113.3.5)). But then
by the definition of Dj, since Dy # &, it follows that 2v/5 € Dg, which contradicts
T;(Ds,v/5) being the last trail in 7;° (since the number of components in G,(Ds)
is at most the number of components in G,({2v/5}), so T;(Ds,v/5) # & implies
T;(Dg) # @). Thus each set of 3 consecutive edges in 7;(i, 7 +4, i+ 8) induces a path.
Case 2: Suppose v # 5 (mod 10); then d; = 1. We need to show that i — f7 | —

JioFi+ 1L o—fi #i+1,and ¢ — f7_; # i+ 2; this is done by contradiction.
First suppose that either —f* ; =1 or —f' ; =2 and v is odd; so by it follows
that © = 0. Then by , if —fo—1 = 1 then 77 = 75 so —f§_; = —1, and by
if —fo—1 = —1 then 77 = 79 so —f;_; = —1; so in any case —f§_, 7é 1.
Similarly, by , if —fo-1 = 2 then 75 = 75 so —f; ; = —2, and by (P if
—fo-1 = —2 then 75 = 79 s0 —f5 _; = —2; so in any case —f5_; ;é 2. Next suppose
that —f_, —f’ 5 = 1 and the last two edges of 7 have the same difference. Then v is
odd and this difference is (v—1)/2, so by and since ged({(v—1)/2,v}) = 1,7 = 0.
By , if —fo,—1 — fo,—2 = 1 and the last two edges of 77 have the same difference
then 75 = 75" so —fg_1 — fo_o = —1, and by (Pui)) if —fo 1 — fo2 = —1 and the
last two edges of 77 have the same dlfference then 75 = 1980 —f5 1 — fg_o = —1; 80
in any case —f5 _; — fg _5 # 1. Now suppose that —f , — f* , =1 and the last two
edges of 7 have a different difference. Then by Lemmas [3.3.]] “- 3.3.5] the last trail in 7'
must be one of the following trails: T;(|D1|/2{v/2,v/3}), T;(D4,v/2), or T;(Ds,v/5).
As described at the end of Case 1, T;(Ds,v/5) cannot be the last trail in 7 (since
20/5 & Dg, so Ds = @, eliminating this case). If T;(|D;|/2{v/2,v/3}) is the last trail
in 7;° then —f | — f 5 # 1 since otherwise {f;_, f; o} = {v/2,£v/3} and sov =6
and ¢ = 0, and thus by we reach a contradiction (since if —fy ;1 — fo,_o = L or —1
then 75 = 75~ or 7 respectively and so in any case —f5 | —f5 5 = —1) If T;(Dy4,v/2)
is the last trail in 77", then —f7 | — f7 , # 1 since otherwise {f;_, i ,} = {v/2,d}
where d € D4\mD4(v/2){v/2} and gcd({d v/2,v}) =1,801 =0 and thus by ([Pd]) we
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reach a contradiction (since if —f5 _; — f5 _, = 1 or —1 then 75 = 7" or 7o respectively
and so —f5_; — f§_, = —1).

Finally suppose that —f7_; = 2 and v is even. The last trail in 77 must be one
of the following: T;(|Dy|/2{v/2,v/3}), T;(|D2|/2{v/3,v/6}), Ti(D3,v/3), T;(Dy,v/2),
T;(Ds,v/5), and T;({2}). If T;(| Ds|/2{v/3,v/6}) or T;(Ds,v/3) is the last trail in 7;
then by Lemma or respectively, the last edge has difference +v/3 = 2,
so v = 6 and 7 = 0, and thus by and we reach a contradiction (since if
—fo,-1 = 2 or —2 then 7} = 7, or 7y respectively and so in any case —f;_; # 2).
Similarly, if T;(]Dy|/2{v/2,v/3}) is the last trail in 7; then by Lemma (zz),
—fiy = +v/2 = 2 and so v = 4, thus v/3 ¢ D, a contradiction. As previously
described, if T;(Ds,v/5) is the last trail in 7 then 2v/5 & Dg, so D5 = @, eliminating
this case.

We now address when the last trail of 7;* is T;({2}) or T;(Dy, v/2), still assuming
that —f | = 2 (so the last edge of 77" has difference 2) and v is even. By (3.8)
and Lemma [3.3.4(vii) respectively, it follows that i < 1 (to apply Lemma Vil
note that ged({v,v/2,2}) € {1,2}). Suppose T;(D4,v/2) is the last trail in 7, and
i = 0. Then by (Pii), if —fo 1 = 2 then 77 = 75 so —f;_, = —2 and by
if —fo,—1 = —2then 75 = 7950 —f;_; = —2; in any case —f5_, # 2. If T;({2}) is
the last trail in 7; then ¢ = 1 (to see that i # 0, note that if ¢ = 0 then since v is
even 7, ; would contain edges of difference 2 thus contradicting 7;',; = @). So in all
cases we can now assume that ¢ = 1. If 71 ({2}) is the last trail in 77, then by (3.7),
mp,(2){2} = Dg. Furthermore, if T7(Dy4,v/2) is the last trail in 7 and if D4 contains
a difference d* not in {2,v/2} then by Lemma[3.3.4(vi) we avoid this case (since then
the last edge in 7 would have difference d* # 2); so in this situation we can assume
that Dy = mp,(2){2} Ump,(v/2){v/2}.

We are now in the case where 77 = & for all j > 2, and the last trail in 77 is either
T1(Dy,v/2) or T1({2}) where Dy = mp,(2){2} Ump,(v/2){v/2} or Dg = mp,(2){2}
respectively. This situation is most easily handled by altering the definitions of 77
and 7;_; by changing 7, and 7,_;. The only change is that one of three things is done
to avoid the new 77 ending on an edge of difference 2:

| De |4+5 | Dg|+5
Ty(Ds,v/2) [] Ti({2}) or T1(Ds,v/2) or [ Ta({2}) is detached (3.9)

from the end of 77" and moved to 7,_; as described below.

This will ensure that 7; (as newly defined) does not end on an edge of difference 2.
We will then need to check that the altering of these trails does not create a 2-cycle
or 3-cycle.

For any trail 7', let m(T") be formed by mapping each vertex ¢ € Z, in the trail
to the vertex ¢ + v — 2 modulo v. Let

T (Dy,v/2) = {W(T1(D4,v/2)) fﬂii;szm(z){z}umD4(v/z>{v/g}, and
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Soif T} _,(Dy4,v/2) # @ then it is a closed trail that begins on vertex v—1 and satisfies
E(T!_{(Dy,v/2)) = E(T1(Dy,v/2)). To see this equality, notice that E(T}(Dy,v/2))

is the set of edges in the component of G,((|D4|/2){2,v/2}) that contains vertex 1;
since v is even, this component also contains the vertex v — 1. Similarly define

7T(T1({2})> if 2 € Dﬁ, and

%] otherwise.

Tzlz—l({Q}) = {

Clearly E(T1({2})) = E(T)_,({2})) and T)_,({2}) starts and ends on vertex v — 1.
Since 7 preserves the distance between consecutive vertices in the trails T (Dyg, v/2)
and 7T1({2}), each set of 3 consecutive edges in 7} _,(D4,v/2) and T, _,({2}) induces
a path. Also, m preserves the flexibility to choose the first 2 edges in T, _, (D4, v/2)
as stated in Lemma [3.3.4ii) and the flexibility in our choice of the direction of the
first edge in T)_,({2}). Let

%) if Dy =mp,(2){2} Ump,(v/2){v/2}, and

T/(Dy, v/2) =
1D, 0/2) {Tl(D4,v/2) otherwise.

We are now ready to redefine
71 = T1(|D1l/2{v/2,v/3})Ti(|D2|/2{v/3,v/6})T1(Ds, v/3)T{(Ds, v/2)
(notice that 71 (D5, v/5) = @ since 2v/5 € Dg) and redefine

|Dg|+5

o1 =T, _1(Dy,v/2) H T,-1({2})

As described in (Piv)), for all j > 0if 75,1 # @, 77 # @, and 1+ f; 111 € {0, f;_, } then

we still define Ti = T and otherwise T = Tjtt Since 7, = @ for 2 <j<v—2
and since v > 3 in this lemma, ij* = 71j for 2 < j <wv—1. Then since d; = 1 we define

|
—

v

T = (r;(j,j+1))275(0,1)75(1,2,3,...,1)—1)7* (v—1,0).

v—1

.
Il
=)

In view of it remains to check there are no 2-cycles or 3-cycles in the following
trails: 77(1,2,3) and (v — 3,v — 2,v — 1)77_,(v — 1,0). Note that since v > 3 in
this lemma we know that there are at least 2 edges of difference 1 between 7 and
Ty_q. Since 7; cannot end on an edge of difference 2 by (recall that 7 does not
contain the trail T ({2}) and if T7(D4, v/2) # @ then D, contains a difference not in
{2,v/2} and by Lemma [3.3.4[vi) we let it be d* so that we avoid this case), following
the original argument shows that each set of 3 consecutive edges in 77(1, 2, 3) induces
a path. By exercising the choice we have in the first two edges of T! (D4, v/2)

and T)_,({2}), we can ensure that the first edge of 77 is {v — 1,1} (an edge of
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difference 2); so f; ,; = 2. It remains to show that: v =3 #v -1+ f7,; =1,
v—2%#wv—1+ f;,, = 1 (this situation cannot occur since v > 3); v — 2 #
v+ e =1 v == #F Orando—1—f7, ,—fi 4 1 #0.
If v = 4 then by Lemma W(v) all edges would occur in 77, contradicting 7 = 1 so
the first situation cannot occur. By Lemma and the definition of T, ({2}) the
second edge of 77, is either {1,3} or {1,v/2 + 1}. Then v —2 # 1+ f; , , since
otherwise v = 5 (a contradiction since v Z 5 (mod 10)) or v = 6 (a contradiction since
2 =wv/3 and v/3 & D,) respectively, so the third situation is resolved. Since each edge
in 7;_, is an edge of difference 2 or v/2, it follows that v —1— f;; | # 0. Also since
each edge in 7,;_, is an of difference 2 or v/2, it follows that v—1—f; | ,—fr, | #0
since otherwise v = 6, and so 2 = v/3, a contradiction since v/3 & Dj.

Thus 7 is a closed trail such that every set of 3 consecutive edges in 7 induce a
path. O

The following lemma makes use of the trail decomposition formed in Lemma/|3.3.7
to construct a 5—CS using a specified number of 5-cycles of Type A, B and C. This
lemma will be useful in using up all of the differences needed to cover the 2v(\ + m)
mixed edges in (A + m)K,1, — AK,. Define degy(v) to be the degree of v in the
multigraph of H.

For any two vertex disjoint graphs GG; and G5, define G1 VG4 to be the multigraph
with vertex set V(G V; Go) = V(G1) UV(G2) and edge set E(Gy Vi Gy) = E(Gy) U
E(G2) U (t{{g1, 92} | 1 € V(G1), g2 € V(G2)}).

Lemma 3.3.8. Suppose that:

(a) the conditions of Lemma[3.2.1) are satisfied;

(b) there exist sets Ay and Ay of differences such that Ay U Ay C D(v),;
(¢c) D = Ay satisfies the conditions of Lemma[3.3.7;

(d) Ay + |As| =d; and

(e) |Ag| = (c—a—2b)/v.

Then there exists a 5-CS of G,(A1 U As) Varm (A +m)K,.

Remark. Since v divides ¢ — a — 2b by Lemma [3.2.1[vii) and ¢ —a — 2b > 0 by
Lemma [3.2.1(vi), |Ay| is a non-negative integer.

Proof. Define the required 5-CS (Z, U {o01, 002}, B) by following the approach de-
scribed at the end of Section [3.2] The set B will contain a, b, and ¢ 5-cycles of Types
A, B, and C respectively, thereby exhausting all the pure edges (as will be seen).

By Lemma [3.2.1)i47), 2a + 3b 4+ ¢ = vd = v(]Aq| + |As]). Edges in G,(A;) will
be used to construct b paths of length 3 and 2b paths of length 1 (that are combined
into b/2 trails of length 10), and a paths of length 2 and a paths of length 1 (that are
combined into a paths of length 3); the remaining ¢c—a—2b (> 0 by Lemma[3.2.1[vi))
paths of length 1 will occur in G,(As). So |E(Gy(A1))] =3b+2a+2b+a = 3a+ 5b
and since G,(A;) is regular, each vertex has degree 2(3a + 5b)/v. Notice that by

49



Lemma [3.2.1)(éii,vii), 3a + 5b is divisible by v.

By Lemma there exists a closed trail 7" = (go, g1, - - -, Gvja,| = o) of G(A1)
such that every 3 consecutive edges induces a path. The number of edges in T is
vd — (¢ — a — 2b) = 5b + 3a (by Lemma [3.2.1](iii)). Arbitrarily break T into a set T
of b/2 trails that are each of length 10 and a set T3 of a paths that are each of length
3. Form a set of 5-cycles By = J,cp, g, B1(t) where

B1(gz‘,9¢+1,gi+27gi+3) = {(9i79¢+1,g¢+2, 002, 001)7 (9i+2;9¢+3, 02, Ji+1, 001)} and
Bl(gi7 git+1,y - - - ,9i+10) = {(gi, Gi+1, X2, Gi+2, 001)> (gi+1, 9i+2; 9i+3, Gi+4, 001)7
(gi+47 Ji+5, 01, Ji+3, 002)7 (9z‘+5, Ji+6, X1, i+7, 002),

(gi+6> 9i+7, 9i+8, 9i+9, 002)> (9i+97 Ji+10, X2, gi+8, 001)}

Notice that for each t € T1 UT5, each vertex g; in ¢ is joined to 0o, and oog in the
5-cycles in By (t) with deg,(g;)/2 edges except for the first vertex and the last vertex
in t if they are different, in which case they have odd degree in ¢, so the first is joined
with one less edge to 0oy than to ooy and the last is joined with one less edge to ooy
than to co,. Therefore, since T' is a closed trail, each vertex z in Z, is joined to each
of 0oy and ooy with degp(2)/2 = (3a + 5b) /v edges in 5-cycles in Bj.

Finally, let By = {(z,2z + d,009,2 +d + 1,001) | d € A,z € Z,}. Then each
vertex in Z, is joined to each of ooy and ooy with 2(c —a — 2b) /v edges in 5-cycles in
BQ.

Then each vertex z € Z, is joined to each of co; and ooy with degp(2)/2 = (3a+
5b) /v edges in cycles in By and 2(¢—a—2b) /v edges in cycles in By. So each z € Z, is
joined to each of co; and ooy with ((3a+5b)+2(c—a—2b))/v = (a+b+2¢)/v = A+m
by Lemma[3.2.1[iv). Also, each of the a trails of length 3 give rise to a edges joining
001 to 009 in By, so ooy and ocos are joined by a = A\ + m edges as required. Since
clearly the edges of G,(A; UA,) occur in T, (Z, U {001,002}, B = By UBy) is a 5-CS
of Gy(A1 U A2) Varm (A +m)Ks. O

3.4 The small cases for m

As in Chapter [2] we embark on a proof of the main result by beginning with a
section which will prove the necessary conditions in Lemma [2.1.2] are sufficient when
u = 2 and m is small.

Lemma 3.4.1. Let v = 10k, A and m be integers satisfying Conditions (a,b,d) of
Lemma with uw = 2. If m =2 orif m € {4,6,8} and A\ +m = 10, then any
5-CS of AK, can be enclosed in a 5-CS of (A +m)K, ;2.

Proof. Let (V = Zjok, A) be a 5-CS of AK, and let V U U be the vertex set of
(A +m)K,42 where U = {c01,002}. Since (V, A) exists, it follows by Theorem [1.2.2)
that A is even. So m is even by Lemma [2.1.29(a). By Lemma [2.1.2(b) A + m = 0
(mod 5). Therefore A + m = 0 (mod 10). Thinking of v/2 as half a difference,
we begin by choosing av edges to place in cycles containing only pure edges (edges
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between vertices only in V or only in U) using « differences in D,(m) where « is
defined in Equation (3.1)).

Suppose m = 2. Then mK, = 2K, contains edges of each difference in D(v)s.
Care must be taken with edges of difference v/2 in F(K,) since there are only v/2
of them. To explicitly describe the 5-cycles containing all the edges of « differences
(yet to be chosen), we make use of Skolem and hooked Skolem sequences.

By Theorem or[I.1.2] let P' = {(a},y}) |1 <i<k—2,y, > x}} correspond
to a Skolem sequence or hooked Skolem sequence of order k — 2 with k —2=0or 1
(mod 4) or k —2 =2 or 3 (mod 4) respectively; so each element in {1,2,...,2k — 4}
or {1,2,...,2k — 3} \ {2k — 4} respectively occurs in exactly one element of P’. Now
define P = {(z; =2+ 3,yi =y, +3) | (z},y}) € P’} if k—2=0or 1 (mod 4) and
P={(zx;=2i+4,y; =y, +4)| (z},y}) e PP} if k—2=2or 3 (mod 4). Then with

(0,25, i — i, 3k, 5k +1414) f1<i<k-—2,

o J OBk 2k 25k =kl (5.10)
(0,2k 4+ 1,4k + 1,2k, 5k) ifi=kand k—2=0,1 (mod 4), and
(0,4, 2k + 4,5k + 4, 5k) iti=kand k—2=2,3 (mod 4),

where computations are done modulo v. Table lists the differences of edges that
occur in cycles in B’ when « is as big as possible (from Lemmathis happens when
A is as small as possible and not 0, namely when A = 8, and so when o = 10k — 11;
notice that when A = 0 a 5-CS of AK,, can be enclosed in a 5-CS of (A + m)K,,

by Theorem [1.2.2]).

(where arithmetic is done modulo v) form the set of 5-cycles B’ = {¢/_, = ¢; | 1 <i < k}

‘ Edges | Differences when k —2 = 0,1 (mod 4) | Differences when k —2 = 2,3 (mod 4) |
{0, 2}, {@i, s — vi} 4,5,...,2k—1 5,6,...,2k—1,2k+1
{2 — i, 3k} 3k+1,3k+2,... ,4k—2 3k+ 1,3k 12, 4k—2
{3k,5k + 1+ 1} 2k+2,2k+3,...,3k—1 2k +2,2k+3,...,3k—1
(5k + 1 +4,0} 5k — 2,5k —3,.. 4k +1 5k —2,5k—3,... 4k 1
aifi=k—1 3.3k, 4k — 1,4k — 1,5k — 1 3.3k, 4k — 1,4k — 1,5k — 1
cifi=k 2k,2k + 1,2k + 1,3k, 5k 4,42k, 3k, 5k

Table 3.1: Edges of differences in B’ when « is as large as possible, v = 0 (mod 10),

and m = 2

Let B” = 2B’ be the multiset consisting of 2 copies of each 5-cycle in B’. Define

B={c+j|i€Zas5, ymoary € B",J € Lo} U E, where

;

%) ifa=0 (mod?5),

Iy ifa=1 (mod5),

E,={Ihuly ifa=2 (modb5),
I3 if « =3 (mod 5), and

(T2 U3 ifa=4 (mod 5)
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Notice that ¢;_; and ¢, will only be chosen once in B. Fortunately when A is as
small as possible (« is as large as possible) & = 10k — 11 and so E, = & allowing the
differences 3 and 2k to be used in ¢;_;.

Let D be the set of differences not used in forming B. Notice that because m = 2,
{1,2} C D. Partition D into two sets A; and Ay so that {1,2} C A; and A; contains
as many differences that are not v/2, v/3, v/4, v/5, or 2v/5 as possible. When A is
as small as possible, it is clear that Conditions (A-D) of Lemma are satisfied.
Whenever A increases o will decrease by 10 and so 10 more differences (at most 2
copies of the same difference) will be contained in D. So there are still enough different
differences for any o value ensuring A, still satisfies Conditions (A-D) of Lemmal[3.3.7]
So by Lemma [3.3.8] there exists a 5-CS (V U U, C) of G,(D) Viim (A4 m)Ks which
covers each mixed edge 2v(A + m) times. Thus, (Zig, U {001,002}, AUBUC) is a
5-CS(v + 2, A + 2) that encloses the given 5-CS (Z,, A).

Let m € {4,6,8} and A+ m = 10, so d = A+ m. Now let P" = {(x;,y;) |
1 <i<k-—2,y; > x;} be the collection of pairs from a Skolem sequence or hooked
Skolem sequence of order k — 2 for the set {1,2,...,2k —4} or {1,2,...,2k — 3} if
k—2=0or1 (mod4)ork—2=2or3 (mod4) respectively. So each element
in {1,2,...,2k —4} or {1,2,...,2k — 3} \ {2k — 4} occurs in exactly one element of
P’. Now define P = {(z; = 2} + 3,y; = y; +3) | («},y.) € P'} when using Skolem
sequences and P = {(z; = o, +4,y; = y, +4) | (z},y}) € P'}. Then with ¢; as
defined in Equation form the set of 5-cycles B’ = 2{¢; +j | j € Zy,1 < i <
k—2, (xi,y;) € PYU{c;+j|Jj€ Zy,ie {k—1k}} where computations are done
modulo v. Let P* = {(z;,y;) | 1 <i < k—1,y; > x;} be the collection of pairs from a
Skolem sequence or hooked Skolem sequence of order k—1 for the set {1,2,...,2k—2}
or{1,2,...,2k—=3}ifk—1=0o0r1 (mod 4) or k—1=2or 3 (mod 4) respectively.
Then with

7

;0,22 — ys, 3k, 5k +4) if 1 <i<k—1,and
(0, 2k, 6k, 9k, 5k) ifi—k,

for the set of 5-cycles B" =2{c,+j |j € Z,,1 <i <k —1,(z;,y;) € P*}U{c, +] |
j € Z,}. Table lists the differences of edges that occur in cycles in B” when « is
as large as possible (from Lemma this happens when A is as small as possible
and not 0; notice that when A = 0 a 5-CS of AK, can be enclosed in a 5-CS of
(A4 m)Kyy, by Theorem [1.2.2).

‘ Edges | Differences when k — 1= 0,1 (mod 4) | Differences when k — 1 = 2,3 (mod 4) |
{0, 22} {20, 21 — vi} 1,2,....2k_2 1,2,....2k 3,2k 1
{2 — i, 3k} 3k +1,3k+2,... 4k —1 3k+1,3k+2,... 4k —1
{3k, 5k + i} 2%+ 1,2k+3,....3k—1 2%k +1,2k+3,... 3k —1
{5k +1i,0} 5k— 1,5k —2,... 4k +1 5k— 1,5k —2,... 4k 11
Jii=k k. 3k, 4k, 4k, 5k k., 3k, 4k, 4k, 5k

Table 3.2: Edges of differences in B” when « is as large as possible, v =0 (mod 10),
and m € {4,6,8}
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Then ((m—2)/2)B" U B’ contains (m—2)(2k—1)/2+2k—2 =mk—m/2—1 5-
cycles, but we need |« /5] = mk—3 of them. Hence we need 1 or 2 more 5-cycles when
m = 6 or m = 8 respectively. Let ¢/ = (0, 2k, 4k, 6k, 3k) and ¢ = (0, 2k, 4k, Tk, 3k).
Then let E!, contain 1 copy of ¢} if m = 6 or 8 and 1 copy of ¢, if m = 8. Notice that
the 5-cycles in E!, contain at most m copies of differences of edges not used in cycles
in ((m —2)/2)B" U B’. Form the set of 5-cycles

B=((m-2)/2)B"UB U{ +j|j€L,c €E}UE,.

Since A +m = 10, it follows that (m(v —1)/2 —a) = A+m = 10. Let D be the
set of differences not used in B. Notice that D contains at least (m — 2)/2 copies of
{2k, 3k,2k—1} when k—1 =0or 1 (mod 4) or (m—2)/2 copies of {2k, 3k, 2k—2} when
k—1=2or3 (mod4). Partition D into two sets A; and A, so that {1,2} C A,
and A; contains as many differences that are not v/2, v/3, v/4, v/5, or 2v/5 as
possible. In this way, Conditions (A-D) of Lemma are satisfied for A;. So by
Lemma there exists a 5-CS (V U U, C) of G,(D) Vyim (A 4+ m) K, ensuring we
cover each mixed edge 2v(A 4+ m) times. Therefore (Z, U {001,002}, AUBUC) is a
5-CS(v + 2, A+ m) with m € {4,6,8} and A\ + m = 10. O

The proof of the next several results follows that of Lemma closely, but are
sufficiently different and important that they are described in detail.

Lemma 3.4.2. Let v = 10k + 5 and assume Conditions (a,b,d) of Lemma are
satisfied. If m =1 or if m € {2,3,4} and A+ m =5, then any 5-CS of AK,, can be
enclosed in a 5-CS of (A +m) K, 2.

Proof. Let (V = Zjorss, A) be a 5-CS of AK, and let U = {001, 002}. Since (V, A)
exists, A +m = 0 (mod 5) by Lemma [2.1.2(a). As in Lemma [3.2.1} the number of

edges we must place in 5-cycles contained completely in m, is

(m(v—l) 2a+3b+c>
— v = aw.
2 v

Since this is divisible by v, our plan is again to create 5-cycles in mK, using all the
edges of a specially chosen differences. By Lemma [3.3.8] « is a non-negative integer.

Suppose m = 1. Then mK, = K, contains edges of each difference in D(v) =
{1,...,5k+2}. Asin Lemma we will use Skolem and hooked Skolem sequences
to explicitly describe the 5-cycles containing all the edges of « differences (yet to be
chosen).

We begin with the case where k > 2. Let P’ = {(z},4}) | 0 <i <k —3,y; > 2}
be the collection of pairs from a Skolem sequence or hooked Skolem sequence of order
k — 2 from the set {1,2,...,2k —4} or {1,2,...,2k =3} if k—2=0o0r 1 (mod 4)
or k—2=2or 3 (mod 4) respectively (this exists by Theorems|1.1.1{and [1.1.2]since
k > 3). So each element in {1,2,...,2k—4} or {1,2,...,2k —3} \ {2k —4} occurs in
exactly one element of P'. Now define P = {(z; =z} +4,y;, = v, +4) | (2},y}) € P’}
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when using Skolem sequences and P = {(x; = «,+5,y; = y,+5) | (z},y;) € P'} when
using hooked Skolem sequences. Notice that because @ = 5k+2—d = 5k+2—(A+m)
or 0 (depending on d) and A +m = 0 (mod 5), it follows that & = 0 or 2 (mod 5).
Then with

. {(O,xi,mi—yi,4k+2,7k+3—i) if 0 <i<Fk—3and, (311)

(0,3k + 1,6k +3,k+2,5k+3) ifi=Fk—2,

we form the set of 5-cycles B = {ci (mod k—1) T J | i€ Liays), ] € Zv} U E, where the
computations are done modulo v, k > 2, and where E, = Jor 'y Ul if a =0 or
2 (mod 5) respectively. Table lists the differences of edges that occur in cycles in
B\ E, if a is as big as possible (from Lemma[3.2.1] this happens when A is as small as
possible, namely when A = 4 and so a = 5k — 3). By design, the edges of differences

‘ Edges | Differences when k —2 = 0,1 (mod 4) [ Differences when k& —2 = 2,3 (mod 4) |
{0,1‘1}7{1'“332*:%} 5,6,72]43 677772]{3,2]€+2
(0 -y 4k 1 2} ik +3,4k 14,5k ik 13,4k 1 4,... 5k
@12, 7h+3—4) Sh3k—1,... .2k+3 Sh 3k —1,... .2k +3
7k +3—4,0} 3133k +4,. .4k 3k 13,3k +4,....4k
Gifi—k—2 B+ 1.3k 2.4k + 1,5k + 1.6k +2 | 3kt 1.3k +24k+ 1,5k +1.5k12

Table 3.3: Edges of differences in B \ E, when « is as large as possible and v = 5
(mod 10)

v/5 and 2v/5 do not occur in 5-cycles in B\ E,, hence are available to form the
5-cycles in E,. If k =0 then v =5 and it is easy to see how to form the set 5-cycles
B using differences so that B contains only 5-cycles with 5 pure edges. If £ = 1 then
a <6 — A, so form the set of 5-cycles B = |«/5/{(0,1,3,6,10) 4+ j | j € Z,} U E,.

Let D be the set of differences not used in B. From Table [3.3|we know {2,4} € D.
Partition D into two sets Ay and Ay so that {2,4} C A; and A; contains as many
differences that are not v/3, v/5, or 2v/5 as possible. If X is as small as possible («
is as large as possible) then @ = 5k — 3 and so 1,3 € D. From this, it is clear that
Conditions (A-D) in Lemma are satisfied for A; when A is as small as possible.
As X increases (a decreases) the differences used to construct ¢; are added to D. In
this manner, it is clear that A; still satisfies Conditions (A-D) of Lemma [3.3.7 So
by Lemma we can form a 5-CS (VU U, C) of G,(D) Vaym (A +m) K, ensuring
we cover each mixed edge 2v(\ +m) times. Thus, (Zogrs U {001,002}, AUBUC) is
a 5-CS(v + 2, A + 1) that encloses the given 5-CS (Z,, A).

Let m € {2,3,4} and A+m = 5. Now let P' = {(z;,y;) | 0 <i <k —3,y; > x;}
be the collection of pairs from a Skolem sequence or hooked Skolem sequence of
order k — 2 for the set {1,2,...,2k — 4} or {1,2,...,2k — 3} if k—2 =0 or 1
(mod 4) or k—2 =2 or 3 (mod 4) respectively. So each element in {1,2,...,2k —4}
or {1,2,...,2k — 3} \ {2k — 4} occurs in exactly one element of P’. Now define
P={(x;=a+4,y, =vy.+4) | (z},y}) € P'} when using Skolem sequences and
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P={(x;=x2,+5y =y, +5)]| (z,y) € P’} when using hooked Skolem sequences.
Define the set B = {¢; | i € Zg_1, (z;,y;) € P}. Then we form the set of 5-cycles

B = {Ci (mod kE—1) | 7 < ZLa/g,J} U (m — 1)GU(F1) U (m — 1)GU<F2) U (m — ].)Gv(rg)

where computations are done modulo v and ¢; is defined in Equation . Since
|la/5] = mk —1 and B’ contains mk —m 5-cycles, the extra m — 1 copies of G,(I';) U
G,(I'y) UG, (I'3) ensures we have enough pure 5-cycles in B.

Notice that regardless of our choice of m, A +m =5 and so (m(v—1)/2 —a) =
A+m = 5. Let D be the set of differences not used in B. There are m copies of both
4 and 2k+2in D when k—2 =0 or 1 (mod 10) and m copies of both 4 and 5 when
k—2=2or3 (mod 4). Partition D into two sets A; and A, so that {4,2k+2} C A
or {4,5} C Ay ifv=0o0r1 (mod4) orv=2or3 (mod4) respectively and A4
contains as many differences that are not v/3, v/5, or 2v/5 as possible. It is clear
that A; satisfies Conditions (A-D) of Lemma [3.3.7 By Lemma there exists
a b-CS (VUU,C) of Gy(D) Vagym (A + m)K, ensuring we cover each mixed edge
20(A 4+ m) times. Therefore (Z, U {ocoy, 002}, AUBUC) is a 5-CS(v+ 2, A +m) with
m € {2,3,4} and A+ m = 5. O

Lemma 3.4.3. Let v =1,3, or 9 (mod 10) and assume Conditions (a,b,d) of
Lemma are satisfied. If m = 1 or if m € {2,3,4}, A+ m =5 and v = 1
(mod 10), then any 5-CS of AK,, can be enclosed in a 5-CS of (A + m)K, 9.

Proof. Let (V' = Zjorse, A) be a 5-CS of MK, and let U = {001, 002}. Since (V, A)
exists, A+ m = 0 (mod 5) when v =1 (mod 10) and A = 0 (mod 5) when v = 3,9
(mod 10) by Lemma [2.1.2(a-b). As in Lemma the number of edges we must
place in 5-cycles contained completely in mK, is

(m(v—l) 2a+3b+c)
— v =au.
2 v

Since this is divisible by v, our plan is again to create 5-cycles in mK, using all the

edges of «a specially chosen differences.

Suppose m = 1. Then mK, = K, contains edges of each difference in D(v) =
{1,...,5k+ (¢{ —1)/2}. Asin Lemma we will use Skolem and hooked Skolem
sequences to explicitly describe the 5-cycles containing all the edges of a differences
(yet to be chosen).

Ife=1let PP ={(zf,y)) | 1 <i<k—2,y, > a2} be the collection of pairs
from a Skolem sequence or hooked Skolem sequence of order k — 2 from the set

1,2,...,2k—4} or {1,2,...,2k—3}if k—2=0o0r 1 (mod4) or k—2=2or 3
mod 4) respectively. If £ € {3,9} let P/ = {(z,y)) | 1 < i < k—1,y, > x}} be
the collection of pairs from a Skolem sequence or hooked Skolem sequence of order
k — 1 from the set {1,2,...,2k — 2} or {1,2,...,2k — 1} if k—1=0or 1 (mod 4)
or k—1 = 2 or 3 (mod 4) respectively. So each element in {1,2,...,2k — 4} or
{1,2,...,2k — 3} \ {2k — 4} occurs in exactly one element of P’ when ¢ = 1. When
¢ € {3,9}, each element in {1,2,...,2k —2} or {1,2,...,2k — 1} \ {2k — 4} occurs in
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exactly one element of P’. Now define P = {(z; = a2} + 4,y; = ¢, + 4) \ («},yi) € P'}
if¢l=1or P={(x;=2,+3,y; =y, +3) | (z},)) EP’} if0e {3,9}. Then with

(0,z;,x; — yi, 3k, bk + 2 + 1) if1<i<|a/5]—1and =1,

0,22, —y;, 3k +1+€/3,8k —2+0—14) if1<i<|a/5]—1and /e {3,9},

0,2k + 1,6k, 10k, 5k + 1) ifi=|a/5],k—2=0,1 (mod4)and{=1,
ci =14 (0,4,2k +4,2,5k+ 1) ifi=|a/5],k—2=2,3 (mod4),and £ =1,

0,z;,2; —y;, 3k +1+¢/3,8k —24+ £ —14) ifi=|a/5] and £ =3,

(0,2k + 2,5k + 4, k, 4k + 3) ifi=|a/5],k—1=0,1 (mod4),and =9, and

(0,2k + 1,5k + 4,2k + 2,6k + 5) ifi=|a/5],k—1=2,3 (mod4), and £=09,

(3.12)

we form the set of 5-cycles B = {¢; +j |1 <i<|a/5]|,j € Zy, (x;,y;) € P} where

the computations are done modulo v. By Lemma [3.2.1] o = 0 (mod 5). Tables
and list the differences of edges that occur in cycles in B if « is as big as possible
(from Lemma this happens when X is as small as possible, namely when A = 4
if¢=1and A=5if £ € {3,9} and so « =5k —5if £ € {1,3} and a = 5k if £ =9).

‘ Edges | Differences when k —2 = 0,1 (mod 4) | Differences when k —2 = 2,3 (mod 4) |
{0.$Z},{$1$2—y1} 5,6,72k 5,6,2k—172k+1
{2; — yi, 3k} 3kr1,3k+2,... 4k—2 3k+1,3k+2,... 4k 2
{3k,bk + 2+ 4} 2k + 3,2k +4,...,3k 2k + 3,2k +4,...,3k
{5k + 2 +1,0} 5k—25k—3,. . 4k +1 5k—25k—3,.. 4k +1
¢ it i = /5] ok + 1,4k — 1,4k, 5k — 1,5k 42k 2k 1 2,5k — 1,5k

Table 3.4: Edges of differences in B when « is as large as possible for ¢ =1

‘ Edges | Differences when k —1=0,1 (mod4) | Differences when k —1=2,3 (mod 4) |
{0733,-},{33,-,@7%} 4,5,. 2k +1 45,2k,2/€+2
{; — i, 3k + (/3} 3k +1+1¢/3, 3k+2+£/3 ~~~~~ Ak —140/3 |3k +1+¢/3,3k+2+¢€/3,...,4k —1+ (/3

{3k+0/3,8k —2+(—i} | 5k —2+20/3,5k —3+2(/3,..., 4k +20/3 | 5k — 2+ 2(/3,5k —3+20/3,...,4k +2(/3
{8k —2+(—14,0} 2k+3,2k+4,...,3k+1 2k + 3,2k +4,...,3k+1

¢ ifi=|a/5] and £ =9 2k + 2,3k + 2,3k + 3,4k + 3,4k + 4 2k+173k+273k+3,4k+3,4k+4

Table 3.5: Edges of differences in B when « is as large as possible for ¢ € {3,9}

Let D be the set of differences not used in B. When A is as large as possible («
is as small as possible)

({1,2,3,2k + 2} ifv=1 (mod 10
{1,2,3,4k — 1,4k} ifv=1 (mod 10

( Jand k=0,1 (mod 4),
( )
D={1{1,2,3,2k+2,5k+1} ifv=3 (mod 10),
( )
( )

and £k =2,3 (mod 4),

{1,2,3,4k + 5} ifv=9 (mod 10
| {1,2,3,4k + 5} ifv=9 (mod 10

and £k =0,1 (mod 4), and
and £ =2,3 (mod 4).
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Partition D into two sets Ay and Ay so that {1,2,3} C A; and A; contains as many
differences that are not v/3 as possible. It is clear that A; satisfies Conditions (A-D) of
Lemmal3.3.7]when X is as small as possible. As \ increases, the differences represented
in ¢; are added to D. So it is clear that Conditions (A-D) of Lemma will still
be satisfied and so by Lemma there exists a 5-CS (VU U, C) of G,(D) Vaim
(A + m) K, ensuring we cover each mixed edge 2v(A + m) times. Thus, (Zjorse U
{001,002}, AUBUC) is a 5-CS(v + 2, A + 1) that encloses the given 5-CS (Z,, A).

Let v=1 (mod 10), m € {2,3,4}, and A\ +m = 5. As before, let P = {(},y) |
1 <i<k—2,y, > x} be the collection of pairs from a Skolem sequence or hooked
Skolem sequence of order k — 2 from the set {1,2,...,2k — 4} or {1,2,...,2k — 3}
if k—2=0o0r1 (mod4)or k—2=2or 3 (mod 4) respectively. Now define P =
{(x; =2, +4,yi=vy.+4) | (2f,y}) € P'}. Then with ¢; defined as in Equation
we form the set of 5-cycles B’ = {¢; | 1 <i < k—1, (z;,y;) € P} where computations
are done modulo v. Let B” = mB’. Then B” contains m(k —1) 5-cycles, but we need
|la/5] = mk — 1 of them. Hence we need m — 1 more 5-cycles. Let

0,1,2k+3,2k+5,3) ifi=1landk=0,1
0,1,5,7,3) ifi=2and k=0, 1
0,1,4k, 4k + 2, 3) ifi=1and k=23
0,1,4k + 1,4k +3,3) ifi=2and k=23

)

~
A~ /N I/~ —

Then let E!, contain 1, 1, or 2 copies of ¢} if m = 2, 3, or 4 respectively, and contain
1 or 2 copies of ¢, if m = 3 or 4 respectively. Notice that the cycles in E/ contain at
most m copies of edges not used in cycles in B”. Then we form the set of 5-cycles

B={ci+j|1<i<|a/5],cimoar1) €B"j€L}IU{c+j|j€Z,c,€E}

Notice that regardless of our choice of m, A+m = 5. So (m(v —1)/2 —a) =
A+ m = 5. Let D be the set of differences not used in B. It is clear that D contains
1,2, and 3. Partition D into two sets A; and Ay so that {1,2,3} C A; and A
contains as many differences that are not v/3 as possible. Since v/5,2v/5,v/2 & D,
it is clear that A; satisfies Conditions (A-D) of Lemma and by Lemma [3.3.8]
there exists a 5-CS (VUU, C') of G,(D)V r4m (A+m) K5 ensuring we cover each mixed
edge 2v(A +m) times. Therefore (Z, U {001,002}, AUBUC) is a 5-CS(v+2, A +m)
with m € {2,3,4} and A +m = 5. O

Lemma 3.4.4. Let v = 4,6, or 8 (mod 10) and assume Conditions (a,b,d) of
Lemma are satisfied. If m = 2 or if m € {4,6,8}, A+ m = 10, and v = 6
(mod 10), then any 5-CS of AK,, can be enclosed in a 5-CS of (A + m) K, o.

Proof. Let (V = Z,,A) be a 5-CS of AK,, and let U = {001, 002 }. Since (V, A) exists,
A=m =0 (mod 2) by Lemma[2.1.2(a). As in Lemma [3.2.1, the number of edges we
must place in 5-cycles contained completely in mK, is

(m(v—l) 2a—|—3b+c)
— v = aw.
2 v
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Since this is divisible by v, our plan is again to create 5-cycles in mK, using all the
edges of a specially chosen differences.

Suppose m = 2. Then mK, = 2K, contains edges of each difference in D(v)s.
Care must be taken with edges of difference v/2 in E(K,) since there are only v/2
of them. As in Lemma [3.4.1] we will use Skolem and hooked Skolem sequences to
explicitly describe the 5-cycles containing all the edges of « differences (yet to be

chosen).
Let P = {(«},vy}) | 1 <i<k—1,y. >z} be the collection of pairs from a Skolem
sequence or hooked Skolem sequence of order k — 1 from the set {1,2,...,2k — 2} or

{1,2,...,2k—1}ifk—1=0o0r1 (mod4) or k—1=2or 3 (mod 4) respectively.
So each element in {1,2,...,2k—2} or {1,2,...,2k — 1} \ {2k — 2} occurs in exactly
one element of P'. Now define P = {(z; =z} + 3,y; = v, + 3) | («},y.) € P'}. Then
with

(3.13)

0,2, —y;, 3k + 1,0k +3+1i) if1<i<k—1and/e€ {4,6},
C; =
0,2, x; —y;, 3k + 3,5k +5+14) ifl<i<k—1land/{=S8,

7z

we form the set of 5-cycles B’ = {Cz—l =¢|1<i<k-— 1} where the computations
are done modulo v. Notice that based on our choice of d, « =0 (mod 5). Tables
and list the differences of edges that occur in cycles in B if « is as big as possible
(from Lemma this happens when A is as small as possible, namely when A\ = 10
if v=4,8 (mod 10) or A =8 if v =6 (mod 10)).

‘ Edges | Differences when k — 1= 0,1 (mod 4) | Differences when k — 1 = 2,3 (mod 4) |
{O,IZ},{.TLIl—yZ} 4,5,‘2]{34—1 4,57/2]{?72]{3+2

(i -y 3k + 1} 3k +2,3k+3,...,4k 3k+2,3k+3,...,4k
{3k +1,5k +3 + 1} 2k +3,2k+4,...,3k+1 2k +3,2k+4,...,3k+1

5k +3+4,0] | Bk 4165k 510, 4k—2+0 | 5k—4+05k—5+0,... 4k 217

Table 3.6: Edges of differences in B’ when « is as large as possible for ¢ € {4,6}

‘ Edges | Differences when k —1=0,1 (mod 4) | Differences when k —1=2,3 (mod 4) |
{Q%},{%,&-%} 4,572]{4-1 4,5,/2]€,2k+2

{z; —y;,3k + 3} 3k +4,3k+5,...,4k +2 3k +4,3k+5,...,4k +2
{3k + 3,5k + 5+ i} 2k +3,2k+4,...,3k 2k +3,2k+4,...,3k

{5k +5+1,0} Sk 2.5k+1,... . 4kt4 5k+2.5k+1,... . 4k14

Table 3.7: Edges of differences in B when « is as large as possible for ¢ = 8

Let ¢f_; = (0,1,3,4k + 4,4k + 1) or (0,1,3,3k + 4,3k + 1) if ¢ € {4,6} or
¢ = 8 respectively. Now let B” = 2B" U {¢]_;} so that we form the set of 5-cycles
B = {C;/ +] | IS Z04/576;/(mod k) € Bl,’-j = Zv}

Let D be the set of differences not used in B. It is clear that 1,2, and 3 are
contained in D. Partition D into two sets A; and A, so that {1,2,3} C Ay and A,
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contains as many differences that are not v/2, v/3, or v/4 as possible. Since v/5 and
2v/5 are not in D, it follows that A; satisfies Conditions (A-D) of Lemma and
so by Lemma [3.3.§| there exists a 5-CS (VUU, C) of Gy(D) Vit (A+m) K, ensuring
we cover each mixed edge 2v(\ + m) times. Thus, (Zjpxse U {001,002}, AUBUC) is
a 5-CS(v + 2, A + 2) that encloses the given 5-CS (Z,, A).

Let £ =6, m € {4,6,8}, and A+m = 10. Let P' = {(2},y)) |1 <i<k -1,y >
2} be the collection of pairs from a Skolem sequence or hooked Skolem sequence of
order k — 1 from the set {1,2,...,2k — 2} or {1,2,...,2k— 1} if k—1=0or 1
(mod 4) or k —1 =2 or 3 (mod 4) respectively. Now define P = {(z; = 2} + 3,y; =
yr 4+ 3) | (x},y;) € P'}. Then with ¢; defined as in Equation ({3.13) we form the set
of 5-cycles B = {c/ , = ¢ |1 <i<k—1,(x;,y;) € P} where computations are
done modulo v. Let B” = mB’ be the multiset consisting of m copies each 5-cycle
in B’. Then B” contains m(k — 1) 5-cycles, but we need |a/5] = mk — 2+ m/2
of them. Hence we need 3m/2 — 2 more 5-cycles. Let ¢ = (0,1,3,4k + 5,4k + 2),
¢y = (0,2k + 1,4k + 2,8k + 5,4k + 3), ¢ = (0,2k + 2,4k + 4,8k + 6,4k + 3), ¢, =
(0,2k+1,6k+3,k,5k+3), and ¢k = (0,1,3,4k+4,4k+1). f k=1 =0o0r 1 (mod 4),
then let E/:

e contain 1, 2, or 2 copies of ¢} if m =4, 6, or 8 respectively,
e contain 1, 2, or 4 copies of ¢§ if m =4, 6, or 8 respectively,
e and contain m/2 copies of .

If k—1=2or3 (mod 4), then let E’:

contain 0, 1, or 2 copies of ¢] if m = 4, 6, or 8 respectively,
contain 1, 2, or 2 copies of ¢, if m = 4, 6, or 8 respectively,
contain 1, 1, and 2 copies of ¢ if m =4, 6, or 8 respectively,

and contain m /2 copies of ¢.

Notice that the cycles in E! contain at most m copies of edges not used in cycles in
B”. Then

B:{CZ+] ‘ 1 Sigk—laci(modk) EB”?j EZU}U{C;+] ‘jeZvaC{iEE(/x}‘

Notice that regardless of our choice of m, A +m = 10. So (m(v —1)/2 — «a) =
A+m = 10. Let D be the set of differences not used in B. By examining the remaining
differences we know differences 1 and 2 appear in D and when £k =0 or 1 (mod 4), D
has at most 1 copy of v/2. Partition D into two sets A; and A, so that {1,2} C A4
and A; contains as many differences that are not v/2, v/3, or v/4 as possible. Based
on the remaining differences it is clear that v/3, v/6, 2v/5, and v/5 are not in D.
Thus A; satisfies Conditions (A-D) of Lemma and by Lemma there exists
a b-CS (VUU,C) of Gy(D) Vagm (A + m)K, ensuring we cover each mixed edge
20(A 4+ m) times. Therefore (Z, U {ocoy, 002}, AUBUC) is a 5-CS(v+ 2, A\ +m) with
m € {4,6,8} and A + m = 10. O
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Lemma 3.4.5. Let v = 2 (mod 10) and assume Conditions (a,b,d) of Lemma[2.1.2]
are satisfied. If m = 10 then any 5-CS of MK, can be enclosed in a 5-CS of (A +
m)Kv+2.

Proof. Let (V' = Zjors2,A) be a 5-CS of AK, and let U = {001, 002}. Since (V, A)
exists, A=m =0 (mod 10). As in Lemma [3.2.1} the number of edges we must place
in 5-cycles contained completely in mK, is

(m(v—l) 2a+3b+c>
— v = aw.
2 v

Since this is divisible by v, our plan is again to create 5-cycles in mK, using all the
edges of a specially chosen differences.

Suppose m = 10. Then mK, = K, contains edges of each difference in D(v);.
Care must be taken with edges of difference v/2 in E(K,) since there are only v/2
of them. As in Lemma [3.4.1] we will use Skolem and hooked Skolem sequences to
explicitly describe the 5-cycles containing all the edges of « differences (yet to be

chosen).
Let P = {(«},v}) | 1 <i < k—2,y. >z} be the collection of pairs from a Skolem
sequence or hooked Skolem sequence of order k — 2 from the set {1,2,...,2k — 4} or

{1,2,...,2k—3}ifk—2=0o0r 1 (mod4) or k —2 =2 or 3 (mod 4) respectively.
So each element in {1,2,...,2k—4} or {1,2,...,2k — 3} \ {2k — 4} occurs in exactly
one element of P'. Now define P = {(z; = 2} + 4,5, =y, + 4) | («},y}) € P'}. Then
with

0,4,4k + 3,8k + 3,4k +2) ifi=1,

(

g (0,1,3,3k + 3, 3k) if i =2,

7 )(0,1,3,2k + 4,2k + 1) ifi=3and k—2=0,1 (mod 4), and
(0,1,3,2k + 3,2k) ifi=3and k —2=2,3 (mod 4),

we form the set of 5-cycles
BII {Ci,1 = <0,$Z,$1—yz,3k,5k+1+2) | 1 SZS k_27($zayz) € P}

and let E/, contain 10 copies of ¢/, 5 copies of ¢, and 2 copies of ¢. Notice that based
on our choice of d, « =0 (mod 5). Table lists the differences of edges that occur
in cycles in B’ U E/, if a is as big as possible (from Lemma this happens when
A is as small as possible and not 0, namely when A = 10 and so v = 50k — 15). Then
form the set of 5-cycles B = {¢;+j | i € Z.,,Ci mod k—1) € B',j € Zy,} Uzp{c+j|j €
Zy,c € E!} where z; = min({a/5, m(k — 2)}), z2 = max({0,a/5 — m(k — 2)}), and
the computations are done modulo v.

Let D be the set of differences not used in B. There are 3 copies of 1, 2, and 3 in
D when A is as small as possible (« is as large as possible. Partition D into two sets
Ay and Ay so that {1,2,3} € A; and A; contains as many differences that are not
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‘ Edges | Differences when k — 2= 0,1 (mod 4) | Differences when k — 2 = 2,3 (mod 4) |

{07%'2},{f1$2—y1} 5,6,72k 5,6,2k—172k+1
{z; — y;, 3k} 3k+1,3k+2,... 4k —2 3k+ 1,3k +2,...,4k —2
{3k, 5k +1+i} 2k +2,2k+3,...,3k—1 2k +2,2k+3,...,3k—1
{5k +1+1,0} 5k,5k —1,...,4k+3 5k, 5k —1,...,4k+3
difi=1 4,4k — 1,4k, 4k + 1,4k + 2 4,4k — 1,4k, 4k + 1,4k + 2
difi=2 1,2,3,3k, 3k 1,2,3, 3k, 3k
cifi=3 1,2,3,2k + 1,2k + 1 1,2,3,2k, 2k

Table 3.8: Edges of differences in B’ U E/, when « is as large as possible for { = 2

v/2, v/3, or v/4 as possible. As A increases, the differences from ¢; are added to D.
In this manner, it is clear that A; will satisfy Conditions (A-D) of Lemma and
by Lemma there exists a 5-CS (VU U, C) of Gy(D) Vatm (A +m)K, ensuring
we cover each mixed edge 2v(A 4+ m) times. Thus, (Zygrt2 U {001,002}, AUBUC) is
a 5—CS(v + 2, A + 10) that encloses the given 5-CS (Z,, A). O

Lemma 3.4.6. Let v = 7 (mod 10) and assume Conditions (a,b,d) of Lemma[2.1.2]
are satisfied. If m = 5, then any 5-CS of AK, can be enclosed in a 5-CS of (A +
m)Kv+2.

Proof. Let (V = Zyors7, A) be a 5-CS of AK, and let U = {001, 002}. Since (V, A)
exists, A+m =0 (mod 5). As in Lemma in Lemma the number of edges
we must place in 5-cycles contained completely in m K, is

(m(v—l) 2a+3b+c>
— v = av.
2 v

Since this is divisible by v, our plan is again to create 5-cycles in mK, using all the
edges of « specially chosen differences.

Suppose m = 5. Then mK, = K, contains edges of each difference in D(v)s.
As in Lemma [3.4.1, we will use Skolem and hooked Skolem sequences to explicitly
describe the 5-cycles containing all the edges of « differences (yet to be chosen).

Let P = {(«},y}) | 1 <i < k—1,y. >z} be the collection of pairs from a Skolem
sequence or hooked Skolem sequence of order k — 1 from the set {1,2,...,2k — 2} or
{1,2,...,2k—1}if k—1=0o0r1 (mod 4) or k —1=2or 3 (mod 4) respectively.
So each element in {1,2,...,2k —2} or {1,2,...,2k — 1} \ {2k — 2} occurs in exactly
one element of P’. Now define P = {(z; = 2z, +3,y;, = v, + 3) | («},y;) € P'}. Then
with

(

(0,2k +2,5k + 4,k +1,5k+3) ifi=landk—1=0,1 (mod 4),
(0,1,2,5,3) ifi=2and k—1=0,1 (mod 4),
¢, =11(0,1,2k + 2,7k + 5,4k + 3) ifi=1land k—1=2,3 (mod 4),
(0,2,4,1,4k + 3) ifi=2and k—1=2,3 (mod 4), and
(0,2,2k + 3,2k + 1,5k + 3) ifi=3andk—1=23 (mod4),

\
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we form the set of 5-cycles
B' ={ci1= (0,25, 2; —y;, 3k + 2,5k +4+1i) | 1 <i <k —1,(z;,y;) € P}

and let E/, contain 5 copies of ¢} and 1 copy of ¢, if k —1 =0 or 1 (mod 4), and
contain 4 copies of ¢}, 1 copy of ¢, and 1 copy of ¢; if k —1 =2 or 3 (mod 4). Notice
that based on our choice of d, « =0 (mod 5). Table[3.9|lists the differences of edges
that occur in cycles in B' U E! if « is as big as possible (from Lemma this
happens when A is as small as possible, namely when A\ = 5 and so o« = 25k + 5).

‘ Edges
{07%‘}7 {1“11’1 - yz}

| Differences when k — 1= 0,1 (mod 4) | Differences when k& — 1 = 2,3 (mod 4) |
15 ... 9%k+1 45 .. 2k 2k+t2

3k+3,3k+4,.. . Ak+1

3k+3,3k+4,... 4k+1

(3k + 2,5k + 4+ i}

2% +3,2k+4,...,3k+1

2% +3,2k+4,...,3k+1

{5k +4+i,0} 5k+2,5k+1,... 4k +4 5k+2,5k+1,... 4k +4
difi=1 2k + 2,3k + 2,4k + 2,4k + 3,5k + 3 1,2k + 1,3k + 2,4k + 3,5k + 3
difi=2 1,1,2,3,3 2,2,3,4k + 2,4k + 3
Jifi=3 - 2,2,2k+ 1,3k + 2,5k + 3

Table 3.9: Edges of differences in B’ \ E/, when « is as large as possible for ¢ =7

Define B = {¢; +j | i € Zs,,Cimod k1) € B',J € Zy} Uzo{c+j | j € Zy,c €
E!'} where z; = min({a/5,m(k — 1)}), 22 = max({0,a/5 — m(k — 1)}), and the
computations are done modulo v.

Let D be the set of differences not used in B. By examining Table [3.9] we see
that 1, 2, and 3 are contained in D and v/2,v/4,v/5,2v/5,0/6 ¢ D. Partition D
into two sets A; and Ay so that {1,2,3} C Ay and A; contains as many differences
that are not v/3 as possible. Thus A; satisfies Conditions (A-D) of Lemma
and by Lemma there exists a 5—CS of G,(D) Vaim (A + m) K, ensuring we
cover each mixed edge 2v(\ + m) times. Thus, (Ziogpr7 U {001,002}, AUBUC) is a
5-CS(v + 2, A+ 5) that encloses the given 5-CS (Z,, A). O

We can gather results from Lemmas|(3.4.1] [3.4.2] [3.4.3] [3.4.4} [3.4.5, and [3.4.6|into
the following corollary.

Corollary 3.4.7. Let v, m and X be integers satisfying Conditions (a,b,d) of
Lemma with uw = 2. Let v =10k + ¢ with £ € {0,1,...,9}. If:

e m =1 when (¢ € {1,3,5,9}, m = 2 when ¢ € {0,4,6,8}, m =5 when { =7,
m = 10 when { = 2,

e me{2,3,4}, \+ m=5, and £ € {1,5}, or

e m e {4,6,8}, A\+m =10, and ¢ € {0,6},

then any 5-CS of AK, can be enclosed in a 5-CS of (A + m) K, 2.
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3.5 The Main Result

The following lemma will be useful in constructing the enclosings when A is as
large as possible.

Lemma 3.5.1. Let v and m be integers satisfying conditions (a), (b), and (d) of
Lemma with u = 2 and let X = Apax(v,m). Then a 5-CS of AK, can be
enclosed in a 5-CS of (A +m) K, 2.

Proof. Let (V =Z,,A) be a 5-CS of AK,,. Since A = \yax(v,m), A+m > m(v—1)/2
and so it follows that d = m(v — 1) /2 by definition and so a = 0 from Equation (3.1)).
Partition D = D(v),, into two sets A; and Ay so that {1,2} C Ay, A; contains as
many differences that are not v/2, v/3, v/4, v/5, or 2v/5 as possible. So Conditions
(A-D) of Lemma hold for A, and therefore by Lemma a 5-CS of AK, can
be enclosed in a 5-CS of (A + m) K, 2 when A = A\pax(v, m). O

In the following theorem, Corollary is used as a basis for an inductive
argument to settle the enclosing problem when u = 2.

Theorem 3.5.2. A 5-CS of AK,, can be enclosed in a 5-CS of (A + m)K, 2 if and
only if

(a) (A+m)u+m(v—1)=0 (mod 2),
) (5)(A+m)+m(3) +vu(A+m) =0 (mod 5),
(c) m(3) —2(A+m) — (v —=1)(A+m) > 0.

Proof. The necessity follows from Lemma/|2.1.2{(a,b,d), so we now prove the sufficiency.
Since we are assuming that a 5-CS of MK, exists, it follows by Theorem that
v & {2,3,4}, and by Condition (c) that v # 1, so we know that v > 5. If A = 0 then
by Condition (a) m(v + 1) = 0 (mod 2) and by Condition (b) m(v+2)(v+ 1) =0
(mod 5), so by Theorem there exists a 5-CS of mK, o as required; so we can
assume that A > 1.

Let (V,A) be a 5-CS of AK,. If v = 0,4,6, or 8 (mod 10), v = 2 (mod 10),
or v = 7 (mod 10), then it follows from Theorem that A = m = 0 (mod 2),
A=m =0 (mod 10), and A+ m =0 (mod 5) respectively; in any other case m can
potentially take on any positive integral value. To reflect this situation, let

1 ifv=1,3,59 (mod 10),
2 ifv=0,4,6,8 (mod 10),
5 ifv=7 (mod 10), and
10 ifv=2 (mod 10).

t(v) =

We often simply write ¢ instead of ¢(v) when the value of v is clear. For any choice
of v and m, let A, (v, m) be the second largest integer satisfying Conditions (a-c),
and let A1, (v,m) be the second smallest integer satisfying Conditions (a-c).

min
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We will first establish that for any given v, the difference between consecutive
values of A that satisfy Conditions (a) and (b) is a constant; call this difference
Adifr(v). Secondly, for all m > 1 and v > 5, we settle the enclosing problem for both
the smallest and the largest values of A satisfying Conditions (a-c). Finally for all
m > 1 and v > 5 it will be shown that for all A satisfying Conditions (a-c) there
exist non-negative integers \;, Ay with A\; + Ay = X\ and positive integers my, mo with
my + me = m such that for 1 < ¢ < 2 there exists a 5-CS of \;K, that can be
enclosed in a 5—CS of (\; +m;)K,12. So the union of these two enclosings completes
the proof.

We turn to the first step of the proof. For any given v and m, the difference be-
tween consecutive values of A that satisfy Conditions (a) and (b) is a constant; namely
Adiff(v,m). Also by Conditions (a) and (b) and by Theorem [1.2.2] A = 0 (mod 2)
if v is even and (2v 4+ 1)Ag;g(v,m) = 0 (mod 5). Therefore Ag;g(v, m) = 0 (mod 5)
and Agig(v,m) =0 (mod 10) if v is odd and even respectively. Since Agig(v, m) must
be the smallest such value, if v is odd then Agig(v,m) = 5, and if v is even then
Adir(v,m) = 10. Notice that if my # msg then Agig(v, m1) = Agig(v, ma). Therefore
we define Ag;g(v) = Agig(v, m).

We now turn to the second step in the proof; establishing the existence of the
enclosing for the smallest and largest values of A given v and m. Beginning with the
smallest value, Tables and list the values of Apin(v,m), and were formed
using Theorem [I.2.2] and Corollary [3.4.7, Three cases are considered in turn based
on the value of v.

m (mod 5t)
v (mod 10) 0 ¢t 2t 3t 4t
0,6 0 8 6 4 2
1,5 043 2 1

Table 3.10: Checking Apin(v,m) when v = 0,1,5 or 6 (mod 10): each cell contains
)\min(vu m)

10

(mo

4
0

m

O|lWwl e
O Co—

d
7
0

| ©

2
any m 0

Table 3.11: Checking Apin(v,m) when v # 0,1,5 or 6 (mod 10): each cell contains
)\min(va m)

Let v = 0,1,5, or 6 (mod 10). The proof is by induction on m. By Corol-
lary if m < 4t then any 5-CS of Ay (v, m)K, can be enclosed in a 5-CS of
(Amin(v,m) + m)K,yo. If m = 5t, by Table Amin(v, 10) = 0, so this enclosing has
been established by Theorem [1.2.2]and we say there exists a 5-CS (V' U{o01, 002}, Bs)
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of (5t)K,12. Suppose that for some m > 6t and for all s with 1 < s < m, every 5-CS
of Amin(v, ) K, can be enclosed in a 5-CS of (Apin(v, s)+5)K,12. Then, since m > 6t,
by induction each 5-CS (V, By) of Apin(v,m — 5t)K, can be enclosed in a 5-CS
(VU {001,002}, BY) of (Amin(v, m —5t) 4+ (m — 5t)) K, 1. Since Table shows that
Amin (U, m — 5t) = Apin (v, m), (V, By) is a 5—CS of Apin(v, m — 5t) K\, = Ain(v, m) K,
which is enclosed in a 5-CS (V U {o01, 002}, B] U Bsy) of

((Amin(v,m — 5t) 4+ (m — 5t)) + 5t) Kyt = (Amin(v, m) + m) K, 0.

Now let v # 0,1,5 or 6 (mod 10). By Table Amin(v,m) = 0, and so clearly
a 5—CS of A\pin(v,m) can be enclosed in a 5-CS of (A + m) K, .

Now turning to the largest value of A, by Lemma a 5—CS of Apax(v,m)K,
can be enclosed in a 5-CS of (Apax(v, m) +m)Kyio.

Since the cases where m =t (by Corollary and where v > 5, m >t and
A € {Min(v, M), Amax(v, m)} have now been settled, it is left to show that for m > t,
v > 5, and for all A satisfying Conditions (a-c) with A\ (v,m) < A < Apax(v, m)
there is an enclosing of a 5-CS of AK, in a 5-CS of (A + m)K, 5. The proof is by
induction on m. Tables [3.12] B.13] [3.14] and [3.15] were formed using Theorem [1.2.2]
and Corollary [3.4.7] and will help in establishing for each value of A that the enclosing
can be produced using two smaller enclosings.

v (mod 10)
m 0o 1 2 3 4 5 6 78 9
2t(v) 0 5 0 5 10 0 0 O 10 5
3t(v) 0 0 0 0 10 0 10 O O 5

Table 3.12: Checking the largest values of A: each cell contains Ap.x(v,m) —
Amax (0, (V) — Amax (v, m — t(v)) except for some special values listed in Table

v

m 10 12 13 15 16 17 18 22 23 27 28 32 33
2t(v) 0 10 5 0O 10 5 10 0 5 0 10 0 5
3t(v) 10 10 5 5 0 O 10 10 5 5 10 10 5

Table 3.13: Checking the largest values of A: each cell contains Apax(v,m) —
Amax (0, £(V)) — Amax (v, m — t(v)).

Suppose for some integer m > 2t and for all s with 1 < s < m, every 5-CS
of MK, can be enclosed in a 5-CS of (A + s)K,2. From Tables [3.12] and [3.13]
)\max<vu m) - )\max(vat) - /\max(vv m — t) < {07 )\diﬁ‘(@)}, 50 )\r:lax(vu m) S )\max<1},t) +
A
A

max(V,m — t). Similarly from Tables [3.14] and [3.15] Apin(v,m — t) + Apin(v, ) —
min(V, M) € {0, A\gig(v) }, 80 Amin (v, m—1) +Amin (v, ) < AL (v, m). Thus A (v, m—

1)+ Amin(v,1) < A < Apax(v,m — 1) + Apax(v,t). Since for each v we know that
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(mod 10

4
0

m 2
any m 0

Ol W <
| CoI~—

d
7
0

ol ©

Table 3.14: Checking the smallest values of A for v £ 0,1,5 or 6 (mod 10): each cell
contains Amin(v, m — (V) + Amin (v, £(V)) — Amin (v, M).

m

v (mod 10) 0 ¢ 2t 3t 4t
0,6 10 0 10 10 10
1,5 5 0 5 5 5

Table 3.15: Checking the smallest values of A for v = 1 or 6 (mod 10): each cell
contains Apin (v, m — £(v)) + Apin (v, £(v)) — Amin (v, M).

Adir(v) = Agir(v, m) is constant for all m, it follows that there exist non-negative inte-
gers Ap, Ay for which Apin (v,1) < A1 < Apax (0, 6), Amin (v, m—1) < Ay < Apax (v, m—1),
and A\ + Xy = A, and there exist positive integers my, my with my; + mo = m such
that for 1 < i < 2 there exists a 5-CS of \; K, that can be enclosed in a 5—CS of
(Ai+m;) Ky 4o. So the union of these enclosings proves that any 5-CS of (A +X2) K, =
AK, can be enclosed in a 5-CS of (A1 +mq) + (Ao +me))Kypio = A+ m)Kyo. O
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Chapter 4
5-CS of (A +m) Ky — AK, when u =1

4.1 Introduction

We now turn to generalizing the enclosing results from Chapter 2 As said in
Chapter [1} showing that a 5-CS of AK, can be enclosed in a 5-CS of (A + m) K,
is the same as showing there exists a 5-CS of (A + m)K,,, — AK, in the case where
there exists a 5—CS of AK,. We will solve some of the cases where the existence
condition of a 5-CS of AK, is removed.

Not surprisingly, necessary conditions for the existence of a 5-CS of (A+m) K, 1, —
AK, in Lemma are very similar to the necessary conditions in Lemma [2.1.2]
Lemma will help establish some of the conditions in the following lemma since
in Lemma the existence of a 5-CS of AK, was not used to establish every
condition in this theorem.

Lemma 4.1.1. Let v, m, and u be positive integers. If there exists a 5-CS of (A +
m)Kyru — MK, then:

(a) A+ m)u+m(v—1)=0 (mod 2),

(b) (W+u—1)(A+m)=0 (mod 2),

(c) (5)(A+m)+m(3) +vu(A+m) =0 (mod 5),

(d) if u=1, then m(v — 1) > 3(A+ m),

(¢) if u=2, then m(3) —2(A+m) — (v —1)(A+m)/2 >0, and

(f) if u> 3, then [vu(A +m)/4] + 2¢ < mv(v —1)/2 4+ (A + m)u(u — 1)/2 where
e=0orl ifvu(A+m)=0 or2 (mod 4) respectively.

Proof. Suppose there exists a 5-CS of (A + m)K, 1, — AK, (V U U,C) where V
contains the vertices in AK,, U contains the other vertices in (A + m)K,, and
C' contains the 5-cycles that partition the edge set of (A + m)K,., — AK,. Then
each vertex in V' and U must have even degree. So (A 4+ m)(u — 1) + (A +m)v =
(A+m)(v+u—1) and m(v— 1)+ (A +m)u are both even, proving (a) and (b). Since
the number of edges in (A + m)K,,, — AK, must be divisible by 5, it follows that
A+m)(5) +m(y) + vu(A+m) =0 (mod 5), thus Condition (c) is established.

Using the work in the proof of Lemma Conditions (d-f) can be estab-
lished since the existence of a 5-CS of MK, is not used to prove Conditions (c-e) of
Lemma [2.1.2] For completeness, we will reconstruct the argument here.

Suppose u = 1. Then every 5-cycle that contains at least one mixed edge must
have three pure edges joining vertices in V' and two mixed edges that join a vertex in
V to avertex in U. Since there are mv(v—1)/2 pure edges, mv(v—1)/6 > v(A+m)/2,
thus establishing Condition (d).
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Suppose u = 2. Then there must be A + m 5-cycles that contain a pure edge
joining vertices in U. These 5-cycles also contain 2(A+m) pure edges joining vertices
in V and 2(A + m) mixed edges joining a vertex in V' to a vertex in U. Since each
remaining 5-cycle must contain at least one pure edge and at most four mixed edges
and there are 2(v — 1)(A + m) remaining mixed edges, it follows that

2w —-1)(A+m) _ m('z)
2

(v—=1)(A\+m)

)—2()\+m)— 5 .

ogm(;) —2(\ +m) —

Therefore Condition (e) holds.

Suppose u > 3. Then every 5-cycle must contain at least one pure edge and at
most 4 mixed edges. So there are at least [vu(A+m)/4] 5-cycles that contain mixed
edges. But if vu(A +m) = 2 (mod 4), one of these 5-cycles must contain 2 mixed
edges and 3 pure edges. So [vu(A+m)/4] +2¢ < mv(v —1)/2+ A+ m)u(u—1)/2
which shows Condition (f) holds. O

For the remainder of the chapter let U = {oo}. Sections and will show
that the conditions in Lemma 4.1.1| are sufficient for v = 1. In particular, Section [4.2
addresses the cases when m is small. These cases will then be used to construct the
main result of this chapter, Theorem [£.3.1] in Section [4.3]

4.2 5-CSs of (A\+m)K,;1 — AK,: The small cases

Notice that when v #Z 2,3,7, or 8 (mod 10) the A-admissible values and corre-
sponding m values that satisfy Theorem [2.3.2] are identical to the A-admissible values
and corresponding m values that satisfy Lemma M(a—d). So all we need to do is
prove that a 5-CS of (A +m)K,;; — AK, exists when v =2,3,7 or 8 (mod 10).

We will use almost the same definitions used in Chapter 2 The only change is
that we will define D(v); differently. When v and ¢ are both even, it is useful to
let D(v); be formed from D(v), by removing ¢/2 copies of the difference v/2. Let
D(v); = D(v), if v and ¢ are not both even.

Lemma shows that the number of 5-cycles defined on the vertices in V is
divisible by v and also points to the main approach used in Lemma [£.2.3] So the
parameter

Od:m(v—l)—?;()\—l—m)

2
restated here, will play a critical role throughout the remainder of the paper.
The next lemma will be used when constructing the 5-cycles that contain the
vertex oo; each such 5H-cycle uses exactly 3 pure edges in V.

Lemma 4.2.1. Suppose that Conditions (a-d) in Lemma are satisfied. Then if
v is odd, or if both v and m are even, 3 divides m(v —1)/2 — a. If v is even and m
is odd then 3 divides m(v —1)/2 —a — 3/2.
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Proof. If v is odd then by Lemma [{.1.1[a), A + m is even. If v is even then \ is
even by Lemma [£.1.1(b). So if v is odd or if both v and m are even, then 3 divides
m(v — 1)/2 — a. Now suppose v is even and m is odd. It is clear that 3 divides
m(v—1)/2 —a—3/2 =3(A+m —1)/2 and otherwise 3 divides m(v —1)/2 —a =
3(A+m)/2. O

The next lemma will be most useful in Theorem but also plays a role in
Lemma [£.2.3

Lemma 4.2.2. If Conditions (a-d) of Lemma hold for any given v and m when
u = 1 then the difference between consecutive A values that are admissible is 10 if
v #Z 0 (mod 5) and is 2 if v = 0 (mod 5). Furthermore, this difference is constant
for all values of m.

Proof. For any given v and m, the difference between consecutive values of \ that
satisfy Conditions (a-d) of Lemma {4.1.1] say Ag;g(v,m), is a constant. Also by
Lemma [1.1.1a-c), Agig(v,m) =0 (mod 2) and vAgig(v,m) =0 (mod 5), so

vAgig(v,m) = 0 (mod 10) if v £ 0 (mod 5) and vAgg(v,m) = 0 (mod 2) if v =0
(mod 5). Since Agig(v,m) must be the smallest such value, Agig(v,m) = 10 or
Aig(v,m) = 2 if v Z 0 (mod 5) or v = 0 (mod 5) respectively. Notice that if
my # my then Agig(v, m1) = Agig(v, ma). O

For all positive integers v and m, let A\yax(v,m) and Ay (v, m) be the largest
and smallest integers for A respectively satisfying Conditions (a-d) in Lemma m
with v = 1. As was done in Chapters [2] and [3| we will use smaller 5-CSs to build
larger 5-CSs. This is the basis behind the induction proof given in Theorem [£.3.1]
So we now focus on finding a 5-CS of (A +m)K,;1 — AK, where m = 1 and where
A € {Amin(v, M), Apax (v, m)} for small values of m.

Lemma 4.2.3. Let v =2,3,7 or 8 (mod 10) and assume Conditions (a-d) of
Lemma are satisfied. Suppose at least one of the following statements is satisfied:

e m =1 or bothm € {2,3} and A = A\pax(v,m);

e m=2,A=2 andv =2 (mod 10),

o (\,m)e{(2,4),(1,7)} and v =3 (mod 10); or

e (\,m)€{(2,4),(6,2),(4,3)} and v =8 (mod 10).

Then there ezists a 5-CS of (A +m)K,11 — AK,.

Proof. Let V = 7Z, be the vertex set of A\K, where v = 10k +¢ for some ¢ € {2,3,7, 8}
and let U = {oo}. If A = 0 then there exists a 5-CS of mK, by Theorem[1.2.2] Notice
that by Lemma M(d), v > 7 when A > 1. By defining the sets of 5-cycles B and C,
our aim is to show that there exists a 5-CS (VU {oo}, BUC) of (A+m)K,11 — AK,.

First, note that by Lemma [2.2.2] the number of edges, av, from 5-cycles with
5 pure edges is given in Equation (3.1). Since this is divisible by v, our plan is to
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create these 5-cycles using the edges of a specially chosen differences. Notice that by
Lemma [1.1.1(d), & > 0 and by Lemma [.1.1}(c),

m(;}) +v(A+m)=Ll(A+m)+3(v—1)m=0 (mod5)

so that —3(A 4+ m) = 4m(v — 1) (mod 5). Then

m(v—1)=3A+m)=m(v—1)+4m(v—1)
=5m(v—1)
=0 (mod 5),

and so @ = 0 (mod 5). This shows we can distribute the a specially chosen differences
into 5-cycles.

Suppose m = 1or (m, A\, ¢) € {(2,2,2),(4,2,3),(7,1,3),(2,6,8),(3,4,8)}. Skolem
and hooked Skolem sequences will be used to explicitly describe the 5-cycles contain-
ing all the edges of « differences (yet to be chosen). To form the set of 5-cycles B we
consider the cases ¢ € {2,3} and ¢ € {7,8} in turn.

Suppose ¢ € {2,3}. Let P' = {(2,9}) | 1 <i <k —1,y, >z} be the collection
of pairs from a Skolem sequence or hooked Skolem sequence of order k — 1 for the
set {1,2,...,2k —2} or {1,2,....2k — 1}, if k—1=0o0r 1 (mod4) or k—1 =
2 or 3 (mod 4) respectively (see Theorems [1.1.1| and [1.1.2]). So each element in
{1,2,...,2k—=2} or {1,2,...,2k — 1} \ {2k — 2} occurs in exactly one element of P’.
Now define P = {(x; = =}, + 2,y; =y, + 2) | («},y;) € P'}. Then let

where computations are done modulo v. So for m = 1, form the set of 5-cycles
B=A{c;+j|i€Zas,c; € B',j € ZLy,}. Table lists the differences of the edges
that occur in 5-cycles in B’ when « is as large as possible. When « is as large as
possible (A is as small as possible), a/b =k —2or k—1and |B'|=k—2or k—1if
¢ = 2 or 3 respectively. So B’ is large enough to construct the required 5-cycles.

‘ Edges | Differences when k — 1= 0,1 (mod 4) | Differences when k — 1 = 2,3 (mod 4) |
{0.$Z},{$1$2—y1} 3,4,72k 3,4,2k—1,2k+1
{2; — yi, 3k} 3kr1,3k+2,... 4k—1 3k 1,3k t2,. 4k_1
(3k,5k +1+i} % 12,2k +3,....3k 2% +2,2k+3,....3k
{5k +1+i,0} 5k—24 0,6k —340,... 4kt 0 5k—24 0,6k —340,... 4k+(

Table 4.1: Edges of differences in B’ when « is as large as possible for ¢ € {2,3} and
m=1

If m=2 A=2 and ¢ =2, then «/5 = 2k — 1 and |2B’| = 2k — 2, so we must
create one more 5-cycle constructed from differences. To account for this, form the
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set of b-cycles B=2{c;+j |1 € Zx_1,j € Zy,c; € B'}U{c+j|j€ Z,} where B’ is
defined in Equation (4.1]) and

(0,1,2,2k+3,2k+1) ifk—1=0,1 (mod 4), and
(0,2k, 2k +1,1,2) if k—1=2,3 (mod 4).

The 5-cycle ¢ uses the differences 1, 1, 2, 2k + 1, and 2k + 1 if k — 1 = 0,1 (mod 4)
and the differences 1, 1, 2, 2k, and 2k if Kk — 1 = 2,3 (mod 4).

Ifm=4,A=2 and ¢ = 3, then a/5 = 4k — 1 when « is as large as possible and
|4B'| = 4k — 4, so we must construct three more 5-cycles using differences. In this
case form the set of 5-cycles B = 4{c;+j | i € Zi—1,j € Zy,¢; € B'}U{C] (o0 2) 7 |
J € Zy,i € Z3} where B’ is defined in Equation and

(0,1,2k + 2,4k + 3,4k +1) ifi=0andk—1=0,1 (mod 4),
¢ =< (0,1,4k + 2,2k + 2,2) ifi=0and k—1=2,3 (mod4), and (4.2)
(0,1,2,4k + 3,4k + 1) if i = 1.

Notice that ¢ is repeated twice in B so that if k—1 =0 or 1 (mod 4) then {¢] ;04 9) |
i € Z3} uses three copies of the difference 2 and four copies of each of the differences
1,2k+1,and 4k +1and if k—1 =2 or 3 (mod 4) then {¢] ;4 9) | € Z3} uses three
copies of the difference 2 and four copies of each of the differences 1,2k, and 4k + 1.

Ifm=7 A=1,and ¢ = 3, then «/5 =Tk — 1, and |7TB’'| = 7k — 7, and so we
need to construct six more 5-cycles using differences. Under these conditions form
the set of 5-cycles

B=T{ci+j|i€Zx1,j € ZLy,c; € BYU3{ch+j|jELIU{,+7|jEL}
U2{c;+j|Jj€Z}

where B’ is defined in Equation , ¢y and ¢ are defined as in Equation , and
¢y = (0,1,4k + 3,8k + 4,4k + 2). The 5-cycles ¢, ¢} and ¢, in B use four copies of
difference 2, six copies of the difference 4k 4 2, seven copies of both of the differences
1 and 4k + 1, and six copies of the difference 2k + 1 or the difference 2k if k =0 or 1
(mod 4) or k =2, or 3 (mod 4) respectively.

Now suppose ¢ € {7,8}. Let P = {(z;,v:) | 1 <1i < k,y; > z;} be the collection
of pairs from a Skolem sequence or hooked Skolem sequence of order k£ for the set
{1,2,...,2k} or {1,2,...,2k+ 1}, if k =0 or 1 (mod4) or £k = 2 or 3 (mod 4)
respectively. Define

where computations are done modulo v. So form = 1or (m, A, ¢) € {(2,6,8),(3,4,8)},
form the set of 5-cycles B = {c;+j | i € Zass5,¢ moa k) € B',j € Zy}. Table lists
the differences of edges that occur in cycles in B when « is as large as possible (A
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is as small as possible). Since |mB’| = mk and «/5 is k, k — 2, 2k — 1, or 3k when
(m, A\, 0)is (1,1,7), (1,8,8), (2,6,8), or (3,4,8) respectively (note that if m = 1 and
a is as large as possible then A\ = 1 or 8 when ¢ = 7 or 8 respectively), there are
enough 5-cycles in mB’ to construct all of the 5-cycles with only pure edges when

m=1or (m,\{) € {(2,6,8),(3,4,8)}.

‘ Edges | Differences when £ = 0,1 (mod 4) | Differences when k = 2,3 (mod 4) |
{0, 2}, {ai, @ — yi } 1,2,...,2k 1,2,...,2k— 1,2k +1

(o —yn 3k + 2} 3 +3.3k+4,. . dkt2 3+ 3.3k + 4, dk+2
{3k + 2,5k +4+1} 2k +3,2k+4,...,3k+2 2k +3,2k+4,...,3k+2

5k +4+0,00 | 5k—5+05k—6+0,... 4k—4+0|5k—5+05k—6+0,.. dk—4d+¢

Table 4.2: Edges of differences in B’ when « is as large as possible for ¢ € {7,8} and
m =1

Now suppose m =4, A = 2, and ¢ = 8. Since /5 = 4k + 1 and |4B'| = 4k, we
need to construct one more 5-cycle constructed from differences. So we form the set
of 5-cycles

B=4{ci+j|i €Ly j € Lyc; € BYU{(0,4k+3,2k+1,6k+4,8k+6)+] | j € Z,}

where B’ is defined in Equation and computations are done modulo v and
(0,4k + 3,2k + 1,6k + 4,8k + 6) uses the differences 2k + 2, 2k + 2, 2k + 2, 4k + 3,
and 4k + 3.

To define C, let ¢ € {2,3,7,8}. By Lemma [1.2.1] if v is odd or both v and m
are even then 3 divides (m(v—1)/2 — «) and if v is even and m is odd then 3 divides
(m(v—1)/2—a—3/2). So form a partition P, from the differences not used to form
B into (m(v—1)/2 — «)/3 sets of size 3 (not multisets) when either v is odd or both
v and m are even, and form a partition P, from the differences not used to form B
into (m(v—1)/2—a—3/2)/3 sets of size 3 (not multisets) and one set {d, v/2} of size
2 with d # v/2 when v is even and m is odd; this ensures that d; < d3 and dy < v/2
when defining C. Form the set C of 5-cycles

C' ={(dy,0,ds,ds + ds,00) + j | {d1,da,d3} € Py with dy < dy < d3,j € Z,}. (4.4)
when either v is odd or both v and m are even and the set

C ={(dy,0,d3,ds + d3,00) + j | {d1,ds,d3} € Py with dy < dy < d3,5 € Z,} (4.5)
U{(20.5,5+doc) +i1{5.d} € Poj€Zup}.

when v is even and m is odd. By Lemma the elements of C' are 5-cycles. Thus

(Z, U {0}, BUC) is a 5-CS of (A +m)K, 41 — AK, with v =2,3,7, or 8 (mod 10)

and m = 1 or with (\,m,¢) € {(2,2,2),(2,4,3),(1,7,3),(2,6,8),(3,4,8), (4,2,8)}.
Now suppose m = 2, A\ = Apax(v,m), and v = 2,3,7, or 8 (mod 10). For
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any fixed values of v and m, v-admissible values of A differ by multiples of 10
by Lemma {4.2.2) and so the corresponding « values differ by multiples of 15 (by
Lemma [2.2.2)). So when A = A\pax(v, m) it follows that o € {0,5,10}. Then let

] if a =0,
B=14{(0,1,4,2,6)4+j | j € Z,} if « =5, and
{(0,1,4,2,6)+7|j € Z,} U{(0,1,4,2,6)+j|j€Z,} ifa=10,

and let = @,{1,2,3,4,6}, or {1,1,2,2,3,3,4,4,6,6} when a = 0,5, or 10 respec-
tively. By Lemma [1.2.1] |D(v); \ 8| = 0 (mod 3). Notice that if v =7, m = 2, and
Amax(7,2) = 2, then @ = 0 and if v = 8 and m = 2 then there are no 5-CSs of
(A+m)K,+1 — AK, by Lemmal4.1.1a-d), so these 5-cycles in B can be constructed.
Form C using Equation (4.4)) when either v is odd or both v and m are even and
using Equation when v is even and m is odd. Thus (Z,U{occ}, BUC) is a 5-CS
of AN+ 2)K,11 — AK, for v =2,3,7, or 8 (mod 10) and A = A\yax(v, m).

Let m = 3 and A = A\pax(v,3) = v — 4. It follows that o« = 0 for all k, so define
B = @. Form C using Equation (4.4]) when either v is odd or both v and m are even
and using Equation (4.5) when v is even and m is odd. Therefore (Z, U {oc}, BUC)
is a 5—CS of (A\+3)K,11 —AK, forv=2,3,7, or 8 (mod 10) with A = A\pax(v,3). O

4.3 5-CSs of (A\+m)K,;1 — AK,: The Main Result

In the following theorem, Lemma is used as a basis for an inductive argu-
ment to settle the problem of constructing a 5-CS of (A +m)K, 11 — AK,.

Theorem 4.3.1. Let m > 1. There exists a 5-CS of (A+m)K,11 — AK,, if and only
of

(a) A+ m)+m(v—1)=0 (mod 2),
(b) v(A+m)=0 (mod 2),

(c) m(3) + v(A+m) =0 (mod 5), and
(d) m(v—1) > 3(A+m).

Proof. The necessity follows from Lemma [4.1.1] so we now prove the sufficiency. If
A = 0 then by Condition (a), mv =0 (mod 2) and by Condition (c), mv(v+1)/2 =0
(mod 5); so by Theorem there exists a 5-CS of mK, 1. So we can also assume
that A > 1. By Condition (d), v € {1,2, 3,4}, so we know v > 5. By Theorem [2.3.2]
there exists a 5-CS of (A +m)K,1 — MK, for v # 2,3,7 or 8 (mod 10), and so we
can assume v = 2, 3,7 or 8 (mod 10). Let V' be the vertex set of AK,, and U contains
the other vertex in (A 4+ m)K,11.

First we establish that for any given v, the difference between consecutive val-
ues of A that satisfy Conditions (a-c) is a constant; call this difference Agig(v).
Lemma establishes this claim and shows that Agig(v) = 10. Secondly, for all
m > 1 and v > 5, we will show there exists a 5-CS of (A +m) K, — AK, for both

73



the smallest and the largest values of \ satisfying all of the conditions. Finally for
all m > 1 and v > 5 it will be shown that for all A satisfying Conditions (a-d) there
exist non-negative integers \;, Ay with A\; + Ay = X\ and positive integers my, mo with
my + mg = m such that there exists a 5-CS of (\; + m;)K,11 — N K, for @ € {1,2}.
So the union of these two 5-CSs completes the proof.

We turn to the second step in the proof; establishing the existence of the 5-CS
for the smallest and largest values of A given v and m. Beginning with the smallest

value, Table {4.3| lists the values of Ay, (v, m) using Theorem and Lemma 4.2.3]
Four cases are considered in turn based on the value of v.

m (mod 10)
v (mod10) 1 2 3 4 5 6 7 8 9 0
2 6 2 8 4 0 6 2 8 4 0
3 36 9 2 5 8 1 4 7 0
7 123 45 6 7 8 90
8 8 6 4 2 0 8 6 4 2 0

Table 4.3: List of Apin(v, m) values

Suppose v = 2 (mod 10). By Lemma a 5—CS of (Amin(v,m) +m)Kyyq —
(Amin(v,m)) K, exists for m = 1 and 2. From examining Table it is easy to see
that the union of

(Amin(v’ m/> + m,)Kv-f—l - ()\min(v’ m/))KU

and
(Amin(v, m") +m") Kyp1 — (Amin (v, m")) K,

where m’ = 1 and m” = 2 or m' = 2 and m” = 2 form a 5-CS of (Apn(v,m) +
m)Kyi1 — (Amin(v, m)) K, where m = 3 or 4 respectively. Now we can form a 5-CS
of Amin(v,5) +5)Kyi1 — (Amin(v, 5)) K, by taking the union of

()‘min(va 2) + 2)K1;+1 - (Amin(% 2)>K'U

and
(Amin(va 3) + 3)K'U+1 - ()\min(vy 3))K”U

We will revisit what happens when m > 5 after we examine when v = 8 (mod 10)
and m <5

Suppose v = 8 (mod 10). It follows by Lemma[d.2.3|that a 5-CS of (A (v, m)+
m)Kyi1 — (Amin(v,m)) K, exists for m < 4. By Theorem [2.3.2] there exists a 5-CS
of ()\min(?], 5) + 5>Kv+1 - (/\min(va 5))Kv

Now suppose v = 2 or 8 (mod 10). By using the 5-CS of 5K, ;1 (which exists by
Theorem we will generate the remaining 5-CS for m > 6 when A = Ay, (v, m)
using induction on m. Suppose for some m > 6 and for all s with 1 < s < m
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there exists a 5—CS of ((Amin(v,8) + 8)Kyy1 — (Amin (v, 8)) K. Since Apin(v,m —5) =
Amin (v, m) and there exists a 5-CS (V U U, By) of

(Amin(v,m = 5) +m — 5) Kyy1 — (Amin(v, m — 5)) K,

and a 5-CS (VUU, By) of 5K, 1, it follows that there exists a 5-CS (V UU, B; U By)
of

((Amin(v,m —5) +m —5) + 5)Kyy1 — (Amin(v,m — 5)) K,
= (Amin(v,m) +m)Kyi1 — (Amin(v, m)) K.

Suppose v = 3 (mod 10). By Lemma we have established the existence of
a 5-CS of (Amin(v,m) + m)K,11 — (Amin(v,m))K, for m € {1,4,7}. So by taking
the union of particular copies of these 5-CSs, we can form a 5-CS of (A (v, m) +
m) K11 — (Amin(v,m)) K, for m € {2,5,8}. Since we can build a 5-CS of (A +
m)K,4+1 — AK, in the case when A is as small as possible and m € {1,2,4,5,7,8},
we can form a 5-CS of (Apin(v,m) +m)Ky11 — (Amin(v,m)) K, for m € {3,6,9,10}
by taking the union of 2 particular copies of the 5-~CSs we have already constructed.
We will revisit what happens when m > 10 after we examine when m < 10 and v =7
(mod 10).

Suppose v = 7 (mod 10). Then by Lemma , we can form a 5-CS of
(Amin(v,1) + D) Kyi1 — (Amin(v,1))K,. So by using successive copies of this 5-CS,
we can form a 5-CS of (Apin(v,m) + m) K1 — (Amin(v,m)) K, for 2 < m < 10.

Now suppose v = 3 or 7 (mod 10). We will use induction on m in this proof to
construct the remaining 5-CSs. As before, we use the existence of a 5-CS of 10K,
(which exists by Theorem[1.2.2)) and a 5-CS of (Awin (v, m)+m) Kyt1— (Amin (v, m)) K,
for m < 10 to assist constructing larger 5—CSs. So suppose for some m > 11 and for
all s with 1 < s < m, there exists a 5—CS of (Amin(v, ) + $) K1 — (Amin(v, 8)) K.
Since there exists a 5-CS (V U U, By) of

()\min(v7m — 10) +m — 10)Kv+1 - ()\min(v7m - 10))K'U’

since there exists a 5-CS (VUU, By) of 10K 41, and since Apin (v, m—10) = A\yin (v, m),
it follows that there exists a 5—CS (V U U, By U Bsy) of (Anin(v,m) + m)K, 1 —
(Amin(v, m)) K.

We now turn to constructing a 5-CS of (A+m) K, 1 —AK, where A = A\ax(v, m).
The proof of this case will be done using induction on m. By Lemma there
exists a 5—CS of (Apax(v, m)+m) Kyi1— (Amax (v, m)) K, for m € {1,2,3}. Suppose for
some m > 4 and for all s with 1 < s < m there exists a 5-CS of (Apax(v, $)+5) Kyi1—
(Amax(v, 8)) K. Since Apax (v, m — 3) 4+ Amax (v, 3) = Amax(v, m) by Lemma[2.3.1] there
exists a 5-CS of

(>\max<vy m — 3) +m — 3)K0+1 - ()\max<U, m — 3))Kﬂ

and there exists a 5~CS of (Apax(v,3) + 3) Kpi1 — (Amax(v, 3)) Ky, it follows that the
union of these two 5—CSs form a 5-CS of (Apax(v,m) +m)Ky11 — (Amax(v, m)) K.
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v (mod 10)
m 2 3 7 8
2 0100 10,00 00,10 0100
310,100 10,0,10 0,10,10 10,100

Table 4.4: Each cell contains Apax (v, m) — Apax (v, m — 1) — Apax (v, 1) for £ =0, 1,2
(mod 3) in turn

m (mod 10)
v (mod10) 1 2 3 4 5 6 7 8 9 0
2 0 10 0 10 10 O 10 O 10 10
3 o0 o0 10 0 0 10 0 0 10
7 oo o o o0 00 0 0 10
8 0 10 10 10 10 0 10 10 10 10

Table 4.5: Each cell contains Ay (v, m — 1) + Apin (v, 1) — Amin (v, m)

Now we turn to the third and final step of the proof using induction on m.
We have settled the cases where m = 1 and where v > 5, m > 1, and A €
{Amin (v, M), Amax (v, m) }. Tt is left to show that there exists a 5-CS of (A+m) K11 —
AK, for m > 1 and A\pin(v,m) < A < Apax(v,m). Tables and were formed
using Theorem [1.2.2] and Lemma |4.2.3] These tables will be instrumental in showing
that we can use smaller 5-CSs to form larger 5-CSs. Suppose for some m > 1 and
for all s with 1 < s < m there exists a 5-CS of (A+ $)K,;1 — AK,. By Lemma m,
Adiff(v) is constant for all m. From Table [4.4]

Amax(V; M) = Amax (v, m — 1) = Amax(v, 1) € {0, Agifr(v) }
and so
Amax (U, M) — Agigg (v, M) = Amax(v,m) — 10 < Apax (v, m — 1) + Apax (v, 1).
Similarly, Table [4.5] shows that
Amin (U, M — 1) + Apin (v, 1) — Apin (v, m) € {0, Agig(v)},
and so
Amin(V, M — 1) + Apin(v, 1) < Apin(v, m) + Agig(v, m) = Amin (v, m) + 10.
This shows that
Amin (0, m — 1) + Apin (v, 1) <A < Apaxc(v,m — 1) + Apax (v, 1).

It follows that there exist non-negative integers Aj, Ay for which Apn(v,1) < Ay <
Amax (V5 1), Amin(v,m — 1) < Ao < Apax(v,m — 1), and Ay + Ay = A, and there exist
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positive integers my, my with my + mo = m such that for 1 < ¢ < 2 there exists a
5-CS of (A\; + m;) Ky 1 — N\ K. So the union of these two 5-CSs proves there exists
a 5h-CS of (A +m)K, 11 — \K,. O
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Chapter 5
5-cycle systems when m =0

5.1 Introduction

In this chapter we will settle the existence of a 5-CS of AK,,, — AK, except
possibly in the case where A = 5 (mod 10), v = v+ u =1 (mod 2), and A < v <
(u—1)/3 and in the case where A = 2,4,6, or 8 (mod 10), v = 0 (mod 5), and
v/2+1<u<wv/245. To do this, the methods in this chapter draw heavily from
the proof methods established in Chapters [2Hd] Notice that if a 5-CS of a MK, exists
then this is an embedding type problem rather than an enclosing.

In the literature there is one result which settles the existence problem in the
special case where A =1 and m = 0 [11]:

Theorem 5.1.1. [I1] There exists a 5-cycle system of K,y, — K, if and only if

(a) u>v/241, and
(b) v+u=v=3 (mod 10), orv+u,v =1 or5 (mod 10), or v +u,v =7 or 9
(mod 10).

Section [5.2] will find some necessary conditions for the existence of a 5-CS of
MK, — AK, and establish some conditions that will be useful in subsequent lemmas.
In Section [5.3], we will establish that these necessary conditions are sufficient in the
case where A = 5 (mod 10) and v < 3v + 1. Section will show the necessary
conditions in Lemma [5.2.1] are sufficient except possibly in two cases.

5.2 5-CSs of A\K,., — AK,: Preliminary Results

The following necessary conditions are remarkably similar to those given in The-
orem [5.1.1] Notice that Theorem [5.1.1] proves the conditions in Lemma [5.2.1a) are
necessary and sufficient by taking A\ copies of a 5-CS of K,,, — K,. Recall that an
edge is said to be pure if it joins two vertices in V or if it joins two vertices in U,
otherwise it is said to be mixed.

Lemma 5.2.1. If there exists a 5-CS of NKy4, — AK, then u > v/2+ 1 and

(a) If N\ =1,3,7, or 9 (mod 10) then

v4+u,v=1 or5 (mod 10);
v+u,v="T7or9 (mod 10); and
v+u=v=3 (mod 10).

(b) If \=0 (mod 10) then any v > 1 and v +u > 5.
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(¢c) If \=2,4,6, or 8 (mod 10) then

)
v+u,v=0,1 (mod 5);
v+ u,v =24 (mod 5); and
v+u=v=3 (mod5H).

(d) If x\=5 (mod 10) then v and v + u are both odd.

Proof. Let V' UU be the vertex set of AK,, — AK, where V is the vertex set of AK,
and U contains the other vertices in AK,.,. If there exists a 5-CS of AK, 1, — AK,
then there is a limit to the number of mixed edges since every 5-cycle must contain
at least one pure edge. Hence 4 \u(u — 1)/2 > Avu shows u > v/2 + 1.

As said before, Condition (a) holds by Theorem If A =0 (mod 10) then
it is clear that v + u > 5 and so Condition (b) holds. Suppose that A =5 (mod 10).
Since the degree of each vertex must be even, v — 1 and v + u — 1 must be even
and so v and v + u must be odd showing that Condition (d) is satisfied. Suppose
that A\ = 2,4,6, or 8 (mod 10). Since the number of edges must be divisible by 5,
Avu+ Au(u—1)/2 =0 (mod 5) and so vu+u(u—1)/2 =u(2v+u—1) =0 (mod 5)
since A #Z 0 (mod 5). Condition (c) follows from this observation. O

There are three types of 5-cycles in AK,, — AK,, based on the number of mixed
and pure edges in each 5-cycle:

e one pure edge and four mixed edges,
e three pure edges and two mixed edges, and
e five pure edges.

Define these 5-cycles as Type A, B, and C respectively. A visual representation of
these 5-cycles is given in Figure [5.1} For the remainder of the chapter, let a, b, and

e o o |V e o o o | e o o o o |

A B C

Figure 5.1: Possible Types of 5-cycle

¢ be the number of 5-cycles of Type A, B, and C respectively. We may need to set
aside certain differences in order for the conditions of Lemma [5.2.2] to hold when
u = 0 (mod 5); let € be the number of differences we choose to set aside. If A =5
(mod 10) then € is always chosen to be 0. Furthermore, if © # 0 (mod 5) then € is
always chosen to be 0 and if w = 0 (mod 5) then € is always chosen to be in Z5. Since
there are Avu mixed edges and )\(g) pure edges in AK,, — AK,, we can set up the
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following system of equations:
da + 2b = \vu (5.1)

a+3b—|—50—)\<g) — €eu.

For the rest of the chapter, define

0 if w>3v+1 and
a =
u(ABv—u+1)+2¢)/10 if u <3v+1,
B Auv /2 if u>3v+1and (5.2)
C u(AN2u—v —2) —4€)/10 if u < 30+ 1, '

u(AMu—1—3v) —2¢)/10 if u>3v+1 and
CcC =
0 if u<3v+1.

The values for a, b, and ¢ in (5.2)) satisfy the system of equations in (5.1)).
The following lemma will be useful for showing that the values for a, b, and ¢ in
(5.2)) satisfy conditions that will become vital in Theorem [5.4.1|

Lemma 5.2.2. Suppose that \, v, and u satisfy Conditions (a-d) of Lemma
and A # 1,3,7, or 9 (mod 10). If u > 3v + 1 then

(i) b and ¢ are non-negative integers,

(i1) u divides c,

(11i) vu divides b if X is even or vu/2 divides b if \ is odd,

(iv) Mu—1)/2—=XNu—3v—1)/2=0 (mod 3) when A is even, and
(v) Mu—1)/2—=XANu—3v—1)/2—3v/2=0 (mod 3) when X is odd,

Ifv/2+1<u<3v+1 then

(vi) a and b are non-negative integers if A =0 (mod 5),
(vii) a and b are non-negative integers if X = 2,4,6, or 8 (mod 10) and u # 0
(mod 5) or if A =2,4,6, or 8 (mod 10), u =0 (mod 5), and u > v/2+5,
(viti) u divides a, and
(iz) w divides b if X is even.

Proof. Suppose that v > 3v + 1. Then it is clear that b and ¢ are non-negative.
Conditions () and (i) will be discussed in turn based on A.

If A =0 (mod 10) then ¢ is an integer and u divides ¢. If A =5 (mod 10) then
v is odd, w is even, and ¢ = 0 so that u — 1 — 3v is even and consequently c is an
integer and u divides ¢. Now suppose that A = 2,4,6, or 8 (mod 10). Then it is
clear that b = Auv/2 is an integer. Suppose u # 0 (mod 5) so that e = 0. We will
now show that (v — 1 — 3v) = 0 (mod 5) to show ¢ is an integer and w divides ¢
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when A =2/4,6, or 8 (mod 10). Let u = 5ky 4+ e; and v = 5kq + e5 satisfy Condition
(c) of Lemma where e; € Zs \ {0} (i.e. u # 0 (mod 5)) and ey € Zs. So the
possible values of e; and e are (e1,e2) € {(1,0),(4,1),(2,2),(3,4)}. It follows that
(u—1—-3v) =e; —1—3e3 =0 (mod 5) which shows ¢ is an integer and consequently
u divides ¢. Now let e; = 0 so that « =0 (mod 5). Then

AMu—1—3v) —2e=—X—3X ey —2¢  (mod 10)

and so for some € € Zs, —A —3Xea —2¢ = 0 (mod 10). This shows that ¢ is an integer
and u divides ¢ and so Conditions (¢) and (ii) are satisfied.

Since b = Auw/2, it is clear that vu divides b or vu/2 divides b when A is even or
odd respectively, so Condition (i7i) holds. Since A(u—1)/2—A(u—3v—1)/2 = 3v\/2
is divisible by 3 when A is even and A(u—1)/2—A(u—3v—1)/2—3v/2 =3v(A—1)/2
is divisible by 3 when A is odd, it follows that Conditions (iv) and (v) are satisfied.

Finally, suppose that u < 3v +1. Then a > 0 and b > 0 (since u > v/2 + 5 if
A=2,4,6, or 8 (mod 10) in this lemma). To show a is divisible by u we go through
the same argument as before. If A = 0 (mod 10) then a is an integer and u divides
a. If A =5 (mod 10) then v is odd, u is even, and € = 0 so that 3v —u + 1 is even
and consequently a is an integer and u divides a. Now suppose that A\ = 2,4,6, or
8 (mod 10). Also, suppose u # 0 (mod 5) so that ¢ = 0. We will now show that
(u—1-=3v) =0 (mod 5) to show a is an integer and u divides @ when A = 2,4, 6, or
8 (mod 10). Let u = 5k1 + €; and v = 5k + e, satisfy Condition (c) of Lemmal5.2.1]
where e; € Zs \ {0} (i.e. u # 0 (mod 5)) and ey € Zs. So the possible values of
ey and ey are (eg,e2) € {(1,0),(4,1),(2,2),(3,4)}. It follows that (3v —u + 1) =
3es —e; +1 =0 (mod 5) which shows a is an integer and consequently u divides a.
Now let e; = 0 so that w = 0 (mod 5). Then

ABv—u+1)—2e=X+3Xeg —2¢ (mod 10)

and so for some € € Zs, A+ 3Xey —2¢ = 0 (mod 10). This shows that a is an integer
and u divides @ and so Conditions (i) and (ii) are satisfied. Conditions (vi), (vii),
and (iz) will be discussed in turn based on .

When A =0 (mod 10), Conditions (vi) and (ix) are satisfied. If A =5 (mod 10)
then u is even and so it is clear that Condition (vi) is satisfied. Let A = 2,4,6, or
8 (mod 10). Suppose that u # 0 (mod 5) so that e = 0. Let u = 5k; + e; and
v = Bky + ey satisfy Condition (c¢) of Lemma where e; € Zs \ {0} and ey € Zs,
so the possible values of e; and ep are (eq,es) € {(1,0),(4,1),(2,2),(3,4)}. Hence it
is clear that A(2u — v — 2) = A(2¢; — e3 —2) = 0 (mod 10), so b is an integer and
u divides b. Now suppose that u = 0 (mod 5). If A is even then there exists some
€ € Zs such that A\(2u — v — 2) — 8¢ = A(—eg — 2) — 8¢ = 0 (mod 10). Therefore
Conditions (vii) and (ix) are satisfied. O

When v =0 (mod 5) and A 5 (mod 10), we need to use edges of 0, 1, 2, 3, or
4 differences (depending on the value of €) to construct some 5-cycles with only pure
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edges so that the total number of remaining differences needed to build 5-cycles with
only pure edges is divisible by 5. To this end, remember back to Section where
Gu(D(u);) is defined as containing ¢ copies of each edge with difference in D(u)*.
We will use the observation that there exists a 5-CS of G,({u/5}) and a 5-CS of
G.({2u/5}) when u = 0 (mod 5), since each component is a 5-cycle. Recall that
G.({1,2,3}) is a 5-CS by Lemma [2.2.1 when v = 0 (mod 5). Let (Z,,T1), (Z,, )
and (Z,,T's) be a 5-CS of G,({u/5}),G.({2u/5}), and G,({1,2,3}) respectively
when v =0 (mod 5).

5.3 5-CSs of AK,1, — AK,: A=5 (mod 10) and u < 3v + 1

In this section we will focus solely on the case where A = 5 (mod 10) and u <
3v+ 1. This case needs to be dealt with separately from the other values of A. Recall
that if A = 5 (mod 10) then w is even, v is odd, and € = 0. Partition the vertices
of U into two sets Uy and U, of equal size such that U = Uy U U, = Z,p X Zy and
(z,1) € U; for x € Zy o and i € {0,1}. Let G = AK, 1, — AK,. Then for each i € Zs,
GlU;) = AKyy2 = Guyo(D(u/2)3). For each i € Zy the edge joining (jo,4) to (ji,1) is
said to have difference d,2(jo, j1) and the difference is said to be Type 4. So for each
i € Zsy the edges joining vertices in U; are partitioned by the set D} = D(u/2)} of
Type i differences. Each edge joining a vertex (jo,0) in Uy to a vertex (ji, 1) is Uy is
said to have Type 2 difference j; — jo (mod u/2) (so the edges of Type 2 difference
j form a 1-factor in G[U]); so the edges joining a vertex in U to a vertex in U
are partitioned by the set Dy = AZ,/, of Type 2 differences. For each i € Zj let
S;i={u/4} ifu=0 (mod 4) and S; = @ if u =2 (mod 4). Let S = 2{u/4} if u =0
(mod 4) and Sy = @ if u =2 (mod 4). For each i € Z3 let D; = D;\ S;.

Since we are currently focused on the case when u < 3v + 1, by definition of ¢
there are no Type C 5-cycles. Additionally, we can split the classification of Type A
and Type B 5-cycles further based on how many edges these 5-cycles have in E(Uy),
E(Uy), or between vertices in Uy and Uy:

1 pure edge, and it either joins vertices in Uy or it joins vertices in Uy,
1 pure edge, that joins a vertex in Uy to a vertex in Uy,
3 pure edges, each joining a vertex in Uy to a vertex in Uy,

3 pure edges, one edge between vertices in Uy, one edge between vertices in Uy,
and one edge joining a vertex in Uy to a vertex in Uj, and

3 pure edges, one edge of difference in .S; for some ¢ € Z, joining two vertices
in U; and two edges of difference in Ss joining a vertex in Uy to a vertex in Uj.

Define these 5-cycles as Type Ay, Ay, By, By, and Bs respectively; so {A;, A2} is a
partition of A and {Bj, By, B3} is a partition of B. A visual representation of these
5-cycles are given in Figure 5.2, For the remainder of the paper, let aq, as, by, bo,
and bs represent the number of 5-cycles of Type Ay, As, By, By, and Bs respectively.
Recall that since A = 5 (mod 10), € is chosen to be 0. Notice that a; + a2 = a and
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by + by + b3 = b. The following system of equations defines the relationship between
these values and the number of edges in AK,:

a1+ ax = a,
by + by + b3 = b, (5.3)
ag + 3by + by + 2b3 = A\(u/2)?, and
aj + 2by + by = Au(u — 2)/4.

It is easy to check that one solution of this system is:

v Au(3v —u+1)/10 if 7Tu —6(2 +v) > 0 and

P Mu(u—2)/4— by if Tu—6(2+v) <0,

0 if Tu — 6(2 +v) > 0 and
w(=Tu+ 6(2 + ) /20 + by if Tu — 6(2 + v) < 0,

(

(2v+u+4)/40 — b3/2 if Tu —6(2 4 v) > 0 and
(2u—v—2)/10-0b3  if Tu—6(2+v) <0,
(

w(Tu — 6(24v))/40 — b3 /2 if Tu — 6(2+v) > 0 and
0 if Tu — 6(2 +v) <0,

b — u/2 ifu=0 (mod4) and
7o otherwise.

For the rest of the chapter, let ay, as, b1, by, and b3 be defined as in ((5.4). The following
lemma will be useful for showing that a;, as, by, and by satisfy the conditions that
will become vital in Lemma [5.3.2]

Lemma 5.3.1. Suppose that A =5 (mod 10), that v/2+1 < u < 3v+ 1, and that
A, v, and u satisfy Condition (d) of Lemma m Then

(A) ay, as, by, and by are non-negative,
(B) a1, ay, by, and by are each divisible by u/2, and
(C) a1/(u/2) and ay/(u/2) are even.
Proof. Let A = 10k3+5 so then by Lemmal5.2.1(d) we can let u = 2k; and v = 2ky+1.

First suppose that 7u — 6(2 + v) > 0. Then a; > 0 since u < 3v + 1 in this
lemma, and ay = 0. By definition,

Mo +u+4) by

blz

40 2
- Au(u+u+4)  w
- 40 4
~u(AM2v +u+4) —10)
B 40
> 0.
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Uo

A

Uo

Ba Bs

Figure 5.2: Possible 5-cycle Types when A =5 (mod 10) and v < 3v + 1

Since u > (6v + 12)/7 and (6v + 13)/7 is never an even integer, u > (6v + 14)/7 and
SO
uw(A(Tu — 6(2 +v)) — 10)
40
S (6v + 14)(A((6v 4+ 14) — 6(2 4 v)) — 10)
- 280

_Buen0-5)
70 -

So Condition (A) is satisfied. By definition
ay = 2y (3ks — ky + 2)(2ks + 1),
by = k1(2ky + k1 + 3)(2k3 + 1) /2 — b3 /2, and
by = ky (Thy — Gka — 9)(2ky + 1)/2 — by/2.
Clearly, a; and as = 0 are divisible by u/2 = k; and both a1 /(u/2) = 2a1/u = a1 /ky

and 2as/u are even, so (C) is satisfied. If b3 = 0 then k; is odd and so 2by /u = by /k;
and 2bs/u = by /k; are integers. If by = u/2 then u =0 (mod 4) and k; is even, so

AM2v+u+4) by

by >

2b =
1/u 20 U
@kt ki 32kl 1
N 2 2
ki1(2ks + 1
:1+k2+3k3+2k2k3+¥
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and

MTu—6(24v))  bs
9 — _ 3
bo/u 20 u

(Thy — 6ky — 9)(2ks + 1) 1

2 2
ky(14ks + 7
= % — Oks — 3ko(2ks + 1) — 5.

So it follows that 2b; /u and 2by/u are integers and thus Condition (B) is satisfied.

Finally, suppose that 7Tu — 6(2 4+ v) < 0. It is clear by (5.4) that a1, as, and by
are non-negative. Since v is odd, u # v/2+ 1 and thus u > v/2+3/2. So if by = u/2
then

Mo+3)2(0/2+3/2)—v=2) v+3 _ (A=5w+3)

>
b2 20 4 20 =

and so by is non-negative. If b3 = 0 then it is clear that b; is non-negative. Since
u/2 = k; and since

ay = 5k1(l€1 — 1)(2]€3 + 1) — bg,
[ k1(6k2 - 7]{31 + 9)(2]63 + 1) + bg, and
b1 - k1(4l€1 - 2]{?2 - 3)(2]€3 + 1) - bg,

it follows that Condition (B) is satisfied. If by = u/2 then k; is even and so 2a;/u =
a/ky =5(k1 —1)(2k3+1) — 1 is even. If b3 = 0 then k; is odd and so 2a; /u = 5(k; —
1)(2k3+1) is even. If b3 = u/2 then ky is even and so 2as/u = (6ke+9—"Tk;)(2k3+1)+1
is even. If by = 0 then k; is odd and so 2as/u = (6ks +9 — 7ky)(2ks + 1) is even; thus
Condition (C) is satisfied. O

The next lemma will cover one of the cases of Theorem [5.4.1] using a slightly
different technique to construct the 5-cycles from the methods used so far.

Lemma 5.3.2. Suppose that A\ = 5 (mod 10), that v/2 +1 < u < 3v+ 1, and
that \, v, and u satisfy Condition (d) of Lemma m Then there exists a 5-CS of
Ay — AK,.

Proof. By Lemma [5.2.1(d), u is even and v is odd. Let U = Z,/; X Zj be the vertex
set of A\K,. Let V = {oo; | i € Z,} be the vertex set of A\K,. For i € Zj let
D; = D(u/2)} \ S; where S; = {u/4} if u=0 (mod 4) and S; = @ if u =2 (mod 4).
Let Dy = Zyjs \ S2 where Sy = 2{u/4} if w = 0 (mod 4) and S, = @ if u = 2
(mod 4). Note that Dy U Sy, Dy U Sy, and Dy U Sy represent all of the Type 0, 1 and
2 differences respectively in AK,, and will be used to keep track of the edges in AK,
as we decompose the edges of AK,,, — AK, into 5-cycles.

The aim of this construction will be to form aq, as, b1, bs, and bz 5-cycles of Type
A1, Ay, By, By, and Bj respectively which will be shown to decompose A\K,,, — AK,
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into 5-cycles. By Lemma [5.3.1}, a;, as, by, by, and b3 are non-negative integers. For
each 1 € Zaqy, jut-24,/u define

(1,4 1) if i is even and i < r,
si =4 (i+1,49) if i is odd and 7 < r, and
(20,20 +1) ifi>r,

where calculations are done modulo v and
r=min({v(A —1)/2,2a; /u + 2a3/u}).

The ordered pairs s; will be used in the formation of the Type A 5-cycles to denote
the subscripts of the vertices in V.

Before forming the 5-cycles, the sets of differences Dy, Dy, and D, need to
be partitioned appropriately. By Lemma [5.3.1] 2b1/u, 2by/u and 2as/u are inte-
gers, and by the system of equations in (5.3)), 3(2by/u) + (2b2/u) + (2a2/u) = |Ds.
Form a partition 7" U T* U T" of Dy where T" contains 2b;/u sets of size 3 such
that at least one difference in each set in 7" is unique (for example, if u > 6 then
the i set of T could be {3i,3i + 1,3i + 2} reducing the sum modulo u/2, and if
u = 4 then each element in 7" is {0,1,1} or {0,0,1}), T* = {go,91,-- -+ G2boju—1}
contains 2by/u differences, and 7" = {qo,q1,- -, @2a,/u—1} contains the remaining
2a/u differences. By the system of equations in (5.3), |D;| = 2by/u + a1/u for
1 € Zs and by Lemma m, 2a;/u is an even integer. Form a partition F; U F;
of the set Dy so that Fy = {fo, f1,..., fapoju—1} contains 2by/u differences and F, =
{ @202 /us ©asjus1s - - - q2a2/u+al/u_1} contains a; /u differences. Form a partition HyU Ho
of the set Dy such that Hy = {ho,h1,..., hop,ju—1} contains 2by/u differences and
Hy = {q2a2/u+a1/ua Q203 /utay futls - - - a(JZag/quQal/ufl} contains al/u differences. The dif-
ferences in F, U Hy will be used to build the Type A; 5-cycles. Let 7" = {{f;, gi, hi } |
fi € Fi,9; € T*, h; € Hy,i € Zgy, ), }. Later, the differences in 7" will be used to build
the Type By 5-cycles, the differences in 7" will be used to build the Type By 5-cycles,
and the differences in 7" will be used to build the Type A, 5-cycles.

Let t =0if ¢; € F5 and let ¢t = 1 if ¢; € Hy. Define a mapping

0,0, (g5 1)) if 205 /u < § < 2as/u + 2ay Ju — 1.

The function f will be used to indicate the pure edge in the Type A 5-cycle that is
to be joined with the corresponding vertices in V.

For each x € Z, let n(x) be the number of ordered pairs in {s; | i € Zsa, ju+2as/u}
that contain . Partition 7" into v sets Ty, T4, ..., T,—1 such that |T,| = A — n(x) for
r<v—1and |T,-1] = A —n(v—1) — 2b3/u. We will now show: A —n(z) > 0 for
x € ZLy—1, A\—n(v—1) —2b3/u >0, and Z;;é 75| = |T.

First we aim to show Z;;(l) |T;| = |T'|. The other 2 inequalities are established
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in the next paragraph. Notice that >~ vn(j) = 2(2a1 /u + 2ay/u). Then

v—1
Do ITl = =2b3/u+ Y (A= n(j))
j=0
= \v — 2b3/u — 2(2a1 /u + 2az/u)
{szbg/u2EW+2(°>) if 7Tu—6(2+v) > 0 and

A — 2by fu— 2 (MD)W g ATwr6@40) %) if 7Tu — 6(2 + v) < 0,
=A2u—v—2)/5—2b3/u

10
= (2/u)(Au(2u —v —2)/10 — b3)

{ EAu((7u6v12)+(2v+u+4))

7 - b3> (use this expression if 7u — 6(2 + v) > 0)
= 2b1/u + 2ba/u = |T|.

g 2l

w — b3y + 0) (use this expression if if Tu — 6(2 + v) < 0),

If r = 2a;/u+ 2az/u and r < v(A — 1)/2, then clearly at most A — 1 ordered
pairs in {s; | ¢ € Zq, ju+2as/u} contain x for all z € Z,. Suppose that r = v(A —1)/2
so that r < 2a; /u + 2as/u. If we can show that v/2 > 2a;/u + 2ay/u — r then for all
x € Zy, A — 1 ordered pairs in {s; | i € Z,} contain z and at most 1 ordered pair in
{si | i € Zoa, jut+2as/u\Zy} contain x (to be precise, n(x) = A if x < 2(2a;1 /u+2as/u—r)
and n(z) = A — 1 otherwise); so it follows that for all x € Z,_1, A — n(z) > 0 and
that A —n(v —1) —2b3/u > 0. So if r = v(A —1)/2 then

vy 2m 20 v 2a 24
2 u u o 2w u
) o MJF@) if 7u —6(2+4v) > 0 and
e w_%+%(§>—m+%) if 7u — 6(2 + v) <0,
M%vum if Tu —6(2+v) >0 and
B B2 Ao 2T) i 7y, — (2 + v) < 0,
A2u—v—2)
== >0,

The last inequality follows from u > v/2 + 1 and v is odd. Therefore A — n(z) > 0
if v € Zy—y and A\ —n(v —1) — 2bs/u > 0.

We will now define the sets of 5-cycles that will form our desired 5-CS. Let
pr=p3s=1landp, =0ifT; CT and p; =0 and p, = p3 = 1 if T; C T"”. Then define

Co = {(004,(0,9), (g3, + 1), 0045, (g + 1,0+ 1)) + (5, 5) | © € Zoay/u,
f(s:) ={(0,4), (qi,i + 1)}, 5 € Zuya, 5 = (t1,t2)},
Cr = {(004,, (0, 1), (gi, t), 004, (0,8 + 1)) + (4, 5) | © € Zy \ Loy,
f(s:) ={(0,1), (g5, 1)}, € Zuysa, i = (t1,t2)},

{(

C2 X024, (0 t) (QZat) 021415 (O t+ 1)) + (]a]) | (&S Z2a1/u+2a2/ufr7
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f(sl) = {(Oat)a (QZ>t)}7] € Zu/2}7
C(3 = {(OOZ, (070)7 (dhpl)) (dl - d2ap2>7 (dl - d2 + d3ap3>> + (]7]) | (NS ZTH
{di,ds,ds} € T}, j € Zyo, it T; CT' then dy is unique}, and

@ if by = 0, and
04: {((0,0),(0/4,0),(0,1),001)_1,(’0/4,1))+(j,j) |.7 EZu/2} if b3 :U/Qy
U{((0,1), (v/4,1),(0,0), 0001, (v/4,0)) + (j.J) | J € Zus2}

where calculations are done modulo v (including indicies). So Cj is a set of Type Ay
5-cycles, C; U Cy is a set of Type A; 5-cycles, (5 is a set of Type By and By 5-cycles
(depending on whether T; C T" or T; C T" respectively), and Cj is a set of Type Bs
5-cycles. Since every difference in Dy U Sy, Dy U S, and Dy U Sy represents every
edge in AK,, it follows that Cy U C; U Cy U C3 U Cy decomposes the edges in AK,
into 5-cycles. It remains to show that each vertex in U is joined to each vertex in V'
A times.

By Lemma 2a5/u is even, so by definition of s;, each oco; in V' is adjacent
to every vertex in U the same number of times, though oco; may not be joined to
every vertex in U the same number of times as 0o;. To be precise, oo, is adjacent
to every vertex in U n(i) times. Since |T;| = A — n(7) for i < v — 1 and |T,_4| =
A—n(v—1)—2b3/u, it follows that in C3, co; is adjacent to each vertex in U A —n(7)
times for i < v — 1 and oo, is adjacent to each vertex in U A — n(i) — 2bs/u times.
Thus (VUU,CoUC;UC,UC3UCY) is a 5-CS of AK, 1, — AK, when A =5 (mod 10)
and v < 3v + 1. O]

5.4 5-CSs of \K,., — AK,: Main Result

The following theorem uses the same proof method used in Chapters to prove
the sufficient conditions for a 5—CS of AK, 1, — AK, except possibly in the case where
A =5 (mod 10) and A < v < (u —1)/3 or in the case where A = 2,4,6, or 8
(mod 10), u =0 (mod 5), and v/24+1 < u < v/2+5. When X is odd, u is even, and
A < v < (u—1)/3, the proof falls apart since each set of differences used to construct
the 5-cycles of Type B or C will join each vertex in U to a vertex in V' twice unless
the difference u/2 is used. As long as the number of copies of difference u/2 is more
than the number of vertices in V' (i.e. A > v) the method described in Theorem [5.4.1]
is viable. If A =2,4,6, or 8 (mod 10), v =0 (mod 5), and v/2+ 1 < u < v/2 4 5,
then b is possibly negative since € can be at most 4.

Theorem 5.4.1. There ezists a 5-CS of AK,, — A\K, if and only if u > v/2 + 1
and

(a) If \=1,3,7, or 9 (mod 10) then

v+u,v =1 orb (mod 10);
v+u,v="7or9 (mod 10); and
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v+u=v=3 (mod 10),

(b) If A =0 (mod 10) then any v > 1 and v+ u > 5,
(c) If N\ =2,4,6, or 8 (mod 10) then

v+u,v=0,1 (mod 5);
v+ u,v=2,4 (mod 5); and
v+u=v=3 (mod 5),

(d) If \ =5 (mod 10) then v and v + u are both odd,

except possibly in the case where A = 5 (mod 10), v = v+ u = 1 (mod 2), and
A<v < (u—1)/3 orin the case where A\ = 2,4,6, or 8 (mod 10), v = 0 (mod 5),
and v/2+1<u<wv/2+5.

Proof. Let V' = {00, 001,...,00,_1}, u = 10k + ¢ > 2 for { € Zyo, and Z, is the
vertex set of U. The necessary conditions were proved in Lemma so it remains
to show sufficiency. As said before, Condition (a) is satisfied by Theorem [.1.1] So
we can assume A > 2. Notice that if v = 0 then AK,,, — AK, = AK, in which case
a 5-CS exists by Theorem and if v = 1 then AK,,, — AK, = MK, in which
case a 5-CS exists again by Theorem [I.2.2} so v > 2

First suppose u > 3v + 1. By Lemma[5.2.2] b and ¢ are non-negative integers, u
divides ¢, and vu divides b. We will need 3b pure edges to construct the 5-cycles of
Type B and so the number of pure edges that will be used to construct the Type C
5-cycles is

Au(u—1)/2 —=3b=(Mu—3v—1)/2)u = (5¢/u+ €)u = au

where « represents the number of differences used to construct the 5-cycles of Type
C. It is clear that when € = 0, « = 0 (mod 5). Recall that the value of € indicates
the number of differences that will be used to construct I'; for i € {1,2,3} (possibly
more than one of the 5-CSs of I'; will be constructed) so that the a — € remaining
differences needed to construct Type C 5-cycles is divisible by 5. Our plan is to create
Type C 5-cycles using « specially chosen differences. Skolem sequences will be used as
in the proof to Lemma[£.2.3|to construct the Type C 5-cycles. First, we will construct
the set B of Type C 5-cycles by addressing the values of £ in turn. Afterwards, we
will construct the set C' of Type B 5-cycles.

Suppose ¢ > 4 and ¢ # 5. Then let P = {(z;,y;) | 1 < i < k,y; > x;} be the
collection of pairs from a Skolem sequence or hooked Skolem sequence of order k for
theset {1,2,...,2k}or {1,2,...,2k+1}if k=0o0r 1 (mod 4) or k =2 or 3 (mod 4)
respectively (see Theorems [1.1.1]and [1.1.2)). If ¢ = 8 then let t; = 1 and let t; = 0
otherwise. If £ =9 then let t5 = 1 and let t = 0 otherwise. Then let

Table [5.1]lists the differences of edges that occur in 5-cycles in B’ when « is as large as
possible () is as small as possible). Notice that A\|B’| = Ak > a/5 = A(10k + ¢ — 3v —
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1)/10if ¢ < 7orwv > 3. Ifv =2and ¢ € {8,9}, then A\/10 and A/5 more 5-cycles using
differences need to be constructed when ¢ = 8 and 9 respectively. To account for this,
form the set of 5-cycles B = {¢;+j | j € Zu,i € Ly, C; (moa k) € B'YUty{c+j | j € Zy}
where ¢} = min({\k, «/5}), t, = max({0, /5 — Ak}) and

(0,2k 4+ 1,4k + 2,6k + 4,4k +3) if¢=8and k=0,1 (mod 4),
c= 4 (0,2k,6k + 3,4k + 3,6k + 5) if {=8and k=2,3 (mod 4), and
(0,2k + 2,4k + 4,6k + 6,3k +3) if £=09.

Since v > 2 and

g_/\k_/\(u—?w—l)_/\k_/\<k+1€0)_)\k_/\(3v+1)_)\(€—31)—1)’

) 10 10 10

it follows that the number of times ¢ is copied is no more than A\/10 or A/5 times if
¢ = 8 or 9 respectively. So we have enough copies of the differences to construct c.
Suppose ¢ = 0. Let P’ = {(2,9}) | 0 <i < k — 3,y > z}} be the collection of
pairs from a Skolem sequence or hooked Skolem sequence of order k£ — 2 for the set
{1,2,...,2k—4}or {1,2,...,2k -3} if k—2=0o0r 1 (mod4) or k—2=2or 3
(mod 4) respectively. If k —2 =0 or 1 (mod 4) then name the Skolem pairs so that
(@)_3,Ys_3) contains 2k — 3. Define P = {(z; = 2, +3,y; = v, + 3) | (z},vy}) € P'};
notice that 2k € {xy_3,yx_3} when k —2 = 0 or 1 (mod 4). To simplify how the
5-cycles are defined, let z = |A/2]. Then with ¢; = (0, z;, z; — y;, 3k, bk + 2 +7) and

0,1,3,2k + 4,2k + 1) ifi=landk—2=0,1 ( )
0,1,3,3k + 3, 3k) ifi=1land k—2=2,3 ( )
0,3k,6k,k+1,5k+1) ifi=2and k—2=0,1 (mod 4),
0,2k,6k — 1,k,5k—1)  ifi=2andk—2=23 ( )
0,1,2,5,3) if3<i<z+1,
0,2,2k+3,7k+2,5k+1) ifz+2<i<2zand k—2=0,1 (mod 4),
0,2,2k+2,7k+1,5k+1) if24+2<i<2zand k—2=2,3 (mod 4),
0,3k, 6k, 2k + 1,6k + 1) if224+1<i<32z—1, and

i3z <i<A(k—2)+32—1,

((
(
(
(
(
(
(
(

\ i—3z (mod k — 2)

form the set of 5-cycles B’ = {c/ | =¢ |1 <i < ANk —2)+32z—1,(x;,y;) € P}.
Notice that when A = 2, ¢; will never be any of the following 5-cycles: (0, 1,2,5,3),
(0,2, 26+3, Th+ 2,5k + 1), (0,2, 2k+2,Tk+1,5k+1), or (0, 3k, 6k, 2%+ 1,6k +1). So
when &k > 2 we form the set of 5-cycles B = {c/ +j | i € Z|as5],] € Zu,c] € B'}UE,
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where computations are done modulo v and where

(

1%} ifa=0 (mod5),
Iy fa=1 (mOd 5),

E,={Ihuly ifa=2 (modbh),
Iy ifa=3 (mod 5), and
(T2UTl3 ifa=4 (mod5)

Since
a—c _MOk=3v-1)=2 o ABukl)+2 0 [TA]
5 10 10

since |B'| = 2k—2if A = 2, and since |B'| = A(k—2)+32 > A\(k—2)+3(\/2—-1/2) =
Me — A/2 —3/2 if A > 2, it follows that |(a —€)/5] < |B’|, so we have enough 5-
cycles to construct the Type C 5-cycles. Notice that if v = 2 and A < 8, then o # 2
(mod 5). Fortunately, when « is as large as possible then either o« # 2 (mod 5) or
[a/5] < |B’], so in either case 2k is an available difference and thus the appropriate
differences are available to be used in £,. Table lists the differences of edges that
occur in cycles in B’ when « is as large as possible. Note that j € Z;_5 in the table
and that the first 4 rows of this table represent ¢; when ¢ > 3z. If u = 10 (k = 1), then
since |a/5] = [3A/10] < A/2 when v = 2 and [a/5] = 0 when v = 3 (v < 3 since
u > 3v + 1 in this case), it follows that B = |«/5]{(0,1,2,5,3)+ 7 | j € Z,} UE, is
a set of b-cycles with the required number of 5-cycles. If u = 20, let

S ={(0,1,4,5,2), (3,4,6,8,5), (2,3,6,7,4), (0,u/5,2u/5, 3u/5, 4u/5),
(0,2u/5,4u/5,u/5,3u/5)},

(5.5)

f=min({\ - 1, |a/5]}), and g = max({0, |a/5] — (A — 1)}). So then form the set

‘ Edges | Differences when k —2=10,1 (mod 4) | Differences when k —2=2,3 (mod 4) |
{0,2;}, {z;,z; — y;} 4,5,...,2k (X copies) 4,5,...,2k — 1,2k 4+ 1 (X copies)
{z; —y;,3k} 3k+1,3k+2,...,4k — 2 (X copies) 3k+1,3k+2,...,4k — 2 (X copies)
{3k, 5k + 7 + 2} 2k +2,2k+3,...,3k — 1 (X copies) 2k + 2,2k +3,...,3k — 1 (X copies)
{5k +j+2,0} 5k — 2,5k —3,...,4k + 1 (X copies) 5k — 2,5k —3,...,4k + 1 (X copies)
aifi=1 1,2,3,2k + 1,2k + 1 1,2.3, 3%, 3k
cifi=2 3k, 3k, 4k, 5k — 1,5k — 1 4k — 1,4k — 1,5k — 1,5k — 1
Gif3<i<z+1 1,1,2,3,3 (z — 1 copies) 1,1,2,3,3 (z — 1 copies)
g ifz42<i<2z 2,2k + 1,2k + 1,5k — 1,5k — 1 (z — 1 copies) | 2,2k,2k,5k — 1,5k — 1 (z — 1 copies)
¢ if224+41<i<3z-1 3k, 3k, 4k — 1,4k — 1,4k (z — 1 copies) 3k, 3k, 4k — 1,4k — 1,4k (z — 1 copies)

Table 5.2: Edges of differences in B’ when « is as large as possible for £ =0

of b-cycles B = f{s+j|j € Zy,s € S} Ug{(0,5,11,6,13) + 5 | j € Z,} U E,.
Notice that S represents the set of 5-cycles formed from the differences 1, 2, 3, u/5,
and 2u/5 and f represents the number of copies of the 5-cycles constructed from the
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differences 1, 2, 3, u/5, and 2u/5. Also notice that B uses at least one less than the
number of copies of the differences 1, 2, 3, u/5, and 2u/5 in D(u)}. Since v > 2 and

AMu—3v—1)

0/~ (== | AR =D oy <y - 2D

10

it follows that there are enough copies of the differences to construct the cycle
(0,5,11,6,13) g times. So there are enough copies of each difference to construct
the 5-cycles in B.

Suppose ¢ € {1,3}. Let P = {(z;,v:) | 1 <i <k —1,y; > x;} be the collection
of pairs from a Skolem sequence or hooked Skolem sequence of order k£ — 1 for the set
{1,2,...,2k -2} or {1,2,...,2k—1}if k—1=0o0r 1 (mod4) or k—1=2or 3
(mod 4) respectively. Then let

B/:{Ci,1 :(0,$Z,$l—yz,3k,5k’—|—l) ‘ 1 SZSk-l,(fEl,yl) EP}

Table lists the differences of edges that occur in cycles in B’ when « is as large as
possible (X is as small as possible). Since a/5 < Ak and |B'| = A(k — 1) we need to
form A\ more 5-cycles constructed from differences. (Note that by Conditions (b-d), A
must be even since u is odd.) To account for these 5-cycles, form the set of 5-cycles

B = {Cz‘f‘] | 1€ ZII,]' € Zu,Ci (mod k — 1) € B,}U$2{06+j | ] € ZU}UZL‘g{C/l"‘] | ] € Zu}

where x; = min({a/5,A(k — 1)}), 2 = max({0, [(a/5 — Ak — 1))/2]}), z3 =
max ({0, [(a/5 — A(k —1))/2]}), and where

0,2k + 1,4k, 2k, 6k), if¢=1,k=0,1 (mod4), and i € Zs,
;) (0,2k — 2,4k — 2,2k, 4k) if¢=1 k=23 (mod4), and i =0,
") (0,2k+ 1,4k + 2,8k +2,4k+1) if¢=1,k=23 (mod4),andi=1, and
(0,2k, 4k + 1,1, 4k + 2) if ¢ =3 and i € Zy.

Since v > 2 and

a Mk—-1) Mu—3v—-1) MNk-—-1)

5 2 10 2
g M=3v—=1) M A
10 2 2
M A =3v—-6)
2 10
Ak
2

there are enough copies of the differences to construct c.
Suppose ¢ = 2. Let P' = {(z},4}) | 0 < i < k —2,y, > 2} be the collection
of pairs from a Skolem sequence of order k — 1 for the set {1,2,...,2k — 2} or
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‘ Edges ‘ Differences when k — 1 =0,1 (mod 4) ‘ Differences when k — 1 =2,3 (mod 4) ‘
{0, 2}, {zi, i — yi} 1,2,...,2k -2 1,2,...,2k—3,2k—1
{z; — y;, 3k} 3k+1,3k+2,...,4k -1 3k+1,3k+2,...,4k -1
{3k,5k + i} 2k +2,2k+3,...,3k 2k 42,2k +3,...,3k
{5k + 1,0} 5k — 14 [£/2],5k — 2+ [¢/2],..., 5k — 14 [£/2],5k — 2+ [¢/2],...,
’ 4k + 14 [4/2] 4k + 14 [4/2]

Table 5.3: Edges of differences in B’ when « is as large as possible for ¢ € {1,3}

{1,2,...,2k—1}if k—1=0o0r 1 (mod 4) or k —1=2or 3 (mod 4) respectively.
Define P ={(z; =z, + 1,y; =y, + 1) | (z},y}) € P'}. Then with

(0,25, 2; — vy, 3k + 1,5k +i+1) if0<i<k—2,
o J O3+ 1Tk +2,4k +1) ifi=k—1landk—1=0,1 (mod 4),
") (0,1,2k + 1,5k +1,2k) ifi=kandk—1=0,1 (mod 4), and
(0,1,2k, 6k + 1,3k +1) ifi=k—1landk—1=2,3 (mod 4),

let

B' ={c, =¢i(moak—1) | 1 € Lrg—1y, (@i, y;) € P}
U{di=cpq | ME—=1)<i<Xk—-1)+[N/2] -1}
U{cd =cp | Mk —1)+|N2] <i<Ak—1)+2[N/2] -1}

if k—1=0or1 (mod4) or let
B ={¢; = Ci mod k—1) | # € Zxg—1), (v5,%:) € PYU{c; = cr—1 | Ak — 1) <@ < Ak}

if k—1 = 2or 3 (mod4). Since |B'| > Ak —1)+2[A\/2] —1 > M — 2 and
a/5 < Ak — \/2 we have enough 5-cycles to form the appropriate number of 5-cycles
of Type C. Table lists the differences of edges that occur in 5-cycles in B” when
a is as large as possible (A is as small as possible). Then form the set of 5-cycles
B={c,+j|i€Zasy,j € Ly, c; € B'}. If k=0 then it is impossible to construct a
5-cycle.

| Differences when k — 1 =0,1 (mod 4) | Differences when k& — 1 = 2,3 (mod 4) |
2.3,....2k 1 2.3,....2k— 2 2k

‘ Edges
10, i}, {wi, i — i}

3k+2,3k+3,...,4k

3k +2,3k+3,...,4k

{3k + 1,5k +i+ 1}

2k+1,2k+2,...,3k—1

2% +1,2k+2,....83k—1

{5k +i+1,0} 5k, ok —1,...,4k+2 5k, ok —1,...,4k+2
cifi=k 1,3k, 3k + 1,4k + 1,4k + 1 1,2k — 1,3k,3k + 1,4k + 1
G ifi=k+1 1,2k, 2k, 3k, 3k + 1 -

Table 5.4: Edges of differences in B’ when « is as large as possible for ¢ = 2

Suppose { =

5. Let P/ = {(2},y}) | 1 <i < k—2y, >} be the collection of
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pairs from a Skolem sequence or hooked Skolem sequence of order k£ — 2 for the set
{1,2,...,2k—4} or {1,2,...,2k -3} if k—2=0o0r 1 (mod4) or k—2=2or3
(mod 4) respectively. Define P = {(x; = 2} 4+ 3,y; =y, + 3) | («},y.) € P'}. Let

if1 <i:<k-—2, and

ifi=k—1,

" ](0,3k +1,6k + 3,k + 2,5k +3)

and B ={c_,=¢|1<i<k-—1,(x;,y;) € P}. Table lists the differences
of edges that occur in cycles in B’ when « is as large as possible (A is as small as

possible). Let S be defined as in Equation (5.5)) and let wy = min({\(k — 1), |a/5]})
and we = max({0, |a/5] — A(k —1)}). So when k& > 1 we form the set of 5-cycles

B={c+j1i€%u,j € LuC(moary € BYUwa{s+j|s€S jeZ,}UE,

where computations are done modulo u. Table lists differences of edges in the
5-cycles in B’ when « is as large as possible. Since |a/5] < Ak and since

L%J Ak —1) = V(“_l—?_l)J Ak —1)

4 — 3v

— e+

it follows that E, can be constructed and there are enough copies of the differences
1, 2,3, u/5, and 2u/5 in S. If & = 0 then let ¢; = (0,1,2,3,4) for 0 <i < [A/2] — 1
and let ¢; = (0,2,4,1,3) for ¢ > [A/2] — 1, and so we can form the set of 5-cycles
B:{Ci—f—jHEZLa/g,J,j € L.

‘ Edges

{Oaiz‘}7{$u$i - yi}

| Differences when k —2 = 0,1 (mod 4) [ Differences when k& —2 = 2,3 (mod 4) |
45 . . 2k—1 45, ....2k—2 2%k
Ak 13,4k +4,...,5k A%+ 3,4k +4,...,5k

{4k + 2,7k + 3 — i}

3k, 3k—1,...,2k+3

3k,3k—1,...,2k+3

{7k +3—1,0}

3k+3,3k+4,..., 4k

3k +3,3k+4,.. 4k

ifi=hk—1

3k+ 1,3k + 2,4k + 1,5k + 1,5k + 2

3k+ 1,3k + 2,4k + 1,5k + 1,5k + 2

Table 5.5: Edges of differences in B’ when « is as large as possible for £ =5

We will now construct the Type B 5-cycles. By Lemma[5.2.2, A(u —1)/2 — a or
AMu—1)/2—a—3v/2 is divisible by 3 when A is even or odd respectively. We can form
a partition Py of the remaining differences after constructing B into A(u —1)/2 — «
sets of size 3 when A is even or into v sets {d,u/2} of size 2 with d # u/2 and
Au—1)/2—a—3v/2 sets of size 3 when A is odd; make sure that at most one copy of
v/2 is in each set of size 3 and that there is at least one unique element in each set of
size 3. These last conditions are easily met based on the differences used to construct
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each B. Since A > v in this lemma, there are enough copies of the difference u/2 to
construct the desired partition. Let {d;;,ds;,ds;} and {d;,u/2} denote the i*" set in
Py and let p be the number of sets of size 3 in F,. If A\ is even then define

C = {(dl,ia 0, dgﬂ', d2,i + d3,ia OQ; (mod V)) +] | {dlvi’ d27i’ d31i} € PO (56)
with dlﬂ; < d2,i < d3,i7j € ZU}

and define

C = {(dl,i; 0, dgyi, d2,z‘ + d3,i; o (mod v)) + j | {d17i7 dQvi’ d3’i} € PO
with dy; < dy; < dy;,j € Zy}
U {(d“ O, U/Q, U/2 + dz‘7 Qi+p (mod V)) +] | {U/Q, dZ} € Po,j € ZU/Z}

when A is odd. This ensures the elements of C are indeed 5-cycles. Then (Z, U
{00, ...,00,1}, BUC) is a 5-CS of AK,, — AK, when u > 3v + 1.

Finally suppose u < 3v+1. If X is odd then by Lemmas[5.1.1]and [5.3.2] there is a
5-CS of AKy+y — AK,. So let X\ be even. Remember that if A = 2,4,6, or 8 (mod 10)
and u =0 (mod 5) then u > v/2+ 5. So u # 5 when A = 2,4,6, or 8 (mod 10). By
Lemma [5.2.2) a and b are non-negative integers, u divides a, and either u divides b
when w is odd or u/2 divides b when w is even.

If w =1 or 2, then it is impossible to form any 5-cycles. If v = 3 then v = 2, 3,
or 4. Since only Type A 5-cycles can be formed when u = 3, since there are 3\
pure edges in AK,,3 — AK,, and since there are 6\ or 9\ mixed edges when v = 2
or 3 respectively, it follows that there are not enough mixed edges to form all of the
required 5-cycles, so a 5—CS cannot be formed under these conditions. When u = 3
and v = 4, define

C ={(0,000,2,001,1)+j | j € Zs} and C" = {(0,009,2,003,1)+ 7 | j € Z3}.

So then (Z, U{o0q, 001, 009, 003}, A\CUAC") is a 5—CS of AK7 — AK, when u < 3v+1.

Suppose u € {4,5}. Then form a partition Py of 3b/u of the differences in D(u)}
into b/u sets of size 3 such that each set in Fy is {1,1,2}. Let {d;;,d2;,ds,;} denote
the i'" set of size 3 in Py and let D = {d;,ds,...,d,} be the remaining differences
after forming the partition F,. Define C' as in Equation and

B = {(0, d;, 009i—24|Py| (mod v)> di + 1,009 _14(py| (mod v)) +J | di € D,j € Zy}.

Then (Z, U {o0g, 001, . ..,00,}, BUC) is a 5-CS of AK,4 — AK,.

Suppose u = 6. Then form a partition Py = P, U P, of 3b/u of the differences in
D(u)} into b/u sets of size 3 such that P, does not contain {2,2,2} or {3,3,3} and P,
only contains copies of {1,2,3}. It is easy to ensure that Py does not contain {2,2,2}
or {3,3,3} since every difference in D(u)} is available when P, is constructed. Let
{dy;,ds;,d3;} denote the i set of size 3 and D = {dy,ds, ...,ds} be the remaining

96



differences after forming the partition F,. Define

Cy = {(0,dai, dri + day, dii + day + d3i, 005 (mod v)) + J | {1, doyi, dsi} € Pr,j € Zy,
di; < doy < ds;},

Co = {(d1,,0,ds33, da; + d33, 0044 |py| (mod v)) + J | {d1i,day,ds;} € P, j € Zy, }, and

B = {(0, d;, 002i—24|Py| (mod v)> di + 1,009 _14(py| (mod v)) + J | di € D,j € Zy,}.

Then C' = C; U Cy and so (Z, U {00g,001,...,00,}, BUC; U Cy) is a 5-CS of
MKy — MK,

Let u > 7. Let P, contain the e differences used to construct E,. Form a
partition Py of 3b/u differences from D(u)} \ P, into b/u sets of size 3 so that each set
contains at most one copy of v/2 and at least one unique element. We can guarantee
that such a partition can be constructed since v > 7 and every difference in D(u)}\ P,
is available at this point. Notice that 3b/u is no larger than D(u)} \ P,. Define

C = {(d1,;,0,ds3,da; + ds3,3,00; (mod v)) + J | {d1,i,d2s,d3;} € Py
with dy; < ds; <ds;,j € Z,}U

where calculations are performed modulo u. Thus C' is a set of 5-cycles. Let D =

*

{dy,ds,...,ds} be the remaining differences in D(u)} after partitioning 3b/u + € of
the differences into Fy. Then define

B = {(0, d;, 002i—24|Py| (mod v)> di + 1,009 —14(py| (mod v)) +J | di € D,j € Zy,} U E,.

Then (Z, U {0y, ...,00,_1}, BUC) is a 5-CS of AK,y, — AK, foru <3v+1. O
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Chapter 6
Conclusion/Future Work

As a result of the work in this dissertation, we have come up with some notable
conjectures that will be investigated in the future.

Conjecture 6.1.1. Suppose there exists a 5-CS of AK,. If the necessary conditions
in Lemma are satisfied then a 5-CS of \K, can be enclosed in a 5-CS of
(A4 m) Ky when u > 3.

Conjecture 6.1.2. If the necessary conditions in Lemma [{.1.1] are satisfied then
there exists a 5-CS of (A +m)K,1, — AK, for m > 1 and u > 2

Conjecture 6.1.3. Suppose there exists a 5-CS of AK, — F where F is a 1-factor.
Then a 5-CS of AK, — F can be enclosed in a 5-CS of (A + m) K,y if and only if

A+ m)u+m(v—1)—1=0 (mod 2),

(B A+ m) +m(3) + vu(A+m) +v/2=0 (mod 5),

ifu=1, then (m(v—1)+1) > 3(A+m),

if u=2, thenm(y) +v/2 —2(A+m) — (v —1)(A+m)/2 >0, and

if u> 3, then [vu(A +m)/4] +2¢ < v(im(v —1) +1)/2+ (A + m)u(u —1)/2
where e =0 or 1 if vu(A+m) =0 or 2 (mod 4) respectively.

SARSENCEEES

Conjecture 6.1.4. Suppose there exists a 5-CS of AK,. Then a 5-CS of AK, can
be enclosed in a 5-CS of (A +m)Ky, — F where F is a 1-factor if and only if

A+ m)u+m(v—1)—1=0 (mod 2),

(5)A+m) +m(3) +vu(A+m) — (v+u)/2=0 (mod 5),

ifu=1, then (m(v—1) —1) > 3(A+m),

ifu=2, thenm(y) —v/2 —=2(A+m) — (v—1)(A+m)/2 >0, and

if u> 3, then [vu(A +m)/4] +2¢ < v(m(v—1) —=1)/2+ (A + m)u(u — 1)/2
where e =0 or 1 if vu(A\+m) =0 or 2 (mod 4) respectively.

SAIREICES

Conjecture 6.1.5. There exists a 5-CS of (A +m)K, ., — AK, — F where F is a
1-factor if and only if

A+ mu+mv—1)—1=0 (mod 2),

. A+m)(v+u—1)—1=0 (mod 2),

(5) A+ m) +m(3) + vu(A+m) — (v+u)/2=0 (mod 5),
if u=1, then (m(v—1)—1) > 3(A+m),

ifu=2, thenm(y) —v/2=2A+m)— (v—1)(A+m)/2>0, and

s oo~
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6. if u >3, then [vu(A+m)/4] +2e <v(m(v—1)—1)/2+ A+ m)u(u —1)/2
where e =0 or 1 if vu(A+m) =0 or 2 (mod 4) respectively.

Conjecture 6.1.6. If the necessary conditions in Lemma are satisfied then a
t-CS of AK, can be enclosed in a t-CS of (A + m)K,y, when t > 5 is odd.

Since it was shown in Chapter 4| when a 5-CS of (A + m)K,;1 — AK, exists
by using the construction in Chapter [2] we believe that a proof of Conjecture [6.1.2
when u = 2 can be found by using the construction in Chapter [3] This will soon be
investigated.

The difficulty in extending our work from Chapters [2 and |3| to v > 3 in Con-
jecture can be seen from the extra work in Section to prove Theorem |3.5.2]
A trail with a very special property was constructed so as to form a 5-CS subgraph
that contains all of the mixed edges of a given multiset of differences. Unless an-
other method is developed to obtain such a trail we believe that it will be extremely
difficult to use the methods presented in this dissertation to solve Conjecture [6.1.1
when v = 3 or 4. There may be some hope when u > 5 since Theorem [5.4.1| can
be used to construct some 5-CSs of (A + m)K,, — AK,. If there exists a 5-CS
of A+ m)Kyrw — (A + m)K,y, and there exists a 5-CS of mK,, then there exists
a 5—CS of (A +m)K,., — AK,. By checking the conditions in Theorem and
Theorem [5.4.1] if v =1 (mod 10) or A +m = 0 (mod 10) then there exists a 5-CS
of A4+ m)Kyy — AK,. Also, if A=1,3,7, or 9 (mod 10) and one of the following is
true if:

e \+m =0 (mod 5),
e \+m=24,6,or8 (mod 10) and u =0 or 1 (mod 5), or
e A\ +m=1,3,70r9 (mod 10) and v = 6 (mod 10),

then there exists a 5-CS of (A +m) K, — AK,. Once A # 0,1,3,7, or 9 (mod 10)
then the cases settled using this approach become very sparse.

There may be other hope in finishing the u > 5 case in Conjecture [6.1.1] since
the types of 5-cycles based on the number of pure edges and mixed edges are equal
for every u > 5. A visual representation of these 5-cycles is given in Figure [6.1]

The same comments made for Conjecture [6.1.1| can be said for Conjecture [6.1.2
since the work on the enclosing problem in this dissertation was used to construct a
5-CS of (A 4+ m) Ky, — AK,.

Following the two parts of the Alspach Conjecture stated in Section there
is a second version of the enclosing problem as described in Conjectures [6.1.3] and
[6.1.4] Since having a 5-CS of AK,, — F or a 5-CS of (A + m)K,, — F are different
problems, there are two conjectures that involve a 1-regular graph as opposed to the
one conjecture that involves a 1-regular graph in the Alspach Conjecture. Both of
these conjectures can be extended by removing the condition that a 5-CS of AK, — F'
or a 5-CS of AK, exists respectively. Removing this condition in Conjecture
will give us Conjecture [6.1.5( while removing this condition from Conjecture |6.1.3| will
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give us Conjecture [6.1.2

Another avenue to take this research is to consider enclosing problems for t—CSs
for ¢ > 7 and ¢ odd, as seen in Conjecture [6.1.6] Conjectures can also be
generalized to t—CSs. As long as a t-cycle can be constructed using differences, the
arguments described in this dissertation could be transferred to create constructions
of other t—~CSs. The hitch in this idea is that we have not explored whether a t-cycle
can be constructed using Skolem sequences. There may also be options other than
Skolem sequences to build the t-cycles using differences. This too will be investigated
soon.
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